


RADIAL BALL
BEARINGS

CORPORATE OFFICES
308 SPRINGHILL FARM ROAD
FORT MILL, SOUTH CAROLINA 29715

TELEPHONE (803)548-8500
FAX (803)548-8599

DISTRIBUTOR CUSTOMER SERVICE
TOLL FREE 800-523-6572
FAX (803)548-8594

LINEAR CUSTOMER SERVICE
TOLL FREE 800-462-3399
FAX (215)781-9830

This product section has been excerpted from our full
Product Reference Guide to reduce download time.
Our complete Product Reference Guide is available in
print and on CD-ROM. To receive the full version,
please contact your nearest INA Sales Office listed on
the last page of this file.



FOREWORD

ABMA American Bearing Manufacturers Association
ASTM American Society Of Testing And Materials
DIN Deutsches Institut für Normung e.V.
ISO International Standards Organization

Elges, Andrews and Corrotect are registered trademarks of
INA USA Corporation.
Permaglide is a registered trademark and a product of
KOLBENSCHMIDT AG, Neckarsulm, also produced in
Greensburg, Indiana, USA.
All other products and company names are trademarks or registered
trademarks of their respective companies.

ALL RIGHTS RESERVED

INA USA Corporation
308 Springhill Farm Road
Fort Mill, SC 29715

Reproduction of this publication in whole or in part without the express
written consent of INA USA Corporation is prohibited.

Although every effort has been made to ensure the accuracy of the
information contained in this catalog, INA shall not be liable for any
omissions or errors. Purchasers should consult their own testing to
determine the suitability of any product for a particular purpose. In no
event shall INA be liable for any claims for damages based upon breach
of warranty, breach of contract, negligence, strict liability in tort, or any
other legal theory.

INA USA Corporation reserves the right to make changes / revisions to
specifications contained herein without notice.

� Copyright 1999, 2000 INA USA Corporation

This publication was designed to serve as a quick refer-
ence to the standard product series offered by INA USA
Corporation (INA) for its domestic market. The guide pro-
vides a current overview of INA products, including basic
envelope dimensions and capacities, in one publication –
it is not an engineering design guide intended to replace
INA engineering catalogs. Consequently, the metric and
inch conversions are listed to 3 decimal places for easy
reference and rapid identification of correct replacement
part(s), not 4 decimal places as necessary for quality
control purposes.

This publication can be used to narrow the choices be-
tween the many different INA product lines and series for
new designs. Detailed engineering information for new
designs can be found in our traditional catalogs or by
contacting the INA Engineering Department.

A significant portion of INA sales are special production
sizes. The identification of those parts is sometimes diffi-
cult since a comprehensive listing is beyond the intent of
this publication. Special part numbers take as many dif-
ferent forms as the series listed here, but the basic sys-
tem is to use sequential numbers for each new design.
Usually the prefix is F or FC but can include VH, INA or
the bearing type such as NA. INA maintains a technical
help desk to identify sizes not known or to match compet-
itors’ parts.

The toll free 800 numbers listed will give you access to
INA Customer Service representatives. These represen-
tatives can tap into INA Worldwide resources to provide
the bearings you need.

Storage Life
Lubricants age naturally due to environmental influences.
It is therefore the user’s responsibility to follow the direc-
tions given by the lubricant manufacturer.

The greases used in INA rolling bearings have a mineral
oil base and experience shows that they can be stored for
up to 3 years without deteriorating providing the following
important conditions are met.

�Closed storage room
�Temperature between 0�C and 40�C
�Relative atmospheric humidity 65% or less
�Security from chemical agents

(vapors, gases, fluids)
�Sealed rolling bearings

The frictional torque can be considerably higher after lin-
ger storage periods than in freshly greased bearings and
the lubricity of the grease can also have deteriorated.

INA bearings have many optional features available in-
cluding:

� ISO series of bearings generally include the stan-
dard clearance options CN, C2, C3 and C4.

� ISO bearing series include PN, P6 and P5 precision
classes.

� Corrotect�  plating is available for most bearing de-
signs.  Corrotect is a patented process for zinc–iron
and zinc–iron–cobalt plating in a thin layer which can
be applied to standard components.  The protection
exceeds stainless steel and the cost is half. Add
suffix RR.

� All sealed bearings are supplied pregreased.  In
most cases the standard lubricant is Shell Alvania 2
or equivalent.  Other greases are available, some at
extra cost.

� Unsealed bearings may not be greased when
shipped.

�Speed limits as published, are based on oil lubrica-
tion for open bearings or grease lubrication for
sealed bearings.  The speed limits are calculated
based on a nominal load and heat balance equation.
Higher speeds may be allowed depending on the
application.

� Dynamic capacities are published based on INA
standard usage of ISO and ABMA formulas.  New
life theory threshold values are published in other
INA publications.

� Life calculations and evaluations can be made from
INA engineering based catalogs which are available
from your INA Sales Representative.

� Other features are available based on current pro-
duction volumes including heat stabilization of the
rings, matched bearing sets, with oil holes and
grooves, etc.



Section Contents
RADIAL  BALL BEARINGS

187

BEARING SERIES BEARING DESCRIPTION PAGE

INFORMATION BALL BEARING, GENERAL OVERVIEW 189

INFORMATION MOUNTED UNIT, GENERAL OVERVIEW 190

P / N IDENTIFICATION BALL BEARINGS 191

P / N IDENTIFICATION MOUNTED UNITS 191

INTERCHANGE BASIC MOUNTED UNIT INTERCHANGE LISTING 193

600 METRIC ISO MINIATURE CONRAD BALL 194

6000 METRIC ISO LIGHT SERIES CONRAD BALL 194

6200 METRIC ISO STANDARD SERIES CONRAD BALL 194

6300 METRIC ISO D212 HEAVY SERIES CONRAD BALL 194

3200 J METRIC ISO DOUBLE ROW STANDARD SERIES ANGULAR CONTACT BALL 198

3300 J METRIC ISO DOUBLE ROW HEAVY SERIES ANGULAR CONTACT BALL 198

GRA..NPPB INCH BORE ECONOMY SEAL ECCENTRIC LOCKING COLLAR INSERT BALL 200

GRAE..NPPB METRIC BORE ECONOMY SEAL ECCENTRIC LOCKING COLLAR INSERT BALL 200

GAY..NPPB METRIC AND INCH BORE ECONOMY SEAL SET SCREW LOCKING INSERT BALL 201

G1..KRRB INCH BORE STANDARD SEAL ECCENTRIC LOCKING COLLAR INSERT BALL 202

GE..KRRB METRIC BORE STANDARD SEAL ECCENTRIC LOCKING COLLAR INSERT BALL 202

GY1..KRRB INCH BORE STANDARD SEAL SETSCREW LOCKING INSERT BALL 203

GYE..KRRB METRIC BORE STANDARD SEAL SETSCREW LOCKING INSERT BALL 203

PASE STANDARD HEIGHT ECONOMY SEAL ECCENTRIC LOCK PILLOW BLOCK 204

PASEY STANDARD HEIGHT ECONOMY SEAL SETSCREW LOCK PILLOW BLOCK 206

PAK LOW HEIGHT ECONOMY SEAL ECCENTRIC LOCK PILLOW BLOCK 208

PAKY LOW HEIGHT ECONOMY SEAL SETSCREW LOCK PILLOW BLOCK 210

RASE STANDARD HEIGHT STANDARD SEAL ECCENTRIC LOCK PILLOW BLOCK 212

RASEY STANDARD HEIGHT STANDARD SEAL SETSCREW LOCK PILLOW BLOCK 214

RAK LOW HEIGHT  STANDARD SEAL ECCENTRIC LOCK PILLOW BLOCK 216

RAKY LOW HEIGHT STANDARD SEAL SETSCREW LOCK PILLOW BLOCK 218

PSHE METRIC ECONOMY SEAL ECCENTRIC LOCK TAPPED BASE PILLOW BLOCK 220

PSHEY METRIC ECONOMY SEAL SETSCREW LOCK TAPPED BASE PILLOW BLOCK 221

RSHE METRIC STANDARD SEAL ECCENTRIC LOCK TAPPED BASE PILLOW BLOCK 222

RSHEY METRIC STANDARD SEAL SETSCREW LOCK TAPPED BASE PILLOW BLOCK 223

PCJ ECONOMY SEAL ECCENTRIC LOCK 4 BOLT FLANGE 224

PCJY ECONOMY SEAL SETSCREW LOCK 4 BOLT FLANGE 226

RCJ STANDARD SEAL ECCENTRIC LOCK 4 BOLT FLANGE 228

RCJY STANDARD SEAL SETSCREW LOCK 4 BOLT FLANGE 230

PME METRIC ECONOMY SEAL ECCENTRIC LOCK PILOTED 4 BOLT FLANGE 232

PMEY METRIC ECONOMY SEAL SETSCREW LOCK PILOTED 4 BOLT FLANGE 233

RME METRIC STANDARD SEAL ECCENTRIC LOCK PILOTED 4 BOLT FLANGE 234

RMEY METRIC STANDARD SEAL SETSCREW LOCK PILOTED 4 BOLT FLANGE 235

PCJT ECONOMY SEAL ECCENTRIC LOCK 2 BOLT FLANGE 236



Section Contents
RADIAL  BALL BEARINGS

188

BEARING SERIES PAGEBEARING DESCRIPTION

PCJTY ECONOMY SEAL SETSCREW LOCK 2 BOLT FLANGE 238

RCJT STANDARD SEAL ECCENTRIC LOCK 2 BOLT FLANGE 240

RCJTY STANDARD SEAL SETSCREW LOCK 2 BOLT FLANGE 242

FLCTE METRIC ECONOMY SEAL ECCENTRIC LOCK HEAVY DUTY 2 BOLT FLANGE 244

GLCTE METRIC ECONOMY SEAL ECCENTRIC LOCK HEAVY DUTY 2 BOLT FLANGE 244

PCJTZ METRIC ECONOMY SEAL ECCENTRIC LOCK PILOTED 2 BOLT FLANGE 245

PCJTZY METRIC ECONOMY SEAL SETSCREW LOCK PILOTED 2 BOLT FLANGE 246

RCJTZ METRIC STANDARD SEAL ECCENTRIC LOCK PILOTED 2 BOLT FLANGE 247

RCJTZY METRIC STANDARD SEAL SETSCREW LOCK PILOTED 2 BOLT FLANGE 248

PTUE METRIC SERIES ECONOMY SEALS ECCENTRIC LOCK ISO SLOT WIDTH TAKE UP 249

RTUE METRIC SERIES STANDARD SEALS ECCENTRIC LOCK ISO SLOT WIDTH TAKE UP 250

PSFT METRIC SERIES ECONOMY SEAL ECCENTRIC LOCK PIVOTING TAKE UP 251

KSR..BO INCH AND METRIC  IDLER CHAIN SPROCKETS 252

KSR..KO INCH AND METRIC  IDLER CHAIN SPROCKETS 254

KSR..LO INCH AND METRIC  IDLER CHAIN SPROCKETS 254

RSR.. CABLE ROPE AND V–BELT IDLER PULLEY 256



General Information
RADIAL  BALL BEARINGS

189

PRODUCT DESCRIPTION

INA Radial Ball Bearings
� Available in Conrad style ISO series for miniature,

light and medium duty radial bearings.
� Available in Conrad style steel caged angular con-

tact double row bearings.
� Available sealed, shielded or open.
� Available as standard duty insert ball bearings with

eccentric collar or set screw locking.

INA Inch Mounted Units
� Uses standard duty (6200) inserts with economy P

or standard R seals.
� Inserts available with eccentric locking collar or set

screw locking.
� Housings are cast iron to ABMA  dimensional stan-

dards.
� Available as standard and low height pillow blocks, 2

or 4 bolt flange units.

INA Metric Mounted Units
� Uses standard duty (6200) inserts with economy P

or standard R seals.
� Inserts available with eccentric locking collar or set

screw locking.
� Housings are cast iron to ABMA  dimensional stan-

dards.
� Available as standard, low height or tapped base

pillow blocks, 2 or 4 bolt flange units, round 4 bolt or
two bolt piloted flange, and take up units.

� Idler sprockets and tensioner units also available for
inch or metric equipment.



Bearing Design Speed Comments
Bearing Series Parameter

n � dNominal size 1) Shaft Nominal size 2) Outside dia.
d mm µm D mm µm

INNER RING OUTER RING

General Information
RADIAL  BALL BEARINGS

over inc. min. max. over inc. min. max.

12 — 18 0 +18 30 — 50 0 –11

18 — 24 0 +18 50 — 80 0 –13

24 — 30 0 +18 80 — 120 0 –15

30 — 40 0 +18 120 — 150 0 –18

40 — 50 0 +18 150 — 180 0 –25

50 — 60 0 +18 180 — 250 0 –30

60 — 90 0 +25

90 — 120 0 +30

Standard tolerances for radial insert ball bearings

1) Corresponds to the arithmetical mean of the largest and smallest single diameter
(resulting from two-point measurement).

2) The smallest and largest value of the outside diameter on sealed bearings may
deviate from the mean value by approximately 0.03 mm.

40,000 Shaft tolerance h9, C/P � 5 < 13

80,000 Shaft tolerance h9, C/P � 13

130,000 Shaft tolerance h6, C/P � 13

160,000 Shaft tolerance h5, C/P � 13

INA radial ball bearings
INA P-seals
INA R-seals

Limiting speeds for radial insert ball bearings

Many factors influence the permissible speed (n)
including the capacity to load ratio (C/P) and the relative
size (d). These guidelines also show when the shaft
tolerance must be restricted.

190

PRODUCT DESCRIPTION
� Cast iron housing with ball bearing.
� Spherical interface between bearing and housing

accommodates static misalignment of � 2.5� with
lubrication.

� Relubricable through housing.

HOUSING
� Standard material is grey cast iron as per ASTM A48

class 30 or equivalent (ductile iron available on re-
quest subject to minimum quantity).

� Protection is from a durable powder coat finish.
Green is the standard color.

� Housing threaded for standard SAE grease nipples.
1/4-28 UNF for (03) and (04) housings
1/8 NPT for all other sizes

� Machined surfaces tolerances � 0.25mm (0.010�)

BEARING FEATURES
� Normal inch and metric shaft sizes.
� Fastened to shaft by eccentric locking collar or set

screw.
� C3 clearance
� Supplied with initial fill of lithium base grease.

� Nylon 6.6 cage suitable for 120� C,
250� F operation

� Variety of seal types to suit application. All types are
typically of a three piece construction i.e. rubber
sealing lip sandwiched between two pieces of zinc
plated steel. The steel components protect the rub-
ber against abrasive media and insure that the seal
assembly is positively locked into the outer ring.

SHAFT FITS / LIMITING SPEEDS
For speeds up to the values listed in the dimension
tables, the shaft should correspond to ISO tolerance limit
h9. For higher speeds, shaft tolerance h5 is recom-
mended and the INA Engineering Service should be con-
tacted.

SHAFT 10 18 30 50
SIZE INCLUDING INCLUDING INCLUDING INCLUDING
mm 18 30 50 80

tolerance 0 0 0 0
h9 –43 –52 –62 –74

tolerance 0 0 0 0
h6 –11 –13 –16 –19

tolerance 0 0 0 0
h5 –8 –9 –11 –13

values in µm (1 µm = 0.001 mm)



1

Part Number Identification
RADIAL  BALL BEARINGS

INSERT BEARINGS

PREFIXES:
Basic  Series &
Additional Features

E Metric Bore

G Relubricable

1 Standard Series
(200 Series Bearings
Inch)

RA Extended Inner Ring,
One Side Only

Y, AY Set Screw Locking
Device Series

SUFFIXES:
Internal Construction

K Conrad, Non-Filling Slot Type

NUMBERS:
Last  Three Numbers indicate shaft size
first in inches, last two in sixteenths or
directly in mm if 2 digits

015 15/16

103 1-3/16

203 2-3/16

25 25mm (metric)

40 40mm (metric)

ADDITIONAL FEATURES:

NPP Two Seals (Non-Preloaded)

RR Two Land Riding Rubber Seals

B Spherical Outside Diameter

CC Zinc Plated Flingers

G1 103 K RRB

HOUSING UNITS

PREFIXES:
Bearing  Seal Type

P NPP Type Economy Seal

R KRR Type Preloaded Seal

SUFFIXES:
Locking Device

Blank Eccentric Locking collar

Y Set Screw

HOUSING TYPE:

ASE Standard Height Pillow Block

AK Low Height Pillow Block

CJ Four Bolt FLange

CJT Two Bolt Flange

LCTE Small Center Bolt Flange

CJTZ Piloted Two Bolt Flange

ME Round Piloted Four Bolt Flange

SFT Pivoting Take Up

SHE Tapped Base Pillow Block

TUE Take Up

NUMBERS:
Shaft

Fractional Inches Or Millimeters

R ASE Y

191



Part Number Identification
RADIAL  BALL BEARINGS

Shaft
Diameter

MATERIAL CODE

15 Material – Steel St 52
Tooth Flanks – Unhardened

08 Material – Sintered Iron C 10
Tooth Flanks – Unhardened HB 50�5

16 Material – Steel C 45
Tooth Flanks – Hardened HRc 50�5

09 Material – Sintered Iron D 30
Tooth Flanks – Hardened HB 125�15

22 Material – Plastic PA
Tooth Flanks – N/A

LO 06

LO Inner Ring Extended Both Sides

BO Eccentric Locking Collar Inner
Ring Extended One Side

KO Inner & Outer Rings Flush

IDLER SPROCKET

10

Pitch
Sixteenths
Of An Inch

20

Chain Code 
(Width Index Or
Appropriate Standard)

16 08

Number
Of Teeth

192



Prefix & Suffix Interchange Chart

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

Elges and Andrews are registered trademarks of INA USA Corporation
Permaglide is a registered trademark and a product of KOLBENSCHMIDT AG,
Neckarsulm, also produced in Greensburg, Indiana, USA.
All other products and company names are trademarks or registered trademarks
of their respective companies.

193

INA FAFNIR DODGE SKF SEALMASTER LINKBELT

PRE / SUF PRE / SUF PRE / SUF PRE / SUF PRE / SUF PRE / SUF

PASE VAS P2BSXV SY / FM VP / E P3W

PASEY SAS P2BSCV VP

PAK VAK P2BSXVB SYH / FM PL3Y / N

PAKY SAK P2BSCVB PL3U / N

PCJ [P]VCJ F4BSXV FY / FM VF / E F3W / U

PCJY SCJ F4BSCV VF

PCJT VCJT F2BSXV FYT(B) / FM VFT / E FX3W / U

PCJTY SCJT F2BSCV FX3S / E

INA FAFNIR DODGE SKF SEALMASTER LINKBELT

PRE / SUF PRE / SUF PRE / SUF PRE / SUF PRE / SUF PRE / SUF

RASE RAS P2BSXR NP / E P3Y

RASEY YAS P2BSC SY / TM NP

RAK RAK P2BSXRB SYH / WM NPL / E PL3Y

RAKY YAK P2BSCB NPL

RCJ RCJ F4BSXR FY / WM RF / E F3Y

RCJY YCJ F4BSC FY / TM RF

RCJT RCJT F2BSXR FYT / WM RFT / E FX3Y

RCJTY YCJT F2BSC FYT / TM RFT

This interchange list is based on catalogs known to INA.
INA USA Corporation cannot assume responsibility for errors, inaccuracies or any damages arising from use of this data.
In case of doubt please contact an INA Sales Representative at a location nearest you.



Ball Bearings
600 SERIES
� Metric series
� Conrad ball bearings
� Miniature, extra-light, light, medium series
� Available as open, shielded or sealed

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

OPEN 2RS
SEALED

ZZ
SHIELDED

194

PART NUMBER SHAFT

inch

SHAFT

mm

OD

inch

OD

mm

WIDTH

inch

WIDTH

mm

WEIGHT

lbs

WEIGHT

g

DYN. CAP.

lbf

DYN. CAP.

N

STAT. CAP.

lbf

STAT. CAP.

N

SPEED
LIMIT
OIL

rpm

626 0.2362 6 0.748 19 0.2362 6 0.019 8.4 530 2340 200 890 39000

626 2RS 0.2362 6 0.748 19 0.2362 6 0.019 8.4 530 2340 200 890 30000

626ZZ 0.2362 6 0.748 19 0.2362 6 0.019 8.4 530 2340 200 890 39000

607 0.2756 7 0.748 19 0.2362 6 0.017 7.5 530 2360 205 910 40000

6072RS 0.2756 7 0.748 19 0.2362 6 0.017 7.5 530 2360 205 910 28000

607ZZ 0.2756 7 0.748 19 0.2362 6 0.017 7.5 530 2360 205 910 40000

627 0.2756 7 0.8661 22 0.2756 7 0.029 13 730 3250 305 1350 37000

6272RS 0.2756 7 0.8661 22 0.2756 7 0.029 13 730 3250 305 1350 23000

627ZZ 0.2756 7 0.8661 22 0.2756 7 0.029 13 730 3250 305 1350 37000

698 0.315 8 0.748 19 0.2362 6 0.016 7.3 500 2240 196 870 38000

698ZZ 0.315 8 0.748 19 0.2362 6 0.016 7.3 500 2240 196 870 38000

608 0.315 8 0.8661 22 0.2756 7 0.026 12 760 3380 295 1320 37000

608RS 0.315 8 0.8661 22 0.2756 7 0.026 12 760 3380 295 1320 23000

608ZZ 0.315 8 0.8661 22 0.2756 7 0.026 12 760 3380 295 1320 37000

628 0.315 8 0.9449 24 0.315 8 0.035 16 750 3350 315 1410 36000

6282RS 0.315 8 0.9449 24 0.315 8 0.035 16 750 3350 315 1410 22000

628ZZ 0.315 8 0.9449 24 0.315 8 0.035 16 750 3350 315 1410 36000

699 0.3543 9 0.7874 20 0.2362 6 0.017 7.8 385 1710 166 740 37000

699ZZ 0.3543 9 0.7874 20 0.2362 6 0.017 7.8 385 1710 166 740 37000

609 0.3543 9 0.9449 24 0.2756 7 0.031 14 780 3450 320 1430 36000

6092RS 0.3543 9 0.9449 24 0.2756 7 0.031 14 780 3450 320 1430 22000

609ZZ 0.3543 9 0.9449 24 0.2756 7 0.031 14 780 3450 320 1430 36000

629 0.3543 9 1.0236 26 0.315 8 0.044 20 1020 4550 440 1960 35000

6292RS 0.3543 9 1.0236 26 0.315 8 0.044 20 1020 4550 440 1960 21000

629ZZ 0.3543 9 1.0236 26 0.315 8 0.044 20 1020 4550 440 1960 35000

6000 0.3937 10 1.0236 26 0.315 8 0.042 19 1030 4600 440 1950 34000

60002RS 0.3937 10 1.0236 26 0.315 8 0.042 19 1030 4600 440 1950 21000

6000ZZ 0.3937 10 1.0236 26 0.315 8 0.042 19 1030 4600 440 1950 34000

6200 0.3937 10 1.1811 30 0.3543 9 0.071 32 1370 6100 580 2600 32000

62002RS 0.3937 10 1.1811 30 0.3543 9 0.071 32 1370 6100 580 2600 17000

6200ZZ 0.3937 10 1.1811 30 0.3543 9 0.071 32 1370 6100 580 2600 32000

6300 0.3937 10 1.378 35 0.4331 11 0.119 54 1750 7800 810 3600 28000

63002RS 0.3937 10 1.378 35 0.4331 11 0.119 54 1750 7800 810 3600 15000

6300ZZ 0.3937 10 1.378 35 0.4331 11 0.119 54 1750 7800 810 3600 28000

6001 0.4724 12 1.1024 28 0.315 8 0.049 22 1150 5100 530 2350 31000

60012RS 0.4724 12 1.1024 28 0.315 8 0.049 22 1150 5100 530 2350 18000

6001ZZ 0.4724 12 1.1024 28 0.315 8 0.049 22 1150 5100 530 2350 31000

6201 0.4724 12 1.2598 32 0.3937 10 0.082 37 1550 6900 670 3000 30000

62012RS 0.4724 12 1.2598 32 0.3937 10 0.082 37 1550 6900 670 3000 16000

6201ZZ 0.4724 12 1.2598 32 0.3937 10 0.082 37 1550 6900 670 3000 30000

6301 0.4724 12 1.4567 37 0.4724 12 0.135 61 2410 10700 1100 4900 26000

63012RS 0.4724 12 1.4567 37 0.4724 12 0.135 61 2410 10700 1100 4900 13000

6301ZZ 0.4724 12 1.4567 37 0.4724 12 0.135 61 2410 10700 1100 4900 26000

6002 0.5906 15 1.2598 32 0.3543 9 0.066 30 1260 5600 640 2850 30000

60022RS 0.5906 15 1.2598 32 0.3543 9 0.066 30 1260 5600 640 2850 15000

6002ZZ 0.5906 15 1.2598 32 0.3543 9 0.066 30 1260 5600 640 2850 30000



Ball Bearings
600 SERIES
� Metric series
� Conrad ball bearings
� Miniature, extra-light, light, medium series
� Available as open, shielded or sealed

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

OPEN 2RS
SEALED

ZZ
SHIELDED

195

PART NUMBER SPEED
LIMIT
OIL

rpm

STAT. CAP.

N

STAT. CAP.

lbf

DYN. CAP.

N

DYN. CAP.

lbf

WEIGHT

g

WEIGHT

lbs

WIDTH

mm

WIDTH

inch

OD

mm

OD

inch

SHAFT

mm

SHAFT

inch

6202 0.5906 15 1.378 35 0.4331 11 0.099 45 1730 7700 790 3500 26000

62022RS 0.5906 15 1.378 35 0.4331 11 0.099 45 1730 7700 790 3450 20000

6202ZZ 0.5906 15 1.378 35 0.4331 11 0.099 45 1730 7700 790 3450 26000

6302 0.5906 15 1.6535 42 0.5118 13 0.187 85 2550 11300 1190 5300 22000

63022RS 0.5906 15 1.6535 42 0.5118 13 0.187 85 2550 11300 1190 5300 12000

6302ZZ 0.5906 15 1.6535 42 0.5118 13 0.187 85 2550 11300 1190 5300 22000

6003 0.6693 17 1.378 35 0.3937 10 0.086 39 1300 5800 630 2800 28000

60032RS 0.6693 17 1.378 35 0.3937 10 0.086 39 1300 5800 630 2800 13000

6003ZZ 0.6693 17 1.378 35 0.3937 10 0.086 39 1300 5800 630 2800 28000

6203 0.6693 17 1.5748 40 0.4724 12 0.143 65 2160 9600 1010 4500 22000

62032RS 0.6693 17 1.5748 40 0.4724 12 0.143 65 2160 9600 1010 4500 12000

6203ZZ 0.6693 17 1.5748 40 0.4724 12 0.143 65 2160 9600 1010 4500 22000

6303 0.6693 17 1.8504 47 0.5512 14 0.245 111 3050 13500 1390 6200 19000

63032RS 0.6693 17 1.8504 47 0.5512 14 0.245 111 3050 13500 1390 6200 11000

6303ZZ 0.6693 17 1.8504 47 0.5512 14 0.245 111 3050 13500 1390 6200 19000

6004 0.7874 20 1.6535 42 0.4724 12 0.152 69 2110 9400 1120 5000 20000

60042RS 0.7874 20 1.6535 42 0.4724 12 0.152 69 2110 9400 1120 5000 11000

6004ZZ 0.7874 20 1.6535 42 0.4724 12 0.152 69 2110 9400 1120 5000 20000

6204 0.7874 20 1.8504 47 0.5512 14 0.243 110 2850 12700 1460 6500 18000

62042RS 0.7874 20 1.8504 47 0.5512 14 0.243 110 2850 12700 1460 6500 10000

6204ZZ 0.7874 20 1.8504 47 0.5512 14 0.243 110 2850 12700 1460 6500 18000

6304 0.7874 20 2.0472 52 0.5906 15 0.326 148 3550 15900 1750 7800 17000

63042RS 0.7874 20 2.0472 52 0.5906 15 0.326 148 3550 15900 1750 7800 9000

6304ZZ 0.7874 20 2.0472 52 0.5906 15 0.326 148 3550 15900 1750 7800 17000

6005 0.9843 25 1.8504 47 0.4724 12 0.176 80 2500 11200 1460 6500 18000

60052RS 0.9843 25 1.8504 47 0.4724 12 0.176 80 2500 11200 1460 6500 9500

6005ZZ 0.9843 25 1.8504 47 0.7087 18 0.176 80 2500 11200 1460 6500 18000

6205 0.9843 25 2.0472 52 0.5906 15 0.287 130 3150 14000 1750 7800 17000

62052RS 0.9843 25 2.0472 52 0.5906 15 0.287 130 3150 14000 1750 7800 9000

6205ZZ 0.9843 25 2.0472 52 0.5906 15 0.287 130 3150 14000 1750 7800 17000

6305 0.9843 25 2.4409 62 0.6693 17 0.512 232 4650 20600 2550 11300 14000

63052RS 0.9843 25 2.4409 62 0.6693 17 0.512 232 4650 20600 2550 11300 7500

6305ZZ 0.9843 25 2.4409 62 0.6693 17 0.512 232 4650 20600 2550 11300 14000

6006 1.1811 30 2.1654 55 0.5118 13 0.265 120 2950 13200 1870 8300 16000

60062RS 1.1811 30 2.1654 55 0.5118 13 0.265 120 2950 13200 1870 8300 8000

6006ZZ 1.1811 30 2.1654 55 0.5118 13 0.265 120 2950 13200 1870 8300 16000

6206 1.1811 30 2.4409 62 0.6299 16 0.441 200 4400 19500 2500 11200 14000

62062RS 1.1811 30 2.4409 62 0.6299 16 0.441 200 4400 19500 2500 11200 7500

6206ZZ 1.1811 30 2.4409 62 0.6299 16 0.441 200 4400 19500 2500 11200 14000

6306 1.1811 30 2.8346 72 0.748 19 0.772 350 6000 26500 3350 15000 12000

63062RS 1.1811 30 2.8346 72 0.748 19 0.772 350 6000 26500 3350 15000 6300

6306ZZ 1.1811 30 2.8346 72 0.748 19 0.772 350 6000 26500 3350 15000 12000

6007 1.378 35 2.4409 62 0.5512 14 0.333 151 3600 16000 2320 10300 14000

60072RS 1.378 35 2.4409 62 0.5512 14 0.333 151 3600 16000 2320 10300 7000

6007ZZ 1.378 35 2.4409 62 0.5512 14 0.333 151 3600 16000 2320 10300 14000

6207 1.378 35 2.8346 72 0.6693 17 0.639 290 5700 25500 3450 15300 12000



Ball Bearings
600 SERIES
� Metric series
� Conrad ball bearings
� Miniature, extra-light, light, medium series
� Available as open, shielded or sealed

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

OPEN 2RS
SEALED

ZZ
SHIELDED

196

PART NUMBER SPEED
LIMIT
OIL

rpm

STAT. CAP.

N

STAT. CAP.

lbf

DYN. CAP.

N

DYN. CAP.

lbf

WEIGHT

g

WEIGHT

lbs

WIDTH

mm

WIDTH

inch

OD

mm

OD

inch

SHAFT

mm

SHAFT

inch

62072RS 1.378 35 2.8346 72 0.6693 17 0.639 290 5700 25500 3450 15300 6300

6207ZZ 1.378 35 2.8346 72 0.6693 17 0.639 290 5700 25500 3450 15300 12000

6307 1.378 35 3.1496 80 0.8268 21 1.014 460 7500 33500 4300 19200 10000

63072RS 1.378 35 3.1496 80 0.8268 21 1.014 460 7500 33500 4300 19200 5600

6307ZZ 1.378 35 3.1496 80 0.8268 21 1.014 460 7500 33500 4300 19200 10000

6008 1.5748 40 2.6772 68 0.5906 15 0.419 190 3800 16800 2600 11500 13000

60082RS 1.5748 40 2.6772 68 0.5906 15 0.419 190 3800 16800 2600 11500 6300

6008ZZ 1.5748 40 2.6772 68 0.5906 15 0.419 190 3800 16800 2600 11500 13000

6208 1.5748 40 3.1496 80 0.7087 18 0.807 366 6500 29000 4000 17800 10000

62082RS 1.5748 40 3.1496 80 0.7087 18 0.807 366 6500 29000 4000 17800 5600

6208ZZ 1.5748 40 3.1496 80 0.7087 18 0.807 366 6500 29000 4000 17800 10000

6308 1.5748 40 3.5433 90 0.9055 23 1.389 630 10200 45500 5800 26000 9000

63082RS 1.5748 40 3.5433 90 0.9055 23 1.389 630 10200 45500 5800 26000 5000

6308ZZ 1.5748 40 3.5433 90 0.9055 23 1.389 630 10200 45500 5800 26000 9000

6009 1.7717 45 2.9528 75 0.6299 16 0.512 232 4650 20700 3250 14500 11000

60092RS 1.7717 45 2.9528 75 0.6299 16 0.512 232 4650 20700 3250 14500 5600

6009ZZ 1.7717 45 2.9528 75 0.6299 16 0.512 232 4650 20700 3250 14500 11000

6209 1.7717 45 3.3465 85 0.748 19 0.893 405 7300 32500 4600 20400 9500

62092RS 1.7717 45 3.3465 85 0.748 19 0.893 405 7300 32500 4600 20400 5300

6209ZZ 1.7717 45 3.3465 85 0.748 19 0.893 405 7300 32500 4600 20400 9500

6309 1.7717 45 3.937 100 0.9843 25 1.874 850 11900 53000 7100 31500 8000

63092RS 1.7717 45 3.937 100 0.9843 25 1.874 850 11900 53000 7100 31500 4500

6309ZZ 1.7717 45 3.937 100 0.9843 25 1.874 850 11900 53000 7100 31500 8000

6010 1.9685 50 3.1496 80 0.6299 16 0.576 261 4850 21600 3600 16000 10000

60102RS 1.9685 50 3.1496 80 0.6299 16 0.576 261 4850 21600 3600 16000 5300

6010ZZ 1.9685 50 3.1496 80 0.6299 16 0.576 261 4850 21600 3600 16000 10000

6210 1.9685 50 3.5433 90 0.7874 20 1.001 454 7900 35000 5200 23200 9000

62102RS 1.9685 50 3.5433 90 0.7874 20 1.001 454 7900 35000 5200 23200 4800

6210ZZ 1.9685 50 3.5433 90 0.7874 20 1.001 454 7900 35000 5200 23200 9000

6310 1.9685 50 4.3307 110 1.063 27 2.43 1102 13900 62000 8500 38000 7000

63102RS 1.9685 50 4.3307 110 1.063 27 2.43 1102 13900 62000 8500 38000 4000

6310ZZ 1.9685 50 4.3307 110 1.063 27 2.43 1102 13900 62000 8500 38000 7000

6011 2.1654 55 3.5433 90 0.7087 18 0.831 377 6300 28000 4750 21200 9000

60112RS 2.1654 55 3.5433 90 0.7087 18 0.831 377 6300 28000 4750 21200 4500

6011ZZ 2.1654 55 3.5433 90 0.7087 18 0.831 377 6300 28000 4750 21200 9000

6211 2.1654 55 3.937 100 0.8268 21 1.341 608 9700 43000 6500 29000 8000

62112RS 2.1654 55 3.937 100 0.8268 21 1.341 608 9700 43000 6500 29000 4300

6211ZZ 2.1654 55 3.937 100 0.8268 21 1.341 608 9700 43000 6500 29000 8000

6311 2.1654 55 4.7244 120 1.1417 29 3.065 1390 16500 73500 10400 46300 6300

63112RS 2.1654 55 4.7244 120 1.1417 29 3.065 1390 16500 73500 10400 46300 3600

6311ZZ 2.1654 55 4.7244 120 1.1417 29 3.065 1390 16500 73500 10400 46300 6300

6012 2.3622 60 3.7402 95 0.7087 18 0.904 410 6600 29500 5200 23200 8500

60122RS 2.3622 60 3.7402 95 0.7087 18 0.904 410 6600 29500 5200 23200 4300

6012ZZ 2.3622 60 3.7402 95 0.7087 18 0.904 410 6600 29500 5200 23200 8500

6212 2.3622 60 4.3307 110 0.8661 22 1.731 785 11700 52000 8100 36000 7000

62122RS 2.3622 60 4.3307 110 0.8661 22 1.731 785 11700 52000 8100 36000 4000



Ball Bearings
600 SERIES
� Metric series
� Conrad ball bearings
� Miniature, extra-light, light, medium series
� Available as open, shielded or sealed

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

OPEN 2RS
SEALED

ZZ
SHIELDED

197

PART NUMBER SPEED
LIMIT
OIL

rpm

STAT. CAP.

N

STAT. CAP.

lbf

DYN. CAP.

N

DYN. CAP.

lbf

WEIGHT

g

WEIGHT

lbs

WIDTH

mm

WIDTH

inch

OD

mm

OD

inch

SHAFT

mm

SHAFT

inch

6212ZZ 2.3622 60 4.3307 110 0.8661 22 1.731 785 11700 52000 8100 36000 7000

6312 2.3622 60 5.1181 130 1.2205 31 3.793 1720 18400 82000 11700 52000 6000

63122RS 2.3622 60 5.1181 130 1.2205 31 3.793 1720 18400 82000 11700 52000 3400

6312ZZ 2.3622 60 5.1181 130 1.2205 31 3.793 1720 18400 82000 11700 52000 6000

6013 2.5591 65 3.937 100 0.7087 18 0.961 436 6900 30500 5600 25000 7500

60132RS 2.5591 65 3.937 100 0.7087 18 0.961 436 6900 30500 5600 25000 4000

6013ZZ 2.5591 65 3.937 100 0.7087 18 0.961 436 6900 30500 5600 25000 7500

6213 2.5591 65 4.7244 120 0.9055 23 2.165 982 12800 57000 9000 40000 6300

62132RS 2.5591 65 4.7244 120 0.9055 23 2.165 982 12800 57000 9000 40000 3600

6213ZZ 2.5591 65 4.7244 120 0.9055 23 2.165 982 12800 57000 9000 40000 6300

6313 2.5591 65 5.5118 140 1.2992 33 4.697 2130 20900 93000 13500 60000 5300

63132RS 2.5591 65 5.5118 140 1.2992 33 4.697 2130 20900 93000 13500 60000 3000

6313ZZ 2.5591 65 5.5118 140 1.2992 33 4.697 2130 20900 93000 13500 60000 5300

6014 2.7559 70 4.3307 110 0.7874 20 1.33 603 8500 38000 7000 31000 7000

60142RS 2.7559 70 4.3307 110 0.7874 20 1.33 603 8500 38000 7000 31000 3600

6014ZZ 2.7559 70 4.3307 110 0.7874 20 1.33 603 8500 38000 7000 31000 7000

6214 2.7559 70 4.9213 125 0.9449 24 2.379 1079 13900 62000 9900 44000 6000

62142RS 2.7559 70 4.9213 125 0.9449 24 2.379 1079 13900 62000 9900 44000 3400

6214ZZ 2.7559 70 4.9213 125 0.9449 24 2.379 1079 13900 62000 9900 44000 6000

6314 2.7559 70 5.9055 150 1.378 35 5.799 2630 23400 104000 15300 68000 5000

63142RS 2.7559 70 5.9055 150 1.378 35 5.799 2630 23400 104000 15300 68000 2800

6314ZZ 2.7559 70 5.9055 150 1.378 35 5.799 2630 23400 104000 15300 68000 5000



Double Row Angular Contact
Ball Bearings
3200 & 3300 SERIES
� Steel cage
� 25� contact angle
� Available as open, shielded or sealed

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

OPEN
2RS

SEALED
ZZ

SHIELDED

198

PART NUMBER SHAFT

inch

SHAFT

mm

OD

inch

OD

mm

WIDTH

inch

WIDTH

mm

WEIGHT

lbs

WEIGHT

kg

DYN. CAP.

lbf

DYN. CAP.

N

STAT. CAP.

lbf

STAT. CAP.

N

SPEED
LIMIT

GREASE

rpm

3200J 0.394 10 1.181 30 0.563 14.288 0.115 0.052 1600 6950 900 3800 16000

3200J2RS 0.394 10 1.181 30 0.563 14.288 0.115 0.052 1600 6950 900 3800 16000

3200J2Z 0.394 10 1.181 30 0.563 14.288 0.115 0.052 1600 6950 900 3800 16000

3201J 0.472 12 1.26 32 0.625 15.875 0.132 0.060 2100 9150 1100 5050 15000

3201J2RS 0.472 12 1.26 32 0.625 15.875 0.132 0.060 2100 9150 1100 5050 15000

3201J2Z 0.472 12 1.26 32 0.625 15.875 0.132 0.060 2100 9150 1100 5050 15000

3202J 0.591 15 1.378 35 0.625 15.875 0.154 0.070 2200 10000 1400 6050 14000

3202J2RS 0.591 15 1.378 35 0.625 15.875 0.154 0.070 2200 10000 1400 6050 14000

3202J2Z 0.591 15 1.378 35 0.625 15.875 0.154 0.070 2200 10000 1400 6050 14000

3203J 0.669 17 1.575 40 0.687 17.462 0.221 0.100 2900 12800 1800 8000 11000

3203J2RS 0.669 17 1.575 40 0.687 17.462 0.221 0.100 2900 12800 1800 8000 11000

3203J2Z 0.669 17 1.575 40 0.687 17.462 0.221 0.100 2900 12800 1800 8000 11000

3204J 0.787 20 1.85 47 0.813 20.638 0.364 0.165 4300 19000 2700 12100 10000

3204J2RS 0.787 20 1.85 47 0.813 20.638 0.397 0.180 4300 19000 2700 12100 10000

3204J2Z 0.787 20 1.85 47 0.813 20.638 0.397 0.180 4300 19000 2700 12100 10000

3205J 0.984 25 2.047 52 0.813 20.638 0.375 0.170 4600 20600 3200 14300 9000

3205J2RS 0.984 25 2.047 52 0.813 20.638 0.375 0.170 4600 20600 3200 14300 9000

3205J2Z 0.984 25 2.047 52 0.813 20.638 0.375 0.170 4600 20600 3200 14300 9000

3206J 1.181 30 2.441 62 0.937 23.812 0.662 0.300 5500 24400 4000 17600 7100

3206J2RS 1.181 30 2.441 62 0.937 23.812 0.662 0.300 5500 24400 4000 17600 7100

3206J2Z 1.181 30 2.441 62 0.937 23.812 0.662 0.300 5500 24400 4000 17600 7100

3207J 1.378 35 2.835 72 1.063 26.988 0.970 0.440 7400 32900 5500 24500 5600

3207J2RS 1.378 35 2.835 72 1.063 26.988 0.970 0.440 7400 32900 5500 24500 5600

3207J2Z 1.378 35 2.835 72 1.063 26.988 0.970 0.440 7400 32900 5500 24500 5600

3208J 1.575 40 3.15 80 1.187 30.162 1.345 0.610 9600 42500 7300 32400 5000

3208J2RS 1.575 40 3.15 80 1.187 30.162 1.345 0.610 9600 42500 7300 32400 5000

3208J2Z 1.575 40 3.15 80 1.187 30.162 1.345 0.610 9600 42500 7300 32400 5000

3209J 1.772 45 3.346 85 1.189 30.200 1.367 0.620 9000 40000 7300 32500 4800

3209J2RS 1.772 45 3.346 85 1.189 30.200 1.455 0.660 9000 40000 7300 32500 4800

3209J2Z 1.772 45 3.346 85 1.189 30.200 1.455 0.660 9000 40000 7300 32500 4800

3210J 1.969 50 3.543 90 1.189 30.200 1.521 0.690 9600 42500 8200 36500 4000

3210J2RS 1.969 50 3.543 90 1.189 30.200 1.610 0.730 9600 42500 8200 36500 4000

3210J2Z 1.969 50 3.543 90 1.189 30.200 1.610 0.730 9600 42500 8200 36500 4000

3211J 2.165 55 3.937 100 1.311 33.300 2.205 1.000 14800 66000 12400 55000 3800

3211J2RS 2.165 55 3.937 100 1.311 33.300 2.205 1.000 14800 66000 12400 55000 3800

3211J2Z 2.165 55 3.937 100 1.311 33.300 2.205 1.000 14800 66000 12400 55000 3800

3212J 2.362 60 4.331 110 1.438 36.513 2.977 1.350 16400 73000 13900 62000 3300

3212J2RS 2.362 60 4.331 110 1.438 36.513 2.977 1.350 16400 73000 13900 62000 3300

3212J2Z 2.362 60 4.331 110 1.438 36.513 2.977 1.350 16400 73000 13900 62000 3300

3302J 0.591 15 1.654 42 0.748 19 0.232 0.105 3200 14200 2000 8800 10000

3302J2RS 0.591 15 1.654 42 0.748 19 0.243 0.110 3200 14200 2000 8800 10000

3302J2Z 0.591 15 1.654 42 0.748 19 0.243 0.110 3200 14200 2000 8800 10000

3303J 0.669 17 1.85 47 0.874 22.200 0.287 0.130 4300 19000 2700 12100 9500

3303J2RS 0.669 17 1.85 47 0.874 22.200 0.309 0.140 4300 19000 2700 12100 9500

3303J2Z 0.669 17 1.85 47 0.874 22.200 0.309 0.140 4300 19000 2700 12100 9500

3304J 0.787 20 2.047 52 0.874 22.200 0.485 0.220 4300 19100 2800 12400 9000



Double Row Angular Contact
Ball Bearings
3200 & 3300 SERIES
� Steel cage
� 25� contact angle
� Available as open, shielded or sealed

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

OPEN
2RS

SEALED
ZZ

SHIELDED

199

PART NUMBER SPEED
LIMIT

GREASE

rpm

STAT. CAP.

N

STAT. CAP.

lbf

DYN. CAP.

N

DYN. CAP.

lbf

WEIGHT

kg

WEIGHT

lbs

WIDTH

mm

WIDTH

inch

OD

mm

OD

inch

SHAFT

mm

SHAFT

inch

3304J2RS 0.787 20 2.047 52 0.874 22.200 0.507 0.230 4300 19100 2800 12400 9000

3304J2Z 0.787 20 2.047 52 0.874 22.200 0.507 0.230 4300 19100 2800 12400 9000

3305J 0.984 25 2.441 62 1 25.400 0.750 0.340 6000 26500 4000 17900 7900

3305J2RS 0.984 25 2.441 62 1 25.400 0.772 0.350 6000 26500 4000 17900 7900

3305J2Z 0.984 25 2.441 62 1 25.400 0.772 0.350 6000 26500 4000 17900 7900

3306J 1.181 30 2.835 72 1.189 30.200 1.235 0.560 7400 33000 5500 24300 6200

3306J2RS 1.181 30 2.835 72 1.189 30.200 1.279 0.580 7400 33000 5500 24300 6200

3306J2Z 1.181 30 2.835 72 1.189 30.200 1.279 0.580 7400 33000 5500 24300 6200

3307J 1.378 35 3.15 80 1.375 34.925 1.654 0.750 10000 44500 7100 31500 5100

3307J2RS 1.378 35 3.15 80 1.375 34.925 1.720 0.780 10000 44500 7100 31500 5100

3307J2Z 1.378 35 3.15 80 1.375 34.925 1.720 0.780 10000 44500 7100 31500 5100

3308J 1.575 40 3.543 90 1.437 36.500 2.227 1.010 11100 49500 8200 36500 4700

3308J2RS 1.575 40 3.543 90 1.437 36.500 2.315 1.050 11100 49500 8200 36500 4700

3308J2Z 1.575 40 3.543 90 1.437 36.500 2.315 1.050 11100 49500 8200 36500 4700

3309J 1.772 45 3.937 100 1.563 39.700 3.131 1.420 14800 66000 11100 49500 4000

3309J2RS 1.772 45 3.937 100 1.563 39.700 3.087 1.400 14800 66000 11100 49500 4000

3309J2Z 1.772 45 3.937 100 1.563 39.700 3.131 1.420 14800 66000 11100 49500 4000

3310J 1.969 50 4.331 110 1.75 44.450 4.234 1.920 17800 79000 13500 60000 3200

3310J2RS 1.969 50 4.331 110 1.75 44.450 4.322 1.960 17800 79000 13500 60000 3200

3310J2Z 1.969 50 4.331 110 1.75 44.450 4.322 1.960 17800 79000 13500 60000 3200



Radial Insert Ball Bearings
GRAE..NPPB, GRA..NPPB SERIES
� Spherical OD
� Eccentric locking collar
� Economy P seals
� Inch and metric setscrews

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

200

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

B

inch

B

mm

D

inch

D

mm

O

inch

O

mm

L

inch

L

mm

WGT.

lbs

WGT.

kg

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

GRA 008 NPPB 1/2 0.5 12.7 0.472 12 1.575 40 0.870 22.1 1.126 28.6 0.265 0.12 2150 9600 1070 4750

GRAE 15 NPPB – 0.5906 15 0.472 12 1.575 40 0.870 22.1 1.126 28.6 0.265 0.12 2150 9600 1070 4750

GRA 010 NPPB 5/8 0.625 15.875 0.472 12 1.575 40 0.870 22.1 1.126 28.6 0.265 0.12 2150 9600 1070 4750

GRAE 17 NPPB – 0.6693 17 0.472 12 1.575 40 0.870 22.1 1.126 28.6 0.375 0.17 2150 9600 1070 4750

GRA 012 NPPB 3/4 0.75 19.05 0.551 14 1.850 47 0.925 23.5 1.221 31 0.353 0.16 2900 12800 1480 6600

GRAE 20 NPPB – 0.7874 20 0.551 14 1.850 47 0.925 23.5 1.221 31 0.353 0.16 2900 12800 1480 6600

GRA 014 NPPB 7/8 0.875 22.225 0.591 15 2.047 52 0.925 23.5 1.221 31 0.419 0.19 3150 14000 1760 7800

GRAE 25 NPPB – 0.9843 25 0.591 15 2.047 52 0.925 23.5 1.221 31 0.419 0.19 3150 14000 1760 7800

GRA 100 NPPB 1 1 25.4 0.591 15 2.047 52 0.925 23.5 1.221 31 0.419 0.19 3150 14000 1760 7800

GRA 101 NPPB 1–1/16 1.0625 26.988 0.709 18 2.441 62 1.051 26.7 1.406 35.7 0.684 0.31 4350 19500 2550 11300

GRA 102 NPPB 1–1/8 1.125 28.575 0.709 18 2.441 62 1.051 26.7 1.406 35.7 0.684 0.31 4350 19500 2550 11300

GRAE 30 NPPB – 1.1811 30 0.709 18 2.441 62 1.051 26.7 1.406 35.7 0.684 0.31 4350 19500 2550 11300

GRA 103 NPPB 1–3/16 1.1875 30.162 0.709 18 2.441 62 1.051 26.7 1.406 35.7 0.684 0.31 4350 19500 2550 11300

GRA 104 NPPB–206 1–1/4 1.25 31.75 0.709 18 2.441 62 1.051 26.7 1.406 35.7 0.684 0.31 4350 19500 2550 11300

GRA 104 NPPB 1–1/4 1.25 31.75 0.748 19 2.835 72 1.158 29.4 1.532 38.9 1.058 0.48 5800 25500 3450 15300

GRA 106 NPPB 1–3/8 1.375 34.925 0.748 19 2.835 72 1.158 29.4 1.532 38.9 1.058 0.48 5800 25500 3450 15300

GRAE 35 NPPB – 1.378 35 0.748 19 2.835 72 1.158 29.4 1.532 38.9 1.058 0.48 5800 25500 3450 15300

GRA 107 NPPB 1–7/16 1.4375 36.512 0.748 19 2.835 72 1.158 29.4 1.532 38.9 1.058 0.48 5800 25500 3450 15300

GRA 108 NPPB 1–1/2 1.5 38.1 0.827 21 3.150 80 1.287 32.7 1.721 43.7 1.367 0.62 7300 32500 4450 19800

GRAE 40 NPPB – 1.5748 40 0.827 21 3.150 80 1.287 32.7 1.721 43.7 1.367 0.62 7300 32500 4450 19800

GRA 112 NPPB 1–3/4 1.75 44.45 0.866 22 3.347 85 1.287 32.7 1.721 43.7 1.521 0.69 7400 32500 4600 20400

GRAE 45 NPPB – 1.7717 45 0.866 22 3.347 85 1.287 32.7 1.721 43.7 1.521 0.69 7400 32500 4600 20400

GRA 115 NPPB 1–15/16 1.9375 49.212 0.866 22 3.543 90 1.287 32.7 1.721 43.7 1.698 0.77 7900 35000 5200 23200

GRAE 50 NPPB – 1.9685 50 0.866 22 3.543 90 1.287 32.7 1.721 43.7 1.698 0.77 7900 35000 5200 23200

GRA 200 NPPB 2 2 50.8 0.984 25 3.937 100 1.433 36.4 1.906 48.4 1.786 0.81 9800 43500 6600 29000

GRA 203 NPPB 2–3/16 2.1875 55.562 0.984 25 3.937 100 1.433 36.4 1.906 48.4 1.786 0.81 9800 43500 6600 29000

GRAE 60 NPPB – 2.3622 60 0.945 24 4.331 110 1.559 39.6 2.091 53.1 3.087 1.4 11800 52000 8100 36000

GRA 207 NPPB 2–7/16 2.4375 61.912 0.945 24 4.331 110 1.559 39.6 2.091 53.1 3.087 1.4 11800 52000 8100 36000



Radial Insert Ball Bearings
GAY..NPPB SERIES
� Spherical OD
� Set screw locking
� Economy P seals
� Inch and metric setscrews

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

201

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

B

inch

B

mm

D

inch

D

mm

O

inch

O

mm

L

inch

L

mm

WGT.

lbs

WGT.

kg

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

GAY008 NPPB 1/2 0.500 12.7 0.472 12 1.575 40 0.630 16 0.866 22 0.221 0.1 2150 9600 1070 4750

GAY15 NPPB – 0.591 15 0.472 12 1.575 40 0.630 16 0.866 22 0.198 0.09 2150 9600 1070 4750

GAY010 NPPB 5/8 0.625 15.875 0.472 12 1.575 40 0.630 16 0.866 22 0.198 0.09 2150 9600 1070 4750

GAY17 NPPB – 0.669 17 0.472 12 1.575 40 0.630 16 0.866 22 0.176 0.08 2150 9600 1070 4750

GAY012 NPPB 3/4 0.750 19.05 0.551 14 1.850 47 0.709 18 0.984 25 0.287 0.13 2900 12800 1480 6600

GAY20 NPPB – 0.787 20 0.551 14 1.850 47 0.709 18 0.984 25 0.287 0.13 2900 12800 1480 6600

GAY014 NPPB 7/8 0.875 22.225 0.591 15 2.047 52 0.768 19.5 1.063 27 0.353 0.16 3150 14000 1760 7800

GAY25 NPPB – 0.984 25 0.591 15 2.047 52 0.768 19.5 1.063 27 0.353 0.16 3150 14000 1760 7800

GAY100 NPPB 1 1.000 25.4 0.591 15 2.047 52 0.768 19.5 1.063 27 0.353 0.16 3150 14000 1760 7800

GAY30 NPPB – 1.181 30 0.709 18 2.441 62 0.827 21 1.181 30 0.551 0.25 4350 19500 2550 11300

GAY103 NPPB 1–3/16 1.188 30.162 0.709 18 2.441 62 0.827 21 1.181 30 0.551 0.25 4350 19500 2550 11300

GAY104 NPPB 1–1/4 1.250 31.75 0.748 19 2.835 72 1.004 25.5 1.378 35 0.86 0.39 5800 25500 3450 15300

GAY35 NPPB – 1.378 35 0.748 19 2.835 72 1.004 25.5 1.378 35 0.86 0.39 5800 25500 3450 15300

GAY107 NPPB 1–7/16 1.438 36.512 0.748 19 2.835 72 1.004 25.5 1.378 35 0.86 0.39 5800 25500 3450 15300

GAY108 NPPB 1–1/2 1.500 38.1 0.827 21 3.150 80 1.142 29 1.555 39.5 1.125 0.51 7300 32500 4450 19800

GAY40 NPPB – 1.575 40 0.827 21 3.150 80 1.142 29 1.555 39.5 1.125 0.51 7300 32500 4450 19800

GAY112 NPPB 1–3/4 1.750 44.45 0.866 22 3.347 85 1.201 30.5 1.634 41.5 1.213 0.55 7400 32500 4600 20400

GAY45 NPPB – 1.772 45 0.866 22 3.347 85 1.201 30.5 1.634 41.5 1.213 0.55 7400 32500 4600 20400

GAY115 NPPB 1–15/16 1.938 49.212 0.866 22 3.543 90 1.260 32 1.693 43 1.367 0.62 7900 35000 5200 23200

GAY50 NPPB – 1.969 50 0.866 22 3.543 90 1.260 32 1.693 43 1.367 0.62 7900 35000 5200 23200



Radial Insert Ball Bearings
GE..KRRB, G1..KRRB SERIES
� Spherical OD
� Eccentric locking collar
� Standard R seals
� Inch and metric setscrews

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

202

PART
NUMBERlbs

SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

B

inch

B

mm

D

inch

D

mm

O

inch

O

mm

L

inch

L

mm

WGT.

lbs

WGT.

kg

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

G1008 KRRB 1/2 0.5 12.7 0.472 12 1.575 40 0.921 23.4 1.469 37.3 0.375 0.17 2150 9600 1070 4750

GE15 KRRB – 0.591 15 0.472 12 1.575 40 0.921 23.4 1.469 37.3 0.353 0.16 2150 9600 1070 4750

G1010 KRRB 5/8 0.625 15.875 0.472 12 1.575 40 0.921 23.4 1.469 37.3 0.353 0.16 2150 9600 1070 4750

GE17 KRRB 3/4 0.75 19.05 0.551 14 1.850 47 0.921 23.4 1.469 37.3 0.353 0.16 2150 9600 1070 4750

GE20 KRRB – 0.787 20 0.551 14 1.850 47 1.047 26.6 1.721 43.7 0.441 0.2 2900 12800 1480 6600

G1014 KRRB 7/8 0.875 22.225 0.591 15 2.047 52 1.059 26.9 1.748 44.4 0.551 0.25 3150 14000 1760 7800

G1015 KRRB 15/16 0.938 23.813 0.591 15 2.047 52 1.059 26.9 1.748 44.4 0.551 0.25 3150 14000 1760 7800

GE25 KRRB – 0.984 25 0.591 15 2.047 52 1.059 26.9 1.748 44.4 0.551 0.25 3150 14000 1760 7800

G1100 KRRB 1 1 25.4 0.591 15 2.047 52 1.059 26.9 1.748 44.4 0.551 0.25 3150 14000 1760 7800

G1102 KRRB 1–1/8 1.125 28.575 0.709 18 2.441 62 1.185 30.1 1.906 48.4 0.838 0.38 4350 19500 2550 11300

GE30 KRRB – 1.181 30 0.709 18 2.441 62 1.185 30.1 1.906 48.4 0.838 0.38 4350 19500 2550 11300

G1103 KRRB 1–3/16 1.188 30.162 0.709 18 2.441 62 1.185 30.1 1.906 48.4 0.838 0.38 4350 19500 2550 11300

G1104 KRRB 1–1/4 1.25 31.75 0.748 19 2.835 72 1.272 32.3 2.012 51.1 1.213 0.55 5800 25500 3450 15300

G1106 KRRB 1–3/8 1.375 34.925 0.748 19 2.835 72 1.272 32.3 2.012 51.1 1.213 0.55 5800 25500 3450 15300

GE35 KRRB – 1.378 35 0.748 19 2.835 72 1.272 32.3 2.012 51.1 1.213 0.55 5800 25500 3450 15300

G1107 KRRB 1–7/16 1.438 36.512 0.748 19 2.835 72 1.272 32.3 2.012 51.1 1.213 0.55 5800 25500 3450 15300

G1108 KRRB 1–1/2 1.5 38.1 0.827 21 3.150 80 1.374 34.9 2.217 56.3 1.632 0.74 7300 32500 4450 19800

GE40 KRRB – 1.575 40 0.827 21 3.150 80 1.374 34.9 2.217 56.3 1.632 0.74 7300 32500 4450 19800

G1110 KRRB 1–5/8 1.625 41.275 0.866 22 3.347 85 1.374 34.9 2.217 56.3 1.786 0.81 7400 32500 4600 20400

G1111 KRRB 1–11/16 1.688 42.8625 0.866 22 3.347 85 1.374 34.9 2.217 56.3 1.786 0.81 7400 32500 4600 20400

G1112 KRRB 1–3/4 1.75 44.45 0.866 22 3.347 85 1.374 34.9 2.217 56.3 1.786 0.81 7400 32500 4600 20400

GE45 KRRB – 1.772 45 0.866 22 3.347 85 1.374 34.9 2.217 56.3 1.786 0.81 7400 32500 4600 20400

G1115 KRRB 1–15/16 1.938 49.212 0.866 22 3.543 90 1.5 38.1 2.469 62.7 2.205 1 7900 35000 5200 23200

GE50 KRRB – 1.969 50 0.866 22 3.543 90 1.5 38.1 2.469 62.7 2.205 1 7900 35000 5200 23200

G1200 KRRB 2 2 50.8 0.984 25 3.937 100 1.717 43.6 2.811 71.4 3.087 1.4 9800 43500 6600 29000

G1203 KRRB 2–3/16 2.188 55.562 0.984 25 3.937 100 1.717 43.6 2.811 71.4 3.131 1.42 9800 43500 6600 29000

GE60 KRRB – 2.362 60 0.945 24 4.331 110 1.843 46.8 3.063 77.8 4.057 1.84 11800 52000 8100 36000

G1207 KRRB 2–7/16 2.438 61.912 0.945 24 4.331 110 1.843 46.8 3.063 77.8 4.057 1.84 11800 52000 8100 36000



Radial Insert Ball Bearings
GYE..KRRB, GY1..KRRB SERIES
� Spherical OD
� Set screw locking
� Standard R seals
� Inch and metric setscrews

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

203

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

B

inch

B

mm

D

inch

D

mm

O

inch

O

mm

L

inch

L

mm

WGT.

lbs

WGT.

kg

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

GY1008 KRRB 1/2 0.5 12.7 0.472 12 1.575 40 0.626 15.9 1.079 27.4 0.243 0.11 2150 9600 1070 4750

GYE15 KRRB – 0.591 15 0.472 12 1.575 40 0.626 15.9 1.079 27.4 0.243 0.11 2150 9600 1070 4750

GY1010 KRRB 5/8 0.625 15.875 0.472 12 1.575 40 0.626 15.9 1.079 27.4 0.221 0.1 2150 9600 1070 4750

GYE17 KRRB – 0.669 17 0.472 12 1.575 40 0.626 15.9 1.079 27.4 0.198 0.09 2150 9600 1070 4750

GY1012 KRRB 3/4 0.75 19.05 0.551 14 1.850 47 0.721 18.3 1.221 31 0.375 0.17 2900 12800 1480 6600

GYE20 KRRB – 0.787 20 0.551 14 1.850 47 0.721 18.3 1.221 31 0.375 0.17 2900 12800 1480 6600

GY1014 KRRB 7/8 0.875 22.225 0.591 15 2.047 52 0.780 19.8 1.343 34.1 0.441 0.2 3150 14000 1760 7800

GY1015 KRRB 15/16 0.938 23.813 0.591 15 2.047 52 0.780 19.8 1.343 34.1 0.419 0.19 3150 14000 1760 7800

GYE25 KRRB – 0.984 25 0.591 15 2.047 52 0.780 19.8 1.343 34.1 0.441 0.2 3150 14000 1760 7800

GY1100 KRRB 1 1 25.4 0.591 15 2.047 52 0.780 19.8 1.343 34.1 0.441 0.2 3150 14000 1760 7800

GY1102 KRRB 1–1/8 1.125 28.575 0.709 18 2.441 62 0.874 22.2 1.5 38.1 0.728 0.33 4350 19500 2550 11300

GYE30 KRRB – 1.181 30 0.709 18 2.441 62 0.874 22.2 1.5 38.1 0.728 0.33 4350 19500 2550 11300

GY1103 KRRB 1–3/16 1.188 30.162 0.709 18 2.441 62 0.874 22.2 1.5 38.1 0.728 0.33 4350 19500 2550 11300

GY1104 KRRB–206 1–1/4 1.25 31.75 0.709 18 2.441 62 0.874 22.2 1.5 38.1 0.728 0.33 4350 19500 2550 11300

GY1104 KRRB 1–1/4 1.25 31.75 0.748 19 2.835 72 1 25.4 1.689 42.9 1.08 0.49 5800 25500 3450 15300

GY1106 KRRB 1–3/8 1.375 34.925 0.748 19 2.835 72 1 25.4 1.689 42.9 1.08 0.49 5800 25500 3450 15300

GYE35 KRRB – 1.378 35 0.748 19 2.835 72 1 25.4 1.689 42.9 1.08 0.49 5800 25500 3450 15300

GY1107 KRRB 1–7/16 1.438 36.512 0.748 19 2.835 72 1 25.4 1.689 42.9 0.948 0.43 5800 25500 3450 15300

GY1108 KRRB 1–1/2 1.5 38.1 0.827 21 3.150 80 1.189 30.2 1.937 49.2 1.433 0.65 7300 32500 4450 19800

GYE40 KRRB – 1.575 40 0.827 21 3.150 80 1.189 30.2 1.937 49.2 1.433 0.65 7300 32500 4450 19800

GY1110 KRRB 1–5/8 1.625 41.275 0.866 22 3.347 85 1.189 30.2 1.937 49.2 1.61 0.73 7400 32500 4600 20400

GY1111 KRRB 1–11/16 1.688 42.863 0.866 22 3.347 85 1.189 30.2 1.937 49.2 1.61 0.73 7400 32500 4600 20400

GY1112 KRRB 1–3/4 1.75 44.45 0.866 22 3.347 85 1.189 30.2 1.937 49.2 1.544 0.7 7400 32500 4600 20400

GYE45 KRRB – 1.772 45 0.866 22 3.347 85 1.189 30.2 1.937 49.2 1.544 0.7 7400 32500 4600 20400

GY1115 KRRB 1–15/16 1.938 49.212 0.866 22 3.543 90 1.284 32.6 2.032 51.6 1.764 0.8 7900 35000 5200 23200

GYE50 KRRB – 1.969 50 0.866 22 3.543 90 1.284 32.6 2.032 51.6 1.764 0.8 7900 35000 5200 23200

GY1200 KRRB 2 2 50.8 0.984 25 3.937 100 1.315 33.4 2.189 55.6 2.426 1.1 9800 43500 6600 29000

GY1203 KRRB 2–3/16 2.188 55.562 0.984 25 3.937 100 1.315 33.4 2.189 55.6 2.426 1.1 9800 43500 6600 29000

GYE60 KRRB – 2.362 60 0.945 24 4.331 110 1.563 39.7 2.563 65.1 2.911 1.32 11800 52000 8100 36000

GY1207 KRRB 2–7/16 2.438 61.912 0.945 24 4.331 110 1.563 39.7 2.563 65.1 2.911 1.32 11800 52000 8100 36000



Pillow Block Housings
PASE SERIES
� Standard center height
� Eccentric locking collar
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

204

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

M

inch

M

mm

M1

inch

M1

mm

K

inch

K

mm

WGT.

lbs

WGT.

kg

W

inch

W

mm

PASE 1/2 1/2 0.500 12.7 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PASE 15 – 0.591 15 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PASE 5/8 5/8 0.625 15.875 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PASE 17 – 0.669 17 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PASE 3/4 3/4 0.750 19.05 1.311 33.3 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

PASE 20 – 0.787 20 1.311 33.3 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

PASE 7/8 7/8 0.875 22.225 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

PASE 25 – 0.984 25 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

PASE 1 1 1.000 25.4 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

PASE 1–1/16 1–1/16 1.063 26.988 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

PASE 1–1/8 1–1/8 1.125 28.575 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

PASE 30 – 1.181 30 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

PASE 1–3/16 1–3/16 1.188 30.162 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

PASE 1–1/4–206 1–1/4–206 1.250 31.75 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

PASE 1–1/4 1–1/4 1.250 31.75 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PASE 1–3/8 1–3/8 1.375 34.925 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PASE 35 – 1.378 35 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PASE 1–7/16 1–7/16 1.438 36.512 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PASE 1–1/2 1–1/2 1.500 38.1 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

PASE 40 – 1.575 40 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

PASE 1–3/4 1–3/4 1.750 44.45 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

PASE 45 – 1.772 45 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

PASE 1–15/16 1–15/16 1.938 49.212 2.252 57.2 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

PASE 50 – 1.969 50 2.252 57.2 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

PASE 2 2 2.000 50.8 2.500 63.5 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

PASE 2–3/16 2–3/16 2.188 55.562 2.500 63.5 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

PASE 60 – 2.362 60 2.752 69.9 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245

PASE 2–7/16 2–7/16 2.438 61.912 2.752 69.9 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245



Pillow Block Housings
PASE SERIES
� Standard center height
� Eccentric locking collar
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

205

B

inch

B

mm

H

inch

H

mm

C

inch

C

mm

O

inch

O

mm

L

inch

L

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

1.260 32 2.284 58 0.551 14 0.870 22.1 1.126 28.6 GRA 008 NPPB ASE 03 2150 9600 1070 4750 PASE 1/2

1.260 32 2.284 58 0.551 14 0.870 22.1 1.126 28.6 GRAE 15 NPPB ASE 03 2150 9600 1070 4750 PASE 15

1.260 32 2.284 58 0.551 14 0.870 22.1 1.126 28.6 GRA 010 NPPB ASE 03 2150 9600 1070 4750 PASE 5/8

1.260 32 2.284 58 0.551 14 0.870 22.1 1.126 28.6 GRAE 17 NPPB ASE 03 2150 9600 1070 4750 PASE 17

1.260 32 2.532 64.3 0.571 14.5 0.925 23.5 1.221 31 GRA 012 NPPB ASE 04 2900 12800 1480 6600 PASE 3/4

1.260 32 2.532 64.3 0.571 14.5 0.925 23.5 1.221 31 GRAE 20 NPPB ASE 04 2900 12800 1480 6600 PASE 20

1.457 37 2.813 71.4375 0.610 15.5 0.925 23.5 1.221 31 GRA 014 NPPB ASE 05 3150 14000 1760 7800 PASE 7/8

1.457 37 2.813 71.4375 0.610 15.5 0.925 23.5 1.221 31 GRAE 25 NPPB ASE 05 3150 14000 1760 7800 PASE 25

1.457 37 2.813 71.4375 0.610 15.5 0.925 23.5 1.221 31 GRA 100 NPPB ASE 05 3150 14000 1760 7800 PASE 1

1.673 42.5 3.284 83.4 0.709 18 1.051 26.7 1.406 35.7 GRA 101 NPPB ASE 06 4350 19500 2550 11300 PASE 1–1/16

1.673 42.5 3.284 83.4 0.709 18 1.051 26.7 1.406 35.7 GRA 102 NPPB ASE 06 4350 19500 2550 11300 PASE 1–1/8

1.673 42.5 3.284 83.4 0.709 18 1.051 26.7 1.406 35.7 GRAE 30 NPPB ASE 06 4350 19500 2550 11300 PASE 30

1.673 42.5 3.284 83.4 0.709 18 1.051 26.7 1.406 35.7 GRA 103 NPPB ASE 06 4350 19500 2550 11300 PASE 1–3/16

1.673 42.5 3.284 83.4 0.709 18 1.051 26.7 1.406 35.7 GRA 104
NPPB–206

ASE 06 4350 19500 2550 11300 PASE 1–1/4–206

1.831 46.5 3.689 93.7 0.748 19 1.158 29.4 1.532 38.9 GRA 104 NPPB ASE 07 5800 25500 3450 15300 PASE 1–1/4

1.831 46.5 3.689 93.7 0.748 19 1.158 29.4 1.532 38.9 GRA 106 NPPB ASE 07 5800 25500 3450 15300 PASE 1–3/8

1.831 46.5 3.689 93.7 0.748 19 1.158 29.4 1.532 38.9 GRAE 35 NPPB ASE 07 5800 25500 3450 15300 PASE 35

1.831 46.5 3.689 93.7 0.748 19 1.158 29.4 1.532 38.9 GRA 107 NPPB ASE 07 5800 25500 3450 15300 PASE 1–7/16

1.969 50 3.937 100 0.787 20 1.287 32.7 1.721 43.7 GRA 108 NPPB ASE 08 7300 32500 4450 19800 PASE 1–1/2

1.969 50 3.937 100 0.787 20 1.287 32.7 1.721 43.7 GRAE 40 NPPB ASE 08 7300 32500 4450 19800 PASE 40

2.039 51.8 4.213 107 0.866 22 1.287 32.7 1.721 43.7 GRA 112 NPPB ASE 09 7400 32500 4600 20400 PASE 1–3/4

2.039 51.8 4.213 107 0.866 22 1.287 32.7 1.721 43.7 GRAE 45 NPPB ASE 09 7400 32500 4600 20400 PASE 45

2.244 57 4.606 117 0.866 22 1.287 32.7 1.721 43.7 GRA 115 NPPB ASE 10 7900 35000 5200 23200 PASE 1–15/16

2.244 57 4.606 117 0.866 22 1.287 32.7 1.721 43.7 GRAE 50 NPPB ASE 10 7900 35000 5200 23200 PASE 50

2.461 62.5 4.980 126.5 0.984 25 1.433 36.4 1.906 48.4 GRA 200 NPPB ASE 11 9800 43500 6600 29000 PASE 2

2.461 62.5 4.980 126.5 0.984 25 1.433 36.4 1.906 48.4 GRA 203 NPPB ASE 11 9800 43500 6600 29000 PASE 2–3/16

2.559 65 5.512 140 1.102 28 1.559 39.6 2.091 53.1 GRAE 60 NPPB ASE 12 11800 52000 8100 36000 PASE 60

2.559 65 5.512 140 1.102 28 1.559 39.6 2.091 53.1 GRA 207 NPPB ASE 12 11800 52000 8100 36000 PASE 2–7/16



Pillow Block Housings
PASEY SERIES
� Standard center height
� Set screw shaft locking
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

206

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

M

inch

M

mm

M1

inch

M1

mm

K

inch

K

mm

WGT.

lbs

WGT.

kg

W

inch

W

mm

PASEY 1/2 1/2 0.500 12.7 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PASEY 15 – 0.591 15 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PASEY 5/8 5/8 0.625 15.875 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PASEY 17 – 0.669 17 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PASEY 3/4 3/4 0.750 19.05 1.311 33.3 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

PASEY 20 – 0.787 20 1.311 33.3 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

PASEY 7/8 7/8 0.875 22.225 1.438 36.5125 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

PASEY 25 – 0.984 25 1.438 36.5125 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

PASEY 1 1 1.000 25.4 1.438 36.5125 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

PASEY 30 – 1.181 30 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

PASEY 1–3/16 1–3/16 1.188 30.162 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

PASEY 1–1/4 1–1/4 1.250 31.75 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PASEY 35 – 1.378 35 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PASEY 1–7/16 1–7/16 1.438 36.512 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PASEY 1–1/2 1–1/2 1.500 38.1 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

PASEY 40 – 1.575 40 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

PASEY 1–3/4 1–3/4 1.750 44.45 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

PASEY 45 – 1.772 45 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

PASEY 1–15/16 1–15/16 1.938 49.212 2.252 57.2 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

PASEY 50 – 1.969 50 2.252 57.2 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5



Pillow Block Housings
PASEY SERIES
� Standard center height
� Set screw shaft locking
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

vvv

207

B

inch

B

mm

H

inch

H

mm

C

inch

C

mm

O

inch

O

mm

L

inch

L

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

1.260 32 2.284 58 0.551 14 0.630 16 0.866 22 GAY008 NPPB ASE 03 2150 9600 1070 4750 PASEY 1/2

1.260 32 2.284 58 0.551 14 0.630 16 0.866 22 GAY15 NPPB ASE 03 2150 9600 1070 4750 PASEY 15

1.260 32 2.284 58 0.551 14 0.630 16 0.866 22 GAY010 NPPB ASE 03 2150 9600 1070 4750 PASEY 5/8

1.260 32 2.284 58 0.551 14 0.630 16 0.866 22 GAY17 NPPB ASE 03 2150 9600 1070 4750 PASEY 17

1.260 32 2.532 64.3 0.571 14.5 0.709 18 0.984 25 GAY012 NPPB ASE 04 2900 12800 1480 6600 PASEY 3/4

1.260 32 2.532 64.3 0.571 14.5 0.709 18 0.984 25 GAY20 NPPB ASE 04 2900 12800 1480 6600 PASEY 20

1.457 37 2.813 71.4375 0.610 15.5 0.768 19.5 1.063 27 GAY014 NPPB ASE 05 3150 14000 1760 7800 PASEY 7/8

1.457 37 2.813 71.4375 0.610 15.5 0.768 19.5 1.063 27 GAY25 NPPB ASE 05 3150 14000 1760 7800 PASEY 25

1.457 37 2.813 71.4375 0.610 15.5 0.768 19.5 1.063 27 GAY100 NPPB ASE 05 3150 14000 1760 7800 PASEY 1

1.673 42.5 3.284 83.4 0.709 18 0.827 21 1.181 30 GAY30 NPPB ASE 06 4350 19500 2550 11300 PASEY 30

1.673 42.5 3.284 83.4 0.709 18 0.827 21 1.181 30 GAY103 NPPB ASE 06 4350 19500 2550 11300 PASEY 1–3/16

1.831 46.5 3.689 93.7 0.748 19 1.004 25.5 1.378 35 GAY104 NPPB ASE 07 5800 25500 3450 15300 PASEY 1–1/4

1.831 46.5 3.689 93.7 0.748 19 1.004 25.5 1.378 35 GAY35 NPPB ASE 07 5800 25500 3450 15300 PASEY 35

1.831 46.5 3.689 93.7 0.748 19 1.004 25.5 1.378 35 GAY107 NPPB ASE 07 5800 25500 3450 15300 PASEY 1–7/16

1.969 50 3.937 100 0.787 20 1.142 29 1.555 39.5 GAY108 NPPB ASE 08 7300 32500 4450 19800 PASEY 1–1/2

1.969 50 3.937 100 0.787 20 1.142 29 1.555 39.5 GAY40 NPPB ASE 08 7300 32500 4450 19800 PASEY 40

2.039 51.8 4.213 107 0.866 22 1.201 30.5 1.634 41.5 GAY112 NPPB ASE 09 7400 32500 4600 20400 PASEY 1–3/4

2.039 51.8 4.213 107 0.866 22 1.201 30.5 1.634 41.5 GAY45 NPPB ASE 09 7400 32500 4600 20400 PASEY 45

2.244 57 4.606 117 0.866 22 1.260 32 1.693 43 GAY115 NPPB ASE 10 7900 35000 5200 23200 PASEY 1–15/16

2.244 57 4.606 117 0.866 22 1.260 32 1.693 43 GAY50 NPPB ASE 10 7900 35000 5200 23200 PASEY 50



Pillow Block Housings
PAK SERIES
� Low center height
� Eccentric locking collar
� Economy P seals
� Inch and metric sizes
� Sets screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

208

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

M

inch

M

mm

M1

inch

M1

mm

K

inch

K

mm

WGT.

lbs

WGT.

kg

W

inch

W

mm

PAK 1/2 1/2 0.500 12.7 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PAK 15 – 0.591 15 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PAK 5/8 5/8 0.025 0.625 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PAK 17 – 0.669 17 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PAK 3/4 3/4 0.750 19.05 1.252 31.8 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

PAK 20 – 0.787 20 1.252 31.8 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

PAK 7/8 7/8 0.875 22.225 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

PAK 25 – 0.984 25 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

PAK 1 1 1.000 25.4 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

PAK 1–1/16 1–1/16 1.063 26.988 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.188 157.16

PAK 1–1/8 1–1/8 1.125 28.575 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.188 157.16

PAK 30 – 1.181 30 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.188 157.16

PAK 1–3/16 1–3/16 1.188 30.162 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.188 157.16

PAK 1–1/4–206 1–1/4–206 1.250 31.75 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.188 157.16

PAK 1–1/4 1–1/4 1.250 31.75 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PAK 1–3/8 1–3/8 1.375 34.925 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PAK 35 – 1.378 35 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PAK 1–7/16 1–7/16 1.438 36.512 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PAK 1–1/2 1–1/2 1.500 38.1 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

PAK 40 – 1.575 40 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

PAK 1–3/4 1–3/4 1.750 44.45 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

PAK 45 – 1.772 45 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

PAK 1–15/16 1–15/16 1.938 49.212 2.189 55.6 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

PAK 50 – 1.969 50 2.189 55.6 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

PAK 2 2 2.000 50.8 2.437 61.9 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

PAK 2–3/16 2–3/16 2.188 55.562 2.437 61.9 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

PAK 60 – 2.362 60 2.689 68.3 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245

PAK 2–7/16 2–7/16 2.438 61.912 2.689 68.3 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245



Pillow Block Housings
PAK SERIES
� Low center height
� Eccentric locking collar
� Economy P seals
� Inch and metric sizes
� Sets screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

209

B

inch

B

mm

H

inch

H

mm

C

inch

C

mm

O

inch

O

mm

L

inch

L

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

1.260 32 2.158 54.8 0.425 10.8 0.870 22.1 1.126 28.6 GRA008 NPPB AK03 2150 9600 1070 4750 PAK 1/2

1.260 32 2.158 54.8 0.425 10.8 0.870 22.1 1.126 28.6 GRAE15 NPPB AK03 2150 9600 1070 4750 PAK 15

1.260 32 2.158 54.8 0.425 10.8 0.870 22.1 1.126 28.6 GRA010 NPPB AK03 2150 9600 1070 4750 PAK 5/8

1.260 32 2.158 54.8 0.425 10.8 0.870 22.1 1.126 28.6 GRAE17 NPPB AK03 2150 9600 1070 4750 PAK 17

1.260 32 2.472 62.8 0.512 13 0.925 23.5 1.221 31 GRA012 NPPB AK04 2900 12800 1480 6600 PAK 3/4

1.260 32 2.472 62.8 0.512 13 0.925 23.5 1.221 31 GRAE20 NPPB AK04 2900 12800 1480 6600 PAK 20

1.457 37 2.688 68.263 0.563 14.288 0.925 23.5 1.221 31 GRA014 NPPB AK05 3150 14000 1760 7800 PAK 7/8

1.457 37 2.688 68.263 0.563 14.288 0.925 23.5 1.221 31 GRAE25 NPPB AK05 3150 14000 1760 7800 PAK 25

1.457 37 2.688 68.263 0.563 14.288 0.925 23.5 1.221 31 GRA100 NPPB AK05 3150 14000 1760 7800 PAK 1

1.634 41.5 3.169 80.5 0.669 17 1.051 26.7 1.406 35.7 GRA101 NPPB AK06 4350 19500 2550 11300 PAK 1–1/16

1.634 41.5 3.169 80.5 0.669 17 1.051 26.7 1.406 35.7 GRA102 NPPB AK06 4350 19500 2550 11300 PAK 1–1/8

1.634 41.5 3.169 80.5 0.669 17 1.051 26.7 1.406 35.7 GRAE30 NPPB AK06 4350 19500 2550 11300 PAK 30

1.634 41.5 3.169 80.5 0.669 17 1.051 26.7 1.406 35.7 GRA103 NPPB AK06 4350 19500 2550 11300 PAK 1–3/16

1.634 41.5 3.169 80.5 0.669 17 1.051 26.7 1.406 35.7 GRA104 NPPB AK06 4350 19500 2550 11300 PAK 1–1/4–206

1.831 46.5 3.626 92.1 0.685 17.4 1.158 29.4 1.532 38.9 GRA104 NPPB AK07 5800 25500 3450 15300 PAK 1–1/4

1.831 46.5 3.626 92.1 0.685 17.4 1.158 29.4 1.532 38.9 GRA106 NPPB AK07 5800 25500 3450 15300 PAK 1–3/8

1.831 46.5 3.626 92.1 0.685 17.4 1.158 29.4 1.532 38.9 GRAE35 NPPB AK07 5800 25500 3450 15300 PAK 35

1.831 46.5 3.626 92.1 0.685 17.4 1.158 29.4 1.532 38.9 GRA107 NPPB AK07 5800 25500 3450 15300 PAK 1–7/16

1.969 50 3.937 100 0.787 20 1.287 32.7 1.721 43.7 GRA108 NPPB AK08 7300 32500 4450 19800 PAK 1–1/2

1.969 50 3.937 100 0.787 20 1.287 32.7 1.721 43.7 GRAE40 NPPB AK08 7300 32500 4450 19800 PAK 40

2.028 51.5 4.150 105.4 0.803 20.4 1.287 32.7 1.721 43.7 GRA112 NPPB AK09 7400 32500 4600 20400 PAK 1–3/4

2.028 51.5 4.150 105.4 0.803 20.4 1.287 32.7 1.721 43.7 GRAE45 NPPB AK09 7400 32500 4600 20400 PAK 45

2.244 57 4.543 115.4 0.803 20.4 1.287 32.7 1.721 43.7 GRA115 NPPB AK10 7900 35000 5200 23200 PAK 1–15/16

2.244 57 4.543 115.4 0.803 20.4 1.287 32.7 1.721 43.7 GRAE50 NPPB AK10 7900 35000 5200 23200 PAK 50

2.461 62.5 4.917 124.9 0.921 23.4 1.433 36.4 1.906 48.4 GRA200 NPPB AK11 9800 43500 6600 29000 PAK 2

2.461 62.5 4.917 124.9 0.921 23.4 1.433 36.4 1.906 48.4 GRA203 NPPB AK11 9800 43500 6600 29000 PAK 2–3/16

2.559 65 5.449 138.4 1.039 26.4 1.559 39.6 2.091 53.1 GRAE60 NPPB AK12 11800 52000 8100 36000 PAK 60

2.559 65 5.449 138.4 1.039 26.4 1.559 39.6 2.091 53.1 GRA207 NPPB AK12 11800 52000 8100 36000 PAK 2–7/16



Pillow Block Housings
PAKY SERIES
� Low center height
� Set screw shaft locking
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

210

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

M

inch

M

mm

M1

inch

M1

mm

K

inch

K

mm

WGT.

lbs

WGT.

kg

W

inch

W

mm

PAKY 1/2 1/2 0.500 12.7 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PAKY 15 – 0.591 15 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PAKY 5/8 5/8 0.625 15.875 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PAKY 17 – 0.669 17 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

PAKY 3/4 3/4 0.750 19.05 1.252 31.8 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

PAKY 20 – 0.787 20 1.252 31.8 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

PAKY 7/8 7/8 0.875 22.225 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

PAKY 25 – 0.984 25 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

PAKY 1 1 1.000 25.4 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

PAKY 30 – 1.181 30 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.188 157.16

PAKY 1–3/16 1–3/16 1.188 30.162 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.188 157.16

PAKY 1–1/4 1–1/4 1.250 31.75 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PAKY 35 – 1.378 35 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PAKY 1–7/16 1–7/16 1.438 36.512 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

PAKY 1–1/2 1–1/2 1.500 38.1 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

PAKY 40 – 1.575 40 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

PAKY 1–3/4 1–3/4 1.750 44.45 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

PAKY 45 – 1.772 45 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

PAKY 1–15/16 1–15/16 1.938 49.212 2.189 55.6 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

PAKY 50 – 1.969 50 2.189 55.6 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5



Pillow Block Housings
PAKY SERIES
� Low center height
� Set screw shaft locking
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

211

B

inch

B

mm

H

inch

H

mm

C

inch

C

mm

O

inch

O

mm

L

inch

L

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

1.260 32 2.158 54.8 0.425 10.8 0.630 16 0.866 22 GAY008 NPPB AK 03 2150 9600 1070 4750 PAKY 1/2

1.260 32 2.158 54.8 0.425 10.8 0.630 16 0.866 22 GAY15 NPPB AK 03 2150 9600 1070 4750 PAKY 15

1.260 32 2.158 54.8 0.425 10.8 0.630 16 0.866 22 GAY010 NPPB AK 03 2150 9600 1070 4750 PAKY 5/8

1.260 32 2.158 54.8 0.425 10.8 0.630 16 0.866 22 GAY17 NPPB AK 03 2150 9600 1070 4750 PAKY 17

1.260 32 2.472 62.8 0.512 13 0.709 18 0.984 25 GAY012 NPPB AK 04 2900 12800 1480 6600 PAKY 3/4

1.260 32 2.472 62.8 0.512 13 0.709 18 0.984 25 GAY20 NPPB AK 04 2900 12800 1480 6600 PAKY 20

1.457 37 2.688 68.262 0.563 14.287 0.768 19.5 1.063 27 GAY014 NPPB AK 05 3150 14000 1760 7800 PAKY 7/8

1.457 37 2.688 68.262 0.563 14.287 0.768 19.5 1.063 27 GAY25 NPPB AK 05 3150 14000 1760 7800 PAKY 25

1.457 37 2.688 68.262 0.563 14.287 0.768 19.5 1.063 27 GAY100 NPPB AK 05 3150 14000 1760 7800 PAKY 1

1.634 41.5 3.169 80.5 0.669 17 0.827 21 1.181 30 GAY30 NPPB AK 06 4350 19500 2550 11300 PAKY 30

1.634 41.5 3.169 80.5 0.669 17 0.827 21 1.181 30 GAY103 NPPB AK 06 4350 19500 2550 11300 PAKY 1–3/16

1.831 46.5 3.626 92.1 0.685 17.4 1.004 25.5 1.378 35 GAY104 NPPB AK 07 5800 25500 3450 15300 PAKY 1–1/4

1.831 46.5 3.626 92.1 0.685 17.4 1.004 25.5 1.378 35 GAY35 NPPB AK 07 5800 25500 3450 15300 PAKY 35

1.831 46.5 3.626 92.1 0.685 17.4 1.004 25.5 1.378 35 GAY107 NPPB AK 07 5800 25500 3450 15300 PAKY 1–7/16

1.969 50 3.937 100 0.787 20 1.142 29 1.555 39.5 GAY108 NPPB AK 08 7300 32500 4450 19800 PAKY 1–1/2

1.969 50 3.937 100 0.787 20 1.142 29 1.555 39.5 GAY40 NPPB AK 08 7300 32500 4450 19800 PAKY 40

2.028 51.5 4.150 105.4 0.803 20.4 1.201 30.5 1.634 41.5 GAY112 NPPB AK 09 7400 32500 4600 20400 PAKY 1–3/4

2.028 51.5 4.150 105.4 0.803 20.4 1.201 30.5 1.634 41.5 GAY45 NPPB AK 09 7400 32500 4600 20400 PAKY 45

2.244 57 4.543 115.4 0.803 20.4 1.260 32 1.693 43 GAY115 NPPB AK 10 7900 35000 5200 23200 PAKY 1–15/16

2.244 57 4.543 115.4 0.803 20.4 1.260 32 1.693 43 GAY50 NPPB AK 10 7900 35000 5200 23200 PAKY 50



Pillow Block Housings
RASE SERIES
� Standard center height
� Eccentric locking collar
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

212

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

M

inch

M

mm

M1

inch

M1

mm

K

inch

K

mm

WGT.

lbs

WGT.

kg

W

inch

W

mm

RASE 1/2 1/2 0.500 12.7 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RASE 15 – 0.591 15 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RASE 5/8 5/8 0.625 15.875 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RASE 3/4 3/4 0.750 19.05 1.311 33.3 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

RASE 20 – 0.787 20 1.311 33.3 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

RASE 7/8 7/8 0.875 22.225 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

RASE 15/16 15/16 0.938 23.813 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

RASE 25 – 0.984 25 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

RASE 1 1 1.000 25.4 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

RASE 1–1/8 1–1/8 1.125 28.575 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

RASE 30 – 1.181 30 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

RASE 1–3/16 1–3/16 1.188 30.162 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

RASE 1–1/4 1–1/4 1.250 31.75 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RASE 1–3/8 1–3/8 1.375 34.925 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RASE 35 – 1.378 35 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RASE 1–7/16 1–7/16 1.438 36.512 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RASE 1–1/2 1–1/2 1.500 38.1 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

RASE 40 – 1.575 40 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

RASE 1–5/8 1–5/8 1.625 41.275 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RASE 1–11/16 1–11/16 1.688 42.863 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RASE 1–3/4 1–3/4 1.750 44.45 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RASE 45 – 1.772 45 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RASE 1–15/16 1–15/16 1.938 49.212 2.252 57.2 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

RASE 50 – 1.969 50 2.252 57.2 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

RASE 2 2 2.000 50.8 2.500 63.5 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

RASE 2–3/16 2–3/16 2.188 55.562 2.500 63.5 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

RASE 60 – 2.362 60 2.752 69.9 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245

RASE 2–7/16 2–7/16 2.438 61.912 2.752 69.9 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245



Pillow Block Housings
RASE SERIES
� Standard center height
� Eccentric locking collar
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

213

B

inch

B

mm

H

inch

H

mm

C

inch

C

mm

O

inch

O

mm

L

inch

L

mm

INSERT HOUSING DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

1.260 32 2.284 58 0.551 14 0.921 23.4 1.469 37.3 G1008 KRRB ASE 03 2150 9600 1070 4750 RASE 1/2

1.260 32 2.284 58 0.551 14 0.921 23.4 1.469 37.3 GE15 KRRB ASE 03 2150 9600 1070 4750 RASE 15

1.260 32 2.284 58 0.551 14 0.921 23.4 1.469 37.3 G1010 KRRB ASE 03 2150 9600 1070 4750 RASE 5/8

1.260 32 2.532 64.3 0.571 14.5 1.047 26.6 1.721 43.7 G1012 KRRB ASE 04 2900 12800 1480 6600 RASE 3/4

1.260 32 2.532 64.3 0.571 14.5 1.047 26.6 1.721 43.7 GE20 KRRB ASE 04 2900 12800 1480 6600 RASE 20

1.457 37 2.813 71.438 0.610 15.5 1.059 26.9 1.748 44.4 G1014 KRRB ASE 05 3150 14000 1760 7800 RASE 7/8

1.457 37 2.813 71.438 0.610 15.5 1.059 26.9 1.748 44.4 G1015 KRRB ASE 06 3150 14000 1760 7800 RASE 15/16

1.457 37 2.813 71.438 0.610 15.5 1.059 26.9 1.748 44.4 GE25 KRRB ASE 05 3150 14000 1760 7800 RASE 25

1.457 37 2.813 71.438 0.610 15.5 1.059 26.9 1.748 44.4 G1100 KRRB ASE 05 3150 14000 1760 7800 RASE 1

1.673 42.5 3.284 83.4 0.709 18 1.185 30.1 1.906 48.4 G1102 KRRB ASE 06 4350 19500 2550 11300 RASE 1–1/8

1.673 42.5 3.284 83.4 0.709 18 1.185 30.1 1.906 48.4 GE30 KRRB ASE 06 4350 19500 2550 11300 RASE 30

1.673 42.5 3.284 83.4 0.709 18 1.185 30.1 1.906 48.4 G1103 KRRB ASE 06 4350 19500 2550 11300 RASE 1–3/16

1.831 46.5 3.689 93.7 0.748 19 1.272 32.3 2.012 51.1 G1104 KRRB ASE 07 5800 25500 3450 15300 RASE 1–1/4

1.831 46.5 3.689 93.7 0.748 19 1.272 32.3 2.012 51.1 G1106 KRRB ASE 07 5800 25500 3450 15300 RASE 1–3/8

1.831 46.5 3.689 93.7 0.748 19 1.272 32.3 2.012 51.1 GE35 KRRB ASE 07 5800 25500 3450 15300 RASE 35

1.831 46.5 3.689 93.7 0.748 19 1.272 32.3 2.012 51.1 G1107 KRRB ASE 07 5800 25500 3450 15300 RASE 1–7/16

1.969 50 3.937 100 0.787 20 1.374 34.9 2.217 56.3 G1108 KRRB ASE 08 7300 32500 4450 19800 RASE 1–1/2

1.969 50 3.937 100 0.787 20 1.374 34.9 2.217 56.3 GE40 KRRB ASE 08 7300 32500 4450 19800 RASE 40

2.039 51.8 4.213 107 0.866 22 1.374 34.9 2.217 56.3 G1110 KRRB ASE 09 7400 32500 4600 20400 RASE 1–5/8

2.039 51.8 4.213 107 0.866 22 1.374 34.9 2.217 56.3 G1111 KRRB ASE 09 7400 32500 4600 20400 RASE 1–11/16

2.039 51.8 4.213 107 0.866 22 1.374 34.9 2.217 56.3 G1112 KRRB ASE 09 7400 32500 4600 20400 RASE 1–3/4

2.039 51.8 4.213 107 0.866 22 1.374 34.9 2.217 56.3 GE45 KRRB ASE 09 7400 32500 4600 20400 RASE 45

2.244 57 4.606 117 0.866 22 1.500 38.1 2.469 62.7 G1115 KRRB ASE 10 7900 35000 5200 23200 RASE 1–15/16

2.244 57 4.606 117 0.866 22 1.500 38.1 2.469 62.7 GE50 KRRB ASE 10 7900 35000 5200 23200 RASE 50

2.461 62.5 4.980 126.5 0.984 25 1.717 43.6 2.811 71.4 G1200 KRRB ASE 11 9800 43500 6600 29000 RASE 2

2.461 62.5 4.980 126.5 0.984 25 1.717 43.6 2.811 71.4 G1203 KRRB ASE 11 9800 43500 6600 29000 RASE 2–3/16

2.559 65 5.512 140 1.102 28 1.843 46.8 3.063 77.8 GE60 KRRB ASE 12 11800 52000 8100 36000 RASE 60

2.559 65 5.512 140 1.102 28 1.843 46.8 3.063 77.8 G1207 KRRB ASE 12 11800 52000 8100 36000 RASE 2–7/16



Pillow Block Housings
RASEY SERIES
� Standard center height
� Set screw shaft  locking
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

214

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

M

inch

M

mm

M1

inch

M1

mm

K

inch

K

mm

WGT.

lbs

WGT.

kg

W

inch

W

mm

RASEY 1/2 1/2 0.500 12.7 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RASEY 15 – 0.591 15 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RASEY 5/8 5/8 0.025 0.625 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RASEY 17 – 0.669 17 1.189 30.2 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RASEY 3/4 3/4 0.750 19.05 1.311 33.3 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

RASEY 20 – 0.787 20 1.311 33.3 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

RASEY 7/8 7/8 0.875 22.225 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

RASEY 15/16 15/16 0.938 23.813 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

RASEY 25 – 0.984 25 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

RASEY 1 1 1.000 25.4 1.438 36.513 3.751 95.275 4.500 114.3 0.472 12 1.985 0.900 5.500 139.7

RASEY 1–1/8 1–1/8 1.125 28.575 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

RASEY 30 – 1.181 30 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

RASEY 1–3/16 1–3/16 1.188 30.162 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

RASEY
1–1/4–206

1–1/4–206 1.250 31.75 1.689 42.9 4.252 108 5.000 127 0.591 15 2.867 1.300 6.189 157.2

RASEY 1–1/4 1–1/4 1.250 31.75 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RASEY 1–3/8 1–3/8 1.375 34.925 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RASEY 35 – 1.378 35 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RASEY 1–7/16 1–7/16 1.438 36.512 1.874 47.6 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RASEY 1–1/2 1–1/2 1.500 38.1 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

RASEY 40 – 1.575 40 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

RASEY 1–5/8 1–5/8 1.625 41.275 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RASEY 1–11/16 1–11/16 1.688 42.863 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RASEY 1–3/4 1–3/4 1.750 44.45 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RASEY 45 – 1.772 45 2.126 54 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RASEY 1–15/16 1–15/16 1.938 49.212 2.252 57.2 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

RASEY 50 – 1.969 50 2.252 57.2 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

RASEY 2 2 2.000 50.8 2.500 63.5 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

RASEY 2–3/16 2–3/16 2.188 55.562 2.500 63.5 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

RASEY 60 – 2.362 60 2.752 69.9 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245

RASEY 2–7/16 2–7/16 2.438 61.912 2.752 69.9 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245



Pillow Block Housings
RASEY SERIES
� Standard center height
� Set screw shaft  locking
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

215

B

inch

B

mm

H

inch

H

mm

C

inch

C

mm

O

inch

O

mm

L

inch

L

mm

INSERT HOUSING DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

1.260 32 2.284 58 0.551 14 0.626 15.9 1.079 27.4 GY1008 KRRB ASE 03 2150 9600 1070 4750 RASEY 1/2

1.260 32 2.284 58 0.551 14 0.626 15.9 1.079 27.4 GYE15 KRRB ASE 03 2150 9600 1070 4750 RASEY 15

1.260 32 2.284 58 0.551 14 0.626 15.9 1.079 27.4 GY1010 KRRB ASE 03 2150 9600 1070 4750 RASEY 5/8

1.260 32 2.284 58 0.551 14 0.626 15.9 1.079 27.4 GYE17 KRRB ASE 03 2150 9600 1070 4750 RASEY 17

1.260 32 2.532 64.3 0.571 14.5 0.721 18.3 1.221 31 GY1012 KRRB ASE 04 2900 12800 1480 6600 RASEY 3/4

1.260 32 2.532 64.3 0.571 14.5 0.721 18.3 1.221 31 GYE20 KRRB ASE 04 2900 12800 1480 6600 RASEY 20

1.457 37 2.813 71.438 0.610 15.5 0.780 19.8 1.343 34.1 GY1014 KRRB ASE 05 3150 14000 1760 7800 RASEY 7/8

1.457 37 2.813 71.438 0.610 15.5 0.780 19.8 1.343 34.1 GY1015 KRRB ASE 05 3150 14000 1760 7800 RASEY 15/16

1.457 37 2.813 71.438 0.610 15.5 0.780 19.8 1.343 34.1 GYE25 KRRB ASE 05 3150 14000 1760 7800 RASEY 25

1.457 37 2.813 71.438 0.610 15.5 0.780 19.8 1.343 34.1 GY1100 KRRB ASE 05 3150 14000 1760 7800 RASEY 1

1.673 42.5 3.284 83.4 0.709 18 0.874 22.2 1.500 38.1 GY1102 KRRB ASE 06 4350 19500 2550 11300 RASEY 1–1/8

1.673 42.5 3.284 83.4 0.709 18 0.874 22.2 1.500 38.1 GYE30 KRRB ASE 06 4350 19500 2550 11300 RASEY 30

1.673 42.5 3.284 83.4 0.709 18 0.874 22.2 1.500 38.1 GY1103 KRRB ASE 06 4350 19500 2550 11300 RASEY 1–3/16

1.673 42.5 3.284 83.4 0.709 18 0.874 22.2 1.500 38.1 GY1104
KRRB–206

ASE 06 4350 19500 2550 11300 RASEY
1–1/4–206

1.831 46.5 3.689 93.7 0.748 19 1.000 25.4 1.689 42.9 GY1104 KRRB ASE 07 5800 25500 3450 15300 RASEY 1–1/4

1.831 46.5 3.689 93.7 0.748 19 1.000 25.4 1.689 42.9 GY1106 KRRB ASE 07 5800 25500 3450 15300 RASEY 1–3/8

1.831 46.5 3.689 93.7 0.748 19 1.000 25.4 1.689 42.9 GYE35 KRRB ASE 07 5800 25500 3450 15300 RASEY 35

1.831 46.5 3.689 93.7 0.748 19 1.000 25.4 1.689 42.9 GY1107 KRRB ASE 07 5800 25500 3450 15300 RASEY 1–7/16

1.969 50 3.937 100 0.787 20 1.189 30.2 1.937 49.2 GY1108 KRRB ASE 08 7300 32500 4450 19800 RASEY 1–1/2

1.969 50 3.937 100 0.787 20 1.189 30.2 1.937 49.2 GYE40 KRRB ASE 08 7300 32500 4450 19800 RASEY 40

2.039 51.8 4.213 107 0.866 22 1.189 30.2 1.937 49.2 GY1110 KRRB ASE 09 7400 32500 4600 20400 RASEY 1–5/8

2.039 51.8 4.213 107 0.866 22 1.189 30.2 1.937 49.2 GY1111 KRRB ASE 09 7400 32500 4600 20400 RASEY 1–11/16

2.039 51.8 4.213 107 0.866 22 1.189 30.2 1.937 49.2 GY1112 KRRB ASE 09 7400 32500 4600 20400 RASEY 1–3/4

2.039 51.8 4.213 107 0.866 22 1.189 30.2 1.937 49.2 GYE45 KRRB ASE 09 7400 32500 4600 20400 RASEY 45

2.244 57 4.606 117 0.866 22 1.284 32.6 2.032 51.6 GY1115 KRRB ASE 10 7900 35000 5200 23200 RASEY 1–15/16

2.244 57 4.606 117 0.866 22 1.284 32.6 2.032 51.6 GYE50 KRRB ASE 10 7900 35000 5200 23200 RASEY 50

2.461 62.5 4.980 126.5 0.984 25 1.315 33.4 2.189 55.6 GY1200 KRRB ASE 11 9800 43500 6600 29000 RASEY 2

2.461 62.5 4.980 126.5 0.984 25 1.315 33.4 2.189 55.6 GY1203 KRRB ASE 11 9800 43500 6600 29000 RASEY 2–3/16

2.559 65 5.512 140 1.102 28 1.563 39.7 2.563 65.1 GYE60 KRRB ASE 12 11800 52000 8100 36000 RASEY 60

2.559 65 5.512 140 1.102 28 1.563 39.7 2.563 65.1 GY1207 KRRB ASE 12 11800 52000 8100 36000 RASEY 2–7/16



Pillow Block Housings
RAK SERIES
� Low center height
� Eccentric locking collar
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

216

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

M

inch

M

mm

M1

inch

M1

mm

K

inch

K

mm

WGT.

lbs

WGT.

kg

W

inch

W

mm

RAK 1/2 1/2 0.500 12.7 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RAK 15 – 0.591 15 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RAK 5/8 5/8 0.025 0.625 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RAK 3/4 3/4 0.750 19.05 1.252 31.8 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

RAK 20 – 0.787 20 1.252 31.8 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

RAK 7/8 7/8 0.875 22.225 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

RAK 15/16 15/16 0.938 23.813 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

RAK 25 – 0.984 25 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

RAK 1 1 1.000 25.4 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

RAK 1–1/8 1–1/8 1.125 28.575 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.189 157.2

RAK 30 – 1.181 30 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.189 157.2

RAK 1–3/16 1–3/16 1.188 30.162 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.189 157.2

RAK 1–1/4 1–1/4 1.250 31.75 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RAK 1–3/8 1–3/8 1.375 34.925 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RAK 35 – 1.378 35 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RAK 1–7/16 1–7/16 1.438 36.512 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RAK 1–1/2 1–1/2 1.500 38.1 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

RAK 40 – 1.575 40 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

RAK 1–5/8 1–5/8 1.625 41.275 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RAK 1–11/16 1–11/16 1.688 42.863 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RAK 1–3/4 1–3/4 1.750 44.45 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RAK 45 – 1.772 45 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RAK 1–15/16 1–15/16 1.938 49.212 2.189 55.6 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

RAK 50 – 1.969 50 2.189 55.6 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

RAK 2 2 2.000 50.8 2.437 61.9 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

RAK 2–3/16 2–3/16 2.188 55.562 2.437 61.9 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

RAK 60 – 2.362 60 2.689 68.3 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245

RAK 2–7/16 2–7/16 2.438 61.912 2.689 68.3 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245



Pillow Block Housings
RAK SERIES
� Low center height
� Eccentric locking collar
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

217

B

inch

B

mm

H

inch

H

mm

C

inch

C

mm

O

inch

O

mm

L

inch

L

mm

INSERT HOUSING DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

1.260 32 2.158 54.8 0.425 10.8 0.921 23.4 1.469 37.3 G1008 KRRB AK 03 2150 9600 1070 4750 RAK 1/2

1.260 32 2.158 54.8 0.425 10.8 0.921 23.4 1.469 37.3 GE15 KRRB AK 03 2150 9600 1070 4750 RAK 15

1.260 32 2.158 54.8 0.425 10.8 0.921 23.4 1.469 37.3 G1010 KRRB AK 03 2150 9600 1070 4750 RAK 5/8

1.260 32 2.158 54.8 0.425 10.8 0.921 23.4 1.469 37.3 GE17 KRRB AK 03 2150 9600 1070 4750 RAK 3/4

1.260 32 2.472 62.8 0.512 13 1.047 26.6 1.721 43.7 GE20 KRRB AK 04 2900 12800 1480 6600 RAK 20

1.457 37 2.688 68.263 0.563 14.288 1.059 26.9 1.748 44.4 G1014 KRRB AK 05 3150 14000 1760 7800 RAK 7/8

1.457 37 2.688 68.263 0.563 14.288 1.059 26.9 1.748 44.4 G1015 KRRB AK 05 3150 14000 1760 7800 RAK 15/16

1.457 37 2.688 68.263 0.563 14.288 1.059 26.9 1.748 44.4 GE25 KRRB AK 05 3150 14000 1760 7800 RAK 25

1.457 37 2.688 68.263 0.563 14.288 1.059 26.9 1.748 44.4 G1100 KRRB AK 05 3150 14000 1760 7800 RAK 1

1.634 41.5 3.169 80.5 0.669 17 1.185 30.1 1.906 48.4 G1102 KRRB AK 06 4350 19500 2550 11300 RAK 1–1/8

1.634 41.5 3.169 80.5 0.669 17 1.185 30.1 1.906 48.4 GE30 KRRB AK 06 4350 19500 2550 11300 RAK 30

1.634 41.5 3.169 80.5 0.669 17 1.185 30.1 1.906 48.4 G1103 KRRB AK 06 4350 19500 2550 11300 RAK 1–3/16

1.831 46.5 3.626 92.1 0.685 17.4 1.272 32.3 2.012 51.1 G1104 KRRB AK 07 5800 25500 3450 15300 RAK 1–1/4

1.831 46.5 3.626 92.1 0.685 17.4 1.272 32.3 2.012 51.1 G1106 KRRB AK 07 5800 25500 3450 15300 RAK 1–3/8

1.831 46.5 3.626 92.1 0.685 17.4 1.272 32.3 2.012 51.1 GE35 KRRB AK 07 5800 25500 3450 15300 RAK 35

1.831 46.5 3.626 92.1 0.685 17.4 1.272 32.3 2.012 51.1 G1107 KRRB AK 07 5800 25500 3450 15300 RAK 1–7/16

1.969 50 3.937 100 0.787 20 1.374 34.9 2.217 56.3 G1108 KRRB AK 08 7300 32500 4450 19800 RAK 1–1/2

1.969 50 3.937 100 0.787 20 1.374 34.9 2.217 56.3 GE40 KRRB AK 08 7300 32500 4450 19800 RAK 40

2.028 51.5 4.150 105.4 0.803 20.4 1.374 34.9 2.217 56.3 G1110 KRRB AK 09 7400 32500 4600 20400 RAK 1–5/8

2.028 51.5 4.150 105.4 0.803 20.4 1.374 34.9 2.217 56.3 G1111 KRRB AK 09 7400 32500 4600 20400 RAK 1–11/16

2.028 51.5 4.150 105.4 0.803 20.4 1.374 34.9 2.217 56.3 G1112 KRRB AK 09 7400 32500 4600 20400 RAK 1–3/4

2.028 51.5 4.150 105.4 0.803 20.4 1.374 34.9 2.217 56.3 GE45 KRRB AK 09 7400 32500 4600 20400 RAK 45

2.244 57 4.543 115.4 0.803 20.4 1.500 38.1 2.469 62.7 G1115 KRRB AK 10 7900 35000 5200 23200 RAK 1–15/16

2.244 57 4.543 115.4 0.803 20.4 1.500 38.1 2.469 62.7 GE50 KRRB AK 10 7900 35000 5200 23200 RAK 50

2.461 62.5 4.917 124.9 0.921 23.4 1.717 43.6 2.811 71.4 G1200 KRRB AK 11 9800 43500 6600 29000 RAK 2

2.461 62.5 4.917 124.9 0.921 23.4 1.717 43.6 2.811 71.4 G1203 KRRB AK 11 9800 43500 6600 29000 RAK 2–3/16

2.559 65 5.449 138.4 1.039 26.4 1.843 46.8 3.063 77.8 GE60 KRRB AK 12 11800 52000 8100 36000 RAK 60

2.559 65 5.449 138.4 1.039 26.4 1.843 46.8 3.063 77.8 G1207 KRRB AK 12 11800 52000 8100 36000 RAK 2–7/16



Pillow Block Housings
RAKY SERIES
� Low center height
� Set screw shaft locking
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

218

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

M

inch

M

mm

M1

inch

M1

mm

K

inch

K

mm

WGT.

lbs

WGT.

kg

W

inch

W

mm

RAKY 1/2 1/2 0.500 12.7 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RAKY 15 – 0.591 15 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RAKY 5/8 5/8 0.025 0.625 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RAKY 17 – 0.669 17 1.063 27 3.189 81 4.055 103 0.433 11 1.213 0.550 4.921 125

RAKY 3/4 3/4 0.750 19.05 1.252 31.8 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

RAKY 20 – 0.787 20 1.252 31.8 3.425 87 4.134 105 0.433 11 1.323 0.600 5.118 130

RAKY 7/8 7/8 0.875 22.225 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

RAKY 15/16 15/16 0.938 23.813 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

RAKY 25 – 0.984 25 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

RAKY 1 1 1.000 25.4 1.313 33.338 3.721 94.5 4.449 113 0.472 12 1.985 0.900 5.500 139.7

RAKY 1–1/8 1–1/8 1.125 28.575 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.189 157.2

RAKY 30 – 1.181 30 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.189 157.2

RAKY 1–3/16 1–3/16 1.188 30.162 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.189 157.2

RAKY 1–1/4–206 1–1/4–206 1.250 31.75 1.563 39.688 4.284 108.8 4.949 125.7 0.591 15 2.867 1.300 6.189 157.2

RAKY 1–1/4 1–1/4 1.250 31.75 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RAKY 1–3/8 1–3/8 1.375 34.925 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RAKY 35 – 1.378 35 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RAKY 1–7/16 1–7/16 1.438 36.512 1.811 46 4.807 122.1 5.429 137.9 0.591 15 3.749 1.700 6.772 172

RAKY 1–1/2 1–1/2 1.500 38.1 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

RAKY 40 – 1.575 40 1.937 49.2 4.921 125 5.787 147 0.591 15 4.631 2.100 7.146 181.5

RAKY 1–5/8 1–5/8 1.625 41.275 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RAKY 1–11/16 1–11/16 1.688 42.863 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RAKY 1–3/4 1–3/4 1.750 44.45 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RAKY 45 – 1.772 45 2.063 52.4 5.374 136.5 6.319 160.5 0.563 14.3 5.292 2.400 7.677 195

RAKY 1–15/16 1–15/16 1.938 49.212 2.189 55.6 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

RAKY 50 – 1.969 50 2.189 55.6 5.965 151.5 6.437 163.5 0.709 18 7.056 3.200 7.972 202.5

RAKY 2 2 2.000 50.8 2.437 61.9 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

RAKY 2–3/16 2–3/16 2.188 55.562 2.437 61.9 6.476 164.5 7.362 187 0.709 18 8.820 4.000 8.858 225

RAKY 60 – 2.362 60 2.689 68.3 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245

RAKY 2–7/16 2–7/16 2.438 61.912 2.689 68.3 6.969 177 7.933 201.5 0.709 18 12.348 5.600 9.646 245



Pillow Block Housings
RAKY SERIES
� Low center height
� Set screw shaft locking
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

219

B

inch

B

mm

H

inch

H

mm

C

inch

C

mm

O

inch

O

mm

L

inch

L

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

1.260 32 2.158 54.8 0.425 10.8 0.626 15.9 1.079 27.4 GY1008 KRRB AK 03 2150 9600 1070 4750 RAKY 1/2

1.260 32 2.158 54.8 0.425 10.8 0.626 15.9 1.079 27.4 GYE15 KRRB AK 03 2150 9600 1070 4750 RAKY 15

1.260 32 2.158 54.8 0.425 10.8 0.626 15.9 1.079 27.4 GY1010 KRRB AK 03 2150 9600 1070 4750 RAKY 5/8

1.260 32 2.158 54.8 0.425 10.8 0.626 15.9 1.079 27.4 GYE17 KRRB AK 03 2150 9600 1070 4750 RAKY 17

1.260 32 2.472 62.8 0.512 13 0.721 18.3 1.221 31 GY1012 KRRB AK 04 2900 12800 1480 6600 RAKY 3/4

1.260 32 2.472 62.8 0.512 13 0.721 18.3 1.221 31 GYE20 KRRB AK 04 2900 12800 1480 6600 RAKY 20

1.457 37 2.688 68.263 0.563 14.288 0.780 19.8 1.343 34.1 GY1014 KRRB AK 05 3150 14000 1760 7800 RAKY 7/8

1.457 37 2.688 68.263 0.563 14.288 0.780 19.8 1.343 34.1 GY1015 KRRB AK 05 3150 14000 1760 7800 RAKY 15/16

1.457 37 2.688 68.263 0.563 14.288 0.780 19.8 1.343 34.1 GYE25 KRRB AK 05 3150 14000 1760 7800 RAKY 25

1.457 37 2.688 68.263 0.563 14.288 0.780 19.8 1.343 34.1 GY1100 KRRB AK 05 3150 14000 1760 7800 RAKY 1

1.634 41.5 3.169 80.5 0.669 17 0.874 22.2 1.500 38.1 GY1102 KRRB AK 06 4350 19500 2550 11300 RAKY 1–1/8

1.634 41.5 3.169 80.5 0.669 17 0.874 22.2 1.500 38.1 GYE30 KRRB AK 06 4350 19500 2550 11300 RAKY 30

1.634 41.5 3.169 80.5 0.669 17 0.874 22.2 1.500 38.1 GY1103 KRRB AK 06 4350 19500 2550 11300 RAKY 1–3/16

1.634 41.5 3.169 80.5 0.669 17 0.874 22.2 1.500 38.1 GY1104 KRRB–206 AK 06 4350 19500 2550 11300 RAKY 1–1/4–206

1.831 46.5 3.626 92.1 0.685 17.4 1.000 25.4 1.689 42.9 GY1104 KRRB AK 07 5800 25500 3450 15300 RAKY 1–1/4

1.831 46.5 3.626 92.1 0.685 17.4 1.000 25.4 1.689 42.9 GY1106 KRRB AK 07 5800 25500 3450 15300 RAKY 1–3/8

1.831 46.5 3.626 92.1 0.685 17.4 1.000 25.4 1.689 42.9 GYE35 KRRB AK 07 5800 25500 3450 15300 RAKY 35

1.831 46.5 3.626 92.1 0.685 17.4 1.000 25.4 1.689 42.9 GY1107 KRRB AK 07 5800 25500 3450 15300 RAKY 1–7/16

1.969 50 3.937 100 0.787 20 1.189 30.2 1.937 49.2 GY1108 KRRB AK 08 7300 32500 4450 19800 RAKY 1–1/2

1.969 50 3.937 100 0.787 20 1.189 30.2 1.937 49.2 GYE40 KRRB AK 08 7300 32500 4450 19800 RAKY 40

2.028 51.5 4.150 105.4 0.803 20.4 1.189 30.2 1.937 49.2 GY1110 KRRB AK 09 7400 32500 4600 20400 RAKY 1–5/8

2.028 51.5 4.150 105.4 0.803 20.4 1.189 30.2 1.937 49.2 GY1111 KRRB AK 09 7400 32500 4600 20400 RAKY 1–11/16

2.028 51.5 4.150 105.4 0.803 20.4 1.189 30.2 1.937 49.2 GY1112 KRRB AK 09 7400 32500 4600 20400 RAKY 1–3/4

2.028 51.5 4.150 105.4 0.803 20.4 1.189 30.2 1.937 49.2 GYE45 KRRB AK 09 7400 32500 4600 20400 RAKY 45

2.244 57 4.543 115.4 0.803 20.4 1.284 32.6 2.032 51.6 GY1115 KRRB AK 10 7900 35000 5200 23200 RAKY 1–15/16

2.244 57 4.543 115.4 0.803 20.4 1.284 32.6 2.032 51.6 GYE50 KRRB AK 10 7900 35000 5200 23200 RAKY 50

2.461 62.5 4.917 124.9 0.921 23.4 1.315 33.4 2.189 55.6 GY1200 KRRB AK 11 9800 43500 6600 29000 RAKY 2

2.461 62.5 4.917 124.9 0.921 23.4 1.315 33.4 2.189 55.6 GY1203 KRRB AK 11 9800 43500 6600 29000 RAKY 2–3/16

2.559 65 5.449 138.4 1.039 26.4 1.563 39.7 2.563 65.1 GYE60 KRRB AK 12 11800 52000 8100 36000 RAKY 60

2.559 65 5.449 138.4 1.039 26.4 1.563 39.7 2.563 65.1 GY1207 KRRB AK 12 11800 52000 8100 36000 RAKY 2–7/16



Housing Units
PSHE SERIES
� Metric series
� Tapped base pillow block
� Economy seals
� Eccentric locking collar

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

220

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

H

inch

H

mm

K
THREADS

O

inch

O

mm

L

inch

L

mm

PSHE20 0.787 20 1.311 33.3 1.260 32 2.520 64 M 8 0.925 23.500 1.221 31.000

PSHE25 0.984 25 1.437 36.5 1.417 36 2.756 70 M 10 0.925 23.500 1.221 31.000

PSHE30 1.181 30 1.689 42.9 1.575 40 3.228 82 M 10 1.051 26.700 1.406 35.700

PSHE35 1.378 35 1.874 47.6 1.772 45 3.661 93 M 10 1.158 29.400 1.532 38.900

PSHE40 1.575 40 1.937 49.2 1.890 48 3.898 99 M12 1.287 32.700 1.721 43.700

PSHE45 1.772 45 2.126 54 1.890 48 4.016 102 M12 1.287 32.700 1.721 43.700

PSHE50 1.969 50 2.252 57.2 2.126 54 4.528 115 M 16 1.287 32.700 1.721 43.700

CONTINUED FROM ABOVE

PART NUMBER M

inch

M

mm

W

inch

W

mm

WEIGHT

lbs

WEIGHT

kg

DYN. CAP.
C

lbf

DYN. CAP.
C

N

STAT. CAP.
C0

lbf

STAT. CAP.
C0

N

HOUSING INSERT

PSHE20 2.000 50.8 2.559 65 1.125 0.510 2,900 12800 1,480 6600 SHE04 GRAE20NPPB

PSHE25 2.000 50.8 2.756 70 1.323 0.600 3,150 14000 1,750 7800 SHE05 GRAE25NPPB

PSHE30 3.000 76.2 3.858 98 2.315 1.050 4,400 19500 2,550 11300 SHE06 GRAE30NPPB

PSHE35 3.252 82.6 4.055 103 3.175 1.440 5,750 25500 3,450 15300 SHE07 GRAE35NPPB

PSHE40 3.500 88.9 4.567 116 4.057 1.840 7,300 32500 4,450 19800 SHE08 GRAE40NPPB

PSHE45 3.752 95.3 4.724 120 4.719 2.140 7,300 32500 4,450 19800 SHE09 GRAE45NPPB

PSHE50 4.000 101.6 5.315 135 6.152 2.790 7,850 35000 5,200 23200 SHE10 GRAE50NPPB



Housing Units
PSHEY SERIES
� Metric series
� Tapped base pillow block
� Economy seals
� Set screw locking

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

221

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

H

inch

H

mm

K
THREADS

O

inch

O

mm

L

inch

L

mm

PSHEY20 0.787 20 1.311 33.3 1.260 32 2.520 64 M 8 0.709 18.000 0.984 25.000

PSHEY25 0.984 25 1.437 36.5 1.417 36 2.756 70 M 10 0.768 19.500 1.063 27.000

PSHEY30 1.181 30 1.689 42.9 1.575 40 3.228 82 M 10 1.185 30.100 1.181 30.000

PSHEY35 1.378 35 1.874 47.6 1.772 45 3.661 93 M 10 1.004 25.500 1.378 35.000

PSHEY40 1.575 40 1.937 49.2 1.890 48 3.898 99 M12 1.142 29.000 1.555 39.500

PSHEY45 1.772 45 2.126 54 1.890 48 4.016 102 M12 1.201 30.500 1.634 41.500

PSHEY50 1.969 50 2.252 57.2 2.126 54 4.528 115 M 16 1.260 32.000 1.693 43.000

CONTINUED FROM ABOVE

PART NUMBER M

inch

M

mm

W

inch

W

mm

WEIGHT

lbs

WEIGHT

kg

DYN. CAP.
C

lbf

DYN. CAP.
C

N

STAT. CAP.
C0

lbf

STAT. CAP.
C0

N

HOUSING INSERT

PSHEY20 2.000 50.8 2.559 65 1.191 0.540 2,900 12800 1,480 6600 SHE04 GAY20NPPB

PSHEY25 2.000 50.8 2.756 70 1.389 0.630 3,150 14000 1,750 7800 SHE05 GAY25NPPB

PSHEY30 3.000 76.2 3.858 98 2.448 1.110 4,400 19500 2,550 11300 SHE06 GAY30NPPB

PSHEY35 3.252 82.6 4.055 103 3.374 1.530 5,750 25500 3,450 15300 SHE07 GAY35NPPB

PSHEY40 3.500 88.9 4.567 116 3.815 1.730 7,300 32500 4,450 19800 SHE08 GAY40NPPB

PSHEY45 3.752 95.3 4.724 120 5.027 2.280 7,300 32500 4,450 19800 SHE09 GAY45NPPB

PSHEY50 4.000 101.6 5.315 135 6.483 2.940 7,850 35000 5,200 23200 SHE10 GAY50NPPB



Housing Units
RSHE SERIES
� Metric series
� Tapped base pillow block
� Standard seals
� Eccentric locking collar

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

222

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

H

inch

H

mm

K
THREADS

O

inch

O

mm

L

inch

L

mm

RSHE20 0.787 20 1.311 33.3 1.260 32 2.520 64 M 8 1.047 26.600 1.721 43.700

RSHE25 0.984 25 1.437 36.5 1.417 36 2.756 70 M 10 1.059 26.900 1.748 44.400

RSHE30 1.181 30 1.689 42.9 1.575 40 3.228 82 M 10 0.827 21.000 1.906 48.400

RSHE35 1.378 35 1.874 47.6 1.772 45 3.661 93 M 10 1.272 32.300 2.012 51.100

RSHE40 1.575 40 1.937 49.2 1.890 48 3.898 99 M12 1.374 34.900 2.217 56.300

RSHE45 1.772 45 2.126 54 1.890 48 4.213 107 M12 1.374 34.900 2.217 56.300

RSHE50 1.969 50 2.252 57.2 2.126 54 4.528 115 M 16 1.500 38.100 2.469 62.700

CONTINUED FROM ABOVE

PART NUMBER M

inch

M

mm

W

inch

W

mm

WEIGHT

lbs

WEIGHT

kg

DYN. CAP.
C

lbf

DYN. CAP.
C

N

STAT. CAP.
C0

lbf

STAT. CAP.
C0

N

HOUSING INSERT

RSHE20 2.000 50.8 2.559 65 1.213 0.550 2,900 12800 1,480 6600 SHE04 GE20KRRB

RSHE25 2.000 50.8 2.756 70 1.455 0.660 3,150 14000 1,750 7800 SHE05 GE25KRRB

RSHE30 3.000 76.2 3.858 98 2.470 1.120 4,400 19500 2,550 11300 SHE06 GE30KRRB

RSHE35 3.252 82.6 4.055 103 3.330 1.510 5,750 25500 3,450 15300 SHE07 GE35KRRB

RSHE40 3.500 88.9 4.567 116 4.322 1.960 7,300 32500 4,600 20400 SHE08 GE40KRRB

RSHE45 3.752 95.3 4.724 120 4.983 2.260 7,300 32500 4,600 20400 SHE09 GE45KRRB

RSHE50 4.000 101.6 5.315 135 6.659 3.020 7,850 35000 5,200 23200 SHE10 GE50KRRB



Housing Units
RSHEY SERIES
� Metric series
� Tapped base pillow block
� Standard seals
� Set screw locking

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

223

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

H

inch

H

mm

K
THREADS

O

inch

O

mm

L

inch

L

mm

RSHEY20 0.787 20 1.311 33.3 1.260 32 2.520 64 M 8 0.721 18.300 0.984 25.000

RSHEY25 0.984 25 1.437 36.5 1.417 36 2.756 70 M 10 0.772 19.600 1.343 34.100

RSHEY30 1.181 30 1.689 42.9 1.575 40 3.228 82 M 10 0.874 22.200 1.500 38.100

RSHEY35 1.378 35 1.874 47.6 1.772 45 3.661 93 M 10 1.000 25.400 1.689 42.900

RSHEY40 1.575 40 1.937 49.2 1.890 48 3.898 99 M12 1.189 30.200 1.937 49.200

RSHEY45 1.772 45 2.126 54 1.890 48 4.213 107 M12 1.189 30.200 1.937 49.200

RSHEY50 1.969 50 2.252 57.2 2.126 54 4.528 115 M 16 1.284 32.600 2.032 51.600

CONTINUED FROM ABOVE

PART NUMBER M

inch

M

mm

W

inch

W

mm

WEIGHT

lbs

WEIGHT

kg

DYN. CAP.
C

lbf

DYN. CAP.
C

N

STAT. CAP.
C0

lbf

STAT. CAP.
C0

N

HOUSING INSERT

RSHEY20 2.000 50.8 2.559 65 1.279 0.580 2,900 12800 1,480 6600 SHE04 GYE20KRRB

RSHEY25 2.000 50.8 2.756 70 1.566 0.710 3,150 14000 1,750 7800 SHE05 GYE25KRRB

RSHEY30 3.000 76.2 3.858 98 2.580 1.170 4,400 19500 2,550 11300 SHE06 GYE30KRRB

RSHEY35 3.252 82.6 4.055 103 3.462 1.570 5,750 25500 3,450 15300 SHE07 GYE35KRRB

RSHEY40 3.500 88.9 4.567 116 4.123 1.870 7,300 32500 4,600 20400 SHE08 GYE40KRRB

RSHEY45 3.752 95.3 4.724 120 5.226 2.370 7,300 32500 4,600 20400 SHE09 GYE45KRRB

RSHEY50 4.000 101.6 5.315 135 6.593 2.990 7,850 35000 5,200 23200 SHE10 GYE50KRRB



Four Bolt Flange Housings
PCJ SERIES
� Eccentric locking collar
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

224

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

WGT.

lbs

WGT.

kg

PCJ 1/2 1/2 0.500 12.7 2.992 76 0.394 10 0.453 11.5 1.126 28.6 2.126 54 1.103 0.5

PCJ 15 – 0.591 15 2.992 76 0.394 10 0.453 11.5 1.126 28.6 2.126 54 1.103 0.5

PCJ 5/8 5/8 0.025 0.625 2.992 76 0.394 10 0.453 11.5 1.126 28.6 2.126 54 1.103 0.5

PCJ 17 – 0.669 17 2.992 76 0.394 10 0.453 11.5 1.126 28.6 2.126 54 1.103 0.5

PCJ 3/4 3/4 0.750 19.05 3.386 86 0.453 11.5 0.453 11.5 1.221 31 2.500 63.5 1.544 0.7

PCJ 20 – 0.787 20 3.386 86 0.453 11.5 0.453 11.5 1.221 31 2.500 63.5 1.544 0.7

PCJ 7/8 7/8 0.875 22.225 3.760 95.5 0.512 13 0.453 11.5 1.221 31 2.756 70 1.985 0.9

PCJ 25 – 0.984 25 3.760 95.5 0.512 13 0.453 11.5 1.221 31 2.756 70 1.985 0.9

PCJ 1 1 1.000 25.4 3.760 95.5 0.512 13 0.453 11.5 1.221 31 2.756 70 1.985 0.9

PCJ 1–1/16 1–1/16 1.063 26.988 4.272 108.5 0.512 13 0.453 11.5 1.406 35.7 3.248 82.5 2.867 1.3

PCJ 1–1/8 1–1/8 1.125 28.575 4.272 108.5 0.512 13 0.453 11.5 1.406 35.7 3.248 82.5 2.867 1.3

PCJ 30 – 1.181 30 4.272 108.5 0.512 13 0.453 11.5 1.406 35.7 3.248 82.5 2.867 1.3

PCJ 1–3/16 1–3/16 1.188 30.162 4.272 108.5 0.512 13 0.453 11.5 1.406 35.7 3.248 82.5 2.867 1.3

PCJ 1–1/4–206 1–1/4–206 1.250 31.75 4.272 108.5 0.512 13 0.453 11.5 1.406 35.7 3.248 82.5 2.867 1.3

PCJ 1–1/4 1–1/4 1.250 31.75 4.665 118.5 0.532 13.5 0.551 14 1.532 38.9 3.622 92 3.528 1.6

PCJ 1–3/8 1–3/8 1.375 34.925 4.665 118.5 0.532 13.5 0.551 14 1.532 38.9 3.622 92 3.528 1.6

PCJ 35 – 1.378 35 4.665 118.5 0.532 13.5 0.551 14 1.532 38.9 3.622 92 3.528 1.6

PCJ 1–7/16 1–7/16 1.438 36.512 4.665 118.5 0.532 13.5 0.551 14 1.532 38.9 3.622 92 3.528 1.6

PCJ 1–1/2 1–1/2 1.500 38.1 5.118 130 0.571 14.5 0.551 14 1.721 43.7 3.996 101.5 4.851 2.2

PCJ 40 – 1.575 40 5.118 130 0.571 14.5 0.551 14 1.721 43.7 3.996 101.5 4.851 2.2

PCJ 1–3/4 1–3/4 1.750 44.45 5.413 137.5 0.571 14.5 0.551 14 1.721 43.7 4.134 105 5.292 2.4

PCJ 45 – 1.772 45 5.413 137.5 0.571 14.5 0.551 14 1.721 43.7 4.134 105 5.292 2.4

PCJ 1–15/16 1–15/16 1.938 49.212 5.630 143 0.591 15 0.669 17 1.721 43.7 4.370 111 6.395 2.9

PCJ 50 – 1.969 50 5.630 143 0.591 15 0.669 17 1.721 43.7 4.370 111 6.395 2.9

PCJ 2 2 2.000 50.8 6.398 162.5 0.669 17 0.669 17 1.906 48.4 5.118 130 9.041 4.1

PCJ 2–3/16 2–3/16 2.188 55.562 6.398 162.5 0.669 17 0.669 17 1.906 48.4 5.118 130 9.041 4.1

PCJ 60 – 2.362 60 6.909 175.5 0.689 17.5 0.709 18 2.091 53.1 5.630 143 11.025 5

PCJ 2–7/16 2–7/16 2.438 61.912 6.909 175.5 0.689 17.5 0.709 18 2.091 53.1 5.630 143 11.025 5



Four Bolt Flange Housings
PCJ SERIES
� Eccentric locking collar
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

225

P

inch

P

mm

T

inch

T

mm

U

inch

U

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

0.669 17 0.945 24 1.539 39.1 GRA 008 NPPB CJ 03 2150 9600 1070 4750 PCJ 1/2

0.669 17 0.945 24 1.539 39.1 GRAE 15 NPPB CJ 03 2150 9600 1070 4750 PCJ 15

0.669 17 0.945 24 1.539 39.1 GRA 010 NPPB CJ 03 2150 9600 1070 4750 PCJ 5/8

0.669 17 0.945 24 1.539 39.1 GRAE 17 NPPB CJ 03 2150 9600 1070 4750 PCJ 17

0.748 19 1.142 29 1.673 42.5 GRA 012 NPPB CJ 04 2900 12800 1480 6600 PCJ 3/4

0.748 19 1.142 29 1.673 42.5 GRAE 20 NPPB CJ 04 2900 12800 1480 6600 PCJ 20

0.748 19 1.201 30.5 1.673 42.5 GRA 014 NPPB CJ 05 3150 14000 1760 7800 PCJ 7/8

0.748 19 1.201 30.5 1.673 42.5 GRAE 25 NPPB CJ 05 3150 14000 1760 7800 PCJ 25

0.748 19 1.201 30.5 1.673 42.5 GRA 100 NPPB CJ 05 3150 14000 1760 7800 PCJ 1

0.787 20 1.260 32 1.839 46.7 GRA 101 NPPB CJ 06 4350 19500 2550 11300 PCJ 1–1/16

0.787 20 1.260 32 1.839 46.7 GRA 102 NPPB CJ 06 4350 19500 2550 11300 PCJ 1–1/8

0.787 20 1.260 32 1.839 46.7 GRAE 30 NPPB CJ 06 4350 19500 2550 11300 PCJ 30

0.787 20 1.260 32 1.839 46.7 GRA 103 NPPB CJ 06 4350 19500 2550 11300 PCJ 1–3/16

0.787 20 1.260 32 1.839 46.7 GRA 104 NPPB–206 CJ 06 4350 19500 2550 11300 PCJ 1–1/4–206

0.827 21 1.358 34.5 1.984 50.4 GRA 104 NPPB CJ 07 5800 25500 3450 15300 PCJ 1–1/4

0.827 21 1.358 34.5 1.984 50.4 GRA 106 NPPB CJ 07 5800 25500 3450 15300 PCJ 1–3/8

0.827 21 1.358 34.5 1.984 50.4 GRAE 35 NPPB CJ 07 5800 25500 3450 15300 PCJ 35

0.827 21 1.358 34.5 1.984 50.4 GRA 107 NPPB CJ 07 5800 25500 3450 15300 PCJ 1–7/16

0.945 24 1.496 38 2.232 56.7 GRA 108 NPPB CJ 08 7300 32500 4450 19800 PCJ 1–1/2

0.945 24 1.496 38 2.232 56.7 GRAE 40 NPPB CJ 08 7300 32500 4450 19800 PCJ 40

0.945 24 1.496 38 2.232 56.7 GRA 112 NPPB CJ 09 7400 32500 4600 20400 PCJ 1–3/4

0.945 24 1.496 38 2.232 56.7 GRAE 45 NPPB CJ 09 7400 32500 4600 20400 PCJ 45

1.102 28 1.654 42 2.390 60.7 GRA 115 NPPB CJ 10 7900 35000 5200 23200 PCJ 1–15/16

1.102 28 1.654 42 2.390 60.7 GRAE 50 NPPB CJ 10 7900 35000 5200 23200 PCJ 50

1.221 31 1.850 47 2.654 67.4 GRA 200 NPPB CJ 11 9800 43500 6600 29000 PCJ 2

1.221 31 1.850 47 2.654 67.4 GRA 203 NPPB CJ 11 9800 43500 6600 29000 PCJ 2–3/16

1.339 34 1.929 49 2.898 73.6 GRAE 60 NPPB CJ 12 11800 52000 8100 36000 PCJ 60

1.339 34 1.929 49 2.898 73.6 GRA 207 NPPB CJ 12 11800 52000 8100 36000 PCJ 2–7/16



Four Bolt Flange Housings
PCJY SERIES
� Set screw shaft locking
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

226

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

WGT.

lbs

WGT.

kg

PCJY 1/2 1/2 0.500 12.7 2.992 76 0.394 10 0.453 11.5 0.866 22 2.126 54 1.103 0.5

PCJY 15 – 0.591 15 2.992 76 0.394 10 0.453 11.5 0.866 22 2.126 54 1.103 0.5

PCJY 5/8 5/8 0.625 15.875 2.992 76 0.394 10 0.453 11.5 0.866 22 2.126 54 1.103 0.5

PCJY 17 – 0.669 17 2.992 76 0.394 10 0.453 11.5 0.866 22 2.126 54 1.103 0.5

PCJY 3/4 3/4 0.750 19.05 3.386 86 0.453 11.5 0.453 11.5 0.984 25 2.500 63.5 1.544 0.7

PCJY 20 – 0.787 20 3.386 86 0.453 11.5 0.453 11.5 0.984 25 2.500 63.5 1.544 0.7

PCJY 7/8 7/8 0.875 22.225 3.760 95.5 0.512 13 0.453 11.5 1.063 27 2.756 70 1.985 0.9

PCJY 25 – 0.984 25 3.760 95.5 0.512 13 0.453 11.5 1.063 27 2.756 70 1.985 0.9

PCJY 1 1 1.000 25.4 3.760 95.5 0.512 13 0.453 11.5 1.063 27 2.756 70 1.985 0.9

PCJY 30 – 1.181 30 4.272 108.5 0.512 13 0.453 11.5 1.181 30 3.248 82.5 2.867 1.3

PCJY 1–3/16 1–3/16 1.188 30.162 4.272 108.5 0.512 13 0.453 11.5 1.181 30 3.248 82.5 2.867 1.3

PCJY 1–1/4 1–1/4 1.250 31.75 4.665 118.5 0.532 13.5 0.551 14 1.378 35 3.622 92 3.528 1.6

PCJY 35 – 1.378 35 4.665 118.5 0.532 13.5 0.551 14 1.378 35 3.622 92 3.528 1.6

PCJY 1–7/16 1–7/16 1.438 36.512 4.665 118.5 0.532 13.5 0.551 14 1.378 35 3.622 92 3.528 1.6

PCJY 1–1/2 1–1/2 1.500 38.1 5.118 130 0.571 14.5 0.551 14 1.555 39.5 3.996 101.5 4.851 2.2

PCJY 40 – 1.575 40 5.118 130 0.571 14.5 0.551 14 1.555 39.5 3.996 101.5 4.851 2.2

PCJY 1–3/4 1–3/4 1.750 44.45 5.413 137.5 0.571 14.5 0.551 14 1.634 41.5 4.134 105 5.292 2.4

PCJY 45 – 1.772 45 5.413 137.5 0.571 14.5 0.551 14 1.634 41.5 4.134 105 5.292 2.4

PCJY 1–15/16 1–15/16 1.938 49.212 5.630 143 0.591 15 0.669 17 1.693 43 4.370 111 6.395 2.9

PCJY 50 50 1.969 50 5.630 143 0.591 15 0.669 17 1.693 43 4.370 111 6.395 2.9



Four Bolt Flange Housings
PCJY SERIES
� Set screw shaft locking
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

227

P

inch

P

mm

T

inch

T

mm

U

inch

U

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

0.669 17 0.945 24 1.299 33 GAY008 NPPB CJ 03 2150 9600 1070 4750 PCJY 1/2

0.669 17 0.945 24 1.299 33 GAY15 NPPB CJ 03 2150 9600 1070 4750 PCJY 15

0.669 17 0.945 24 1.299 33 GAY010 NPPB CJ 03 2150 9600 1070 4750 PCJY 5/8

0.669 17 0.945 24 1.299 33 GAY17 NPPB CJ 03 2150 9600 1070 4750 PCJY 17

0.748 19 1.142 29 1.457 37 GAY012 NPPB CJ 04 2900 12800 1480 6600 PCJY 3/4

0.748 19 1.142 29 1.457 37 GAY20 NPPB CJ 04 2900 12800 1480 6600 PCJY 20

0.748 19 1.201 30.5 1.516 38.5 GAY014 NPPB CJ 05 3150 14000 1760 7800 PCJY 7/8

0.748 19 1.201 30.5 1.516 38.5 GAY25 NPPB CJ 05 3150 14000 1760 7800 PCJY 25

0.748 19 1.201 30.5 1.516 38.5 GAY100 NPPB CJ 05 3150 14000 1760 7800 PCJY 1

0.787 20 1.260 32 1.614 41 GAY30 NPPB CJ 06 4350 19500 2550 11300 PCJY 30

0.787 20 1.260 32 1.614 41 GAY103 NPPB CJ 06 4350 19500 2550 11300 PCJY 1–3/16

0.827 21 1.358 34.5 1.831 46.5 GAY104 NPPB CJ 07 5800 25500 3450 15300 PCJY 1–1/4

0.827 21 1.358 34.5 1.831 46.5 GAY35 NPPB CJ 07 5800 25500 3450 15300 PCJY 35

0.827 21 1.358 34.5 1.831 46.5 GAY107 NPPB CJ 07 5800 25500 3450 15300 PCJY 1–7/16

0.945 24 1.496 38 2.087 53 GAY108 NPPB CJ 08 7300 32500 4450 19800 PCJY 1–1/2

0.945 24 1.496 38 2.087 53 GAY40 NPPB CJ 08 7300 32500 4450 19800 PCJY 40

0.945 24 1.496 38 2.146 54.5 GAY112 NPPB CJ 09 7400 32500 4600 20400 PCJY 1–3/4

0.945 24 1.496 38 2.146 54.5 GAY45 NPPB CJ 09 7400 32500 4600 20400 PCJY 45

1.102 28 1.654 42 2.362 60 GAY115 NPPB CJ 10 7900 35000 5200 23200 PCJY 1–15/16

1.102 28 1.654 42 2.362 60 GAY50 NPPB CJ 10 7900 35000 5200 23200 PCJY 50



Four Bolt Flange Housings
RCJ SERIES
� Eccentric locking collar
� Standard R seals
� Inch and metric
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

228

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

WGT.

lbs

WGT.

kg

RCJ 1/2 1/2 0.500 12.7 2.992 76 0.394 10 0.453 11.5 1.469 37.3 2.126 54 1.103 0.5

RCJ 15 – 0.591 15 2.992 76 0.394 10 0.453 11.5 1.469 37.3 2.126 54 1.103 0.5

RCJ 5/8 5/8 0.625 15.875 2.992 76 0.394 10 0.453 11.5 1.469 37.3 2.126 54 1.103 0.5

RCJ 3/4 3/4 0.750 19.05 3.386 86 0.453 11.5 0.453 11.5 1.721 43.7 2.500 63.5 1.544 0.7

RCJ 20 – 0.787 20 3.386 86 0.453 11.5 0.453 11.5 1.721 43.7 2.500 63.5 1.544 0.7

RCJ 7/8 7/8 0.875 22.225 3.760 95.5 0.512 13 0.453 11.5 1.748 44.4 2.756 70 1.985 0.9

RCJ 15/16 15/16 0.938 23.813 3.760 95.5 0.512 13 0.453 11.5 1.748 44.4 2.756 70 1.985 0.9

RCJ 25 – 0.984 25 3.760 95.5 0.512 13 0.453 11.5 1.748 44.4 2.756 70 1.985 0.9

RCJ 1 1 1.000 25.4 3.760 95.5 0.512 13 0.453 11.5 1.748 44.4 2.756 70 1.985 0.9

RCJ 1–1/8 1–1/8 1.125 28.575 4.272 108.5 0.512 13 0.453 11.5 1.906 48.4 3.248 82.5 2.867 1.3

RCJ 30 – 1.181 30 4.272 108.5 0.512 13 0.453 11.5 1.906 48.4 3.248 82.5 2.867 1.3

RCJ 1–3/16 1–3/16 1.188 30.162 4.272 108.5 0.512 13 0.453 11.5 1.906 48.4 3.248 82.5 2.867 1.3

RCJ 1–1/4 1–1/4 1.250 31.75 4.665 118.5 0.532 13.5 0.551 14 2.012 51.1 3.622 92 3.528 1.6

RCJ 1–3/8 1–3/8 1.375 34.925 4.665 118.5 0.532 13.5 0.551 14 2.012 51.1 3.622 92 3.528 1.6

RCJ 35 – 1.378 35 4.665 118.5 0.532 13.5 0.551 14 2.012 51.1 3.622 92 3.528 1.6

RCJ 1–7/16 1–7/16 1.438 36.512 4.665 118.5 0.532 13.5 0.551 14 2.012 51.1 3.622 92 3.528 1.6

RCJ 1–1/2 1–1/2 1.500 38.1 5.118 130 0.571 14.5 0.551 14 2.217 56.3 3.996 101.5 4.851 2.2

RCJ 40 – 1.575 40 5.118 130 0.571 14.5 0.551 14 2.217 56.3 3.996 101.5 4.851 2.2

RCJ 1–5/8 1–5/8 1.625 41.275 5.413 137.5 0.571 14.5 0.551 14 2.217 56.3 4.134 105 5.292 2.4

RCJ 1–11/16 1–11/16 1.688 42.863 5.413 137.5 0.571 14.5 0.551 14 2.217 56.3 4.134 105 5.292 2.4

RCJ 1–3/4 1–3/4 1.750 44.45 5.413 137.5 0.571 14.5 0.551 14 2.217 56.3 4.134 105 5.292 2.4

RCJ 45 – 1.772 45 5.413 137.5 0.571 14.5 0.551 14 2.217 56.3 4.134 105 5.292 2.4

RCJ 1–15/16 1–15/16 1.938 49.212 5.630 143 0.591 15 0.669 17 2.469 62.7 4.370 111 6.395 2.9

RCJ 50 – 1.969 50 5.630 143 0.591 15 0.669 17 2.469 62.7 4.370 111 6.395 2.9

RCJ 2 2 2.000 50.8 6.398 162.5 0.669 17 0.669 17 2.811 71.4 5.118 130 9.041 4.1

RCJ 2–3/16 2–3/16 2.188 55.562 6.398 162.5 0.669 17 0.669 17 2.811 71.4 5.118 130 9.041 4.1

RCJ 60 – 2.362 60 6.909 175.5 0.689 17.5 0.709 18 3.063 77.8 5.630 143 11.025 5

RCJ 2–7/16 2–7/16 2.438 61.912 6.909 175.5 0.689 17.5 0.709 18 3.063 77.8 5.630 143 11.025 5



Four Bolt Flange Housings
RCJ SERIES
� Eccentric locking collar
� Standard R seals
� Inch and metric
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

229

P

inch

P

mm

T

inch

T

mm

U

inch

U

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

0.669 17 0.945 24 1.591 40.4 G1008 KRRB CJ 03 2150 9600 1070 4750 RCJ 1/2

0.669 17 0.945 24 1.591 40.4 GE15 KRRB CJ 03 2150 9600 1070 4750 RCJ 15

0.669 17 0.945 24 1.591 40.4 G1010 KRRB CJ 03 2150 9600 1070 4750 RCJ 5/8

0.748 19 1.142 29 1.795 45.6 G1012 KRRB CJ 04 2900 12800 1480 6600 RCJ 3/4

0.748 19 1.142 29 1.795 45.6 GE20 KRRB CJ 04 2900 12800 1480 6600 RCJ 20

0.748 19 1.201 30.5 1.807 45.9 G1014 KRRB CJ 05 3150 14000 1760 7800 RCJ 7/8

0.748 19 1.201 30.5 1.807 45.9 G1015KRRB CJ 05 3150 14000 1760 7800 RCJ 15/16

0.748 19 1.201 30.5 1.807 45.9 GE25 KRRB CJ 05 3150 14000 1760 7800 RCJ 25

0.748 19 1.201 30.5 1.807 45.9 G1100 KRRB CJ 05 3150 14000 1760 7800 RCJ 1

0.787 20 1.260 32 1.972 50.1 G1102 KRRB CJ 06 4350 19500 2550 11300 RCJ 1–1/8

0.787 20 1.260 32 1.972 50.1 GE30 KRRB CJ 06 4350 19500 2550 11300 RCJ 30

0.787 20 1.260 32 1.972 50.1 G1103 KRRB CJ 06 4350 19500 2550 11300 RCJ 1–3/16

0.827 21 1.358 34.5 2.098 53.3 G1104 KRRB CJ 07 5800 25500 3450 15300 RCJ 1–1/4

0.827 21 1.358 34.5 2.098 53.3 G1106 KRRB CJ 07 5800 25500 3450 15300 RCJ 1–3/8

0.827 21 1.358 34.5 2.098 53.3 GE35 KRRB CJ 07 5800 25500 3450 15300 RCJ 35

0.827 21 1.358 34.5 2.098 53.3 G1107 KRRB CJ 07 5800 25500 3450 15300 RCJ 1–7/16

0.945 24 1.496 38 2.319 58.9 G1108 KRRB CJ 08 7300 32500 4450 19800 RCJ 1–1/2

0.945 24 1.496 38 2.319 58.9 GE40 KRRB CJ 08 7300 32500 4450 19800 RCJ 40

0.945 24 1.496 38 2.319 58.9 G1110KRRB CJ 09 7400 32500 4600 20400 RCJ 1–5/8

0.945 24 1.496 38 2.319 58.9 G1111KRRB CJ 09 7400 32500 4600 20400 RCJ 1–11/16

0.945 24 1.496 38 2.319 58.9 G1112 KRRB CJ 09 7400 32500 4600 20400 RCJ 1–3/4

0.945 24 1.496 38 2.319 58.9 GE45 KRRB CJ 09 7400 32500 4600 20400 RCJ 45

1.102 28 1.654 42 2.602 66.1 G1115 KRRB CJ 10 7900 35000 5200 23200 RCJ 1–15/16

1.102 28 1.654 42 2.602 66.1 GE50 KRRB CJ 10 7900 35000 5200 23200 RCJ 50

1.221 31 1.850 47 2.937 74.6 G1200 KRRB CJ 11 9800 43500 6600 29000 RCJ 2

1.221 31 1.850 47 2.937 74.6 G1203 KRRB CJ 11 9800 43500 6600 29000 RCJ 2–3/16

1.339 34 1.929 49 3.181 80.8 GE60 KRRB CJ 12 11800 52000 8100 36000 RCJ 60

1.339 34 1.929 49 3.181 80.8 G1207 KRRB CJ 12 11800 52000 8100 36000 RCJ 2–7/16



Four Bolt Flange Housings
RCJY SERIES
� Set screw shaft locking
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

230

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

WGT.

lbs

WGT.

kg

RCJY 1/2 1/2 0.500 12.7 2.992 76 0.394 10 0.453 11.5 1.079 27.4 2.126 54 1.103 0.5

RCJY 15 – 0.591 15 2.992 76 0.394 10 0.453 11.5 1.079 27.4 2.126 54 1.103 0.5

RCJY 5/8 5/8 0.025 0.625 2.992 76 0.394 10 0.453 11.5 1.079 27.4 2.126 54 1.103 0.5

RCJY 17 – 0.669 17 2.992 76 0.394 10 0.453 11.5 1.079 27.4 2.126 54 1.103 0.5

RCJY 3/4 3/4 0.750 19.05 3.386 86 0.453 11.5 0.453 11.5 1.221 31 2.500 63.5 1.544 0.7

RCJY 20 – 0.787 20 3.386 86 0.453 11.5 0.453 11.5 1.221 31 2.500 63.5 1.544 0.7

RCJY 7/8 7/8 0.875 22.225 3.760 95.5 0.512 13 0.453 11.5 1.343 34.1 2.756 70 1.985 0.9

RCJY 15/16 15/16 0.938 23.813 3.760 95.5 0.512 13 0.453 11.5 1.343 34.1 2.756 70 1.985 0.9

RCJY 25 – 0.984 25 3.760 95.5 0.512 13 0.453 11.5 1.343 34.1 2.756 70 1.985 0.9

RCJY 1 1 1.000 25.4 3.760 95.5 0.512 13 0.453 11.5 1.343 34.1 2.756 70 1.985 0.9

RCJY 1–1/8 1–1/8 1.125 28.575 4.272 108.5 0.512 13 0.453 11.5 1.500 38.1 3.248 82.5 2.867 1.3

RCJY 30 – 1.181 30 4.272 108.5 0.512 13 0.453 11.5 1.500 38.1 3.248 82.5 2.867 1.3

RCJY 1–3/16 1–3/16 1.188 30.162 4.272 108.5 0.512 13 0.453 11.5 1.500 38.1 3.248 82.5 2.867 1.3

RCJY 1–1/4–206 1–1/4–206 1.250 31.75 4.272 108.5 0.512 13 0.453 11.5 1.500 38.1 3.248 82.5 2.867 1.3

RCJY 1–1/4 1–1/4 1.250 31.75 4.665 118.5 0.532 13.5 0.551 14 1.689 42.9 3.622 92 3.528 1.6

RCJY 1–3/8 1–3/8 1.375 34.925 4.665 118.5 0.532 13.5 0.551 14 1.689 42.9 3.622 92 3.528 1.6

RCJY 35 – 1.378 35 4.665 118.5 0.532 13.5 0.551 14 1.689 42.9 3.622 92 3.528 1.6

RCJY 1–7/16 1–7/16 1.438 36.512 4.665 118.5 0.532 13.5 0.551 14 1.689 42.9 3.622 92 3.528 1.6

RCJY 1–1/2 1–1/2 1.500 38.1 5.118 130 0.571 14.5 0.551 14 1.937 49.2 3.996 101.5 4.851 2.2

RCJY 40 – 1.575 40 5.118 130 0.571 14.5 0.551 14 1.937 49.2 3.996 101.5 4.851 2.2

RCJY 1–5/8 1–5/8 1.625 41.275 5.413 137.5 0.571 14.5 0.551 14 1.937 49.2 4.134 105 5.292 2.4

RCJY 1–11/16 1–11/16 1.688 42.863 5.413 137.5 0.571 14.5 0.551 14 1.937 49.2 4.134 105 5.292 2.4

RCJY 1–3/4 1–3/4 1.750 44.45 5.413 137.5 0.571 14.5 0.551 14 1.937 49.2 4.134 105 5.292 2.4

RCJY 45 – 1.772 45 5.413 137.5 0.571 14.5 0.551 14 1.937 49.2 4.134 105 5.292 2.4

RCJY 1–15/16 1–15/16 1.938 49.212 5.630 143 0.591 15 0.669 17 2.032 51.6 4.370 111 6.395 2.9

RCJY 50 – 1.969 50 5.630 143 0.591 15 0.669 17 2.032 51.6 4.370 111 6.395 2.9

RCJY 2 2 2.000 50.8 6.398 162.5 0.669 17 0.669 17 2.189 55.6 5.118 130 9.041 4.1

RCJY 2–3/16 2–3/16 2.188 55.562 6.398 162.5 0.669 17 0.669 17 2.189 55.6 5.118 130 9.041 4.1

RCJY 60 – 2.362 60 6.909 175.5 0.689 17.5 0.709 18 2.563 65.1 5.630 143 11.025 5

RCJY 2–7/16 2–7/16 2.438 61.912 6.909 175.5 0.689 17.5 0.709 18 2.563 65.1 5.630 143 11.025 5



Four Bolt Flange Housings
RCJY SERIES
� Set screw shaft locking
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

231

P

inch

P

mm

T

inch

T

mm

U

inch

U

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

0.669 17 0.945 24 1.295 32.9 GY1008 KRRB CJ 03 2150 9600 1070 4750 RCJY 1/2

0.669 17 0.945 24 1.295 32.9 GYE15 KRRB CJ 03 2150 9600 1070 4750 RCJY 15

0.669 17 0.945 24 1.295 32.9 GY1010 KRRB CJ 03 2150 9600 1070 4750 RCJY 5/8

0.669 17 0.945 24 1.295 32.9 GYE17 KRRB CJ 03 2150 9600 1070 4750 RCJY 17

0.748 19 1.142 29 1.469 37.3 GY1012 KRRB CJ 04 2900 12800 1480 6600 RCJY 3/4

0.748 19 1.142 29 1.469 37.3 GYE20 KRRB CJ 04 2900 12800 1480 6600 RCJY 20

0.748 19 1.201 30.5 1.528 38.8 GY1014 KRRB CJ 05 3150 14000 1760 7800 RCJY 7/8

0.748 19 1.201 30.5 1.528 38.8 GY1015 KRRB CJ 05 3150 14000 1760 7800 RCJY 15/16

0.748 19 1.201 30.5 1.528 38.8 GYE25 KRRB CJ 05 3150 14000 1760 7800 RCJY 25

0.748 19 1.201 30.5 1.528 38.8 GY1100 KRRB CJ 05 3150 14000 1760 7800 RCJY 1

0.787 20 1.260 32 1.661 42.2 GY1102 KRRB CJ 06 4350 19500 2550 11300 RCJY 1–1/8

0.787 20 1.260 32 1.661 42.2 GYE30 KRRB CJ 06 4350 19500 2550 11300 RCJY 30

0.787 20 1.260 32 1.661 42.2 GY1103 KRRB CJ 06 4350 19500 2550 11300 RCJY 1–3/16

0.787 20 1.260 32 1.661 42.2 GY1104 KRRB–206 CJ 06 4350 19500 2550 11300 RCJY 1–1/4–206

0.827 21 1.358 34.5 1.827 46.4 GY1104 KRRB CJ 07 5800 25500 3450 15300 RCJY 1–1/4

0.827 21 1.358 34.5 1.827 46.4 GY1106 KRRB CJ 07 5800 25500 3450 15300 RCJY 1–3/8

0.827 21 1.358 34.5 1.827 46.4 GYE35 KRRB CJ 07 5800 25500 3450 15300 RCJY 35

0.827 21 1.358 34.5 1.827 46.4 GY1107 KRRB CJ 07 5800 25500 3450 15300 RCJY 1–7/16

0.945 24 1.496 38 2.134 54.2 GY1108 KRRB CJ 08 7300 32500 4450 19800 RCJY 1–1/2

0.945 24 1.496 38 2.134 54.2 GYE40 KRRB CJ 08 7300 32500 4450 19800 RCJY 40

0.945 24 1.496 38 2.134 54.2 GY1110 KRRB CJ 09 7400 32500 4600 20400 RCJY 1–5/8

0.945 24 1.496 38 2.134 54.2 GY1111 KRRB CJ 09 7400 32500 4600 20400 RCJY 1–11/16

0.945 24 1.496 38 2.134 54.2 GY1112 KRRB CJ 09 7400 32500 4600 20400 RCJY 1–3/4

0.945 24 1.496 38 2.134 54.2 GYE45 KRRB CJ 09 7400 32500 4600 20400 RCJY 45

1.102 28 1.654 42 2.386 60.6 GY1115 KRRB CJ 10 7900 35000 5200 23200 RCJY 1–15/16

1.102 28 1.654 42 2.386 60.6 GYE50 KRRB CJ 10 7900 35000 5200 23200 RCJY 50

1.221 31 1.850 47 2.535 64.4 GY1200 KRRB CJ 11 9800 43500 6600 29000 RCJY 2

1.221 31 1.850 47 2.535 64.4 GY1203 KRRB CJ 11 9800 43500 6600 29000 RCJY 2–3/16

1.339 34 1.929 49 2.902 73.7 GYE60 KRRB CJ 12 11800 52000 8100 36000 RCJY 60

1.339 34 1.929 49 2.902 73.7 GY1207 KRRB CJ 12 11800 52000 8100 36000 RCJY 2–7/16



Round 4 Bolt Flange Units
With Pilot
PME SERIES
� Metric series
� Pilot or centering spigot
� Cast iron housing
� Economy seals
� Eccentric locking collar

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

232

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

T

inch

T

mm

PME20 0.787 20 3.937 100 0.315 8 0.354 9 1.221 31 3.071 78 0.669 17

PME25 0.984 25 4.528 115 0.354 9 0.354 9 1.221 31 3.543 90 0.748 19

PME30 1.181 30 4.921 125 0.374 9.5 0.453 11.5 1.406 35.7 3.937 100 0.807 20.5

PME35 1.378 35 5.315 135 0.394 10 0.453 11.5 1.532 38.9 4.331 110 0.807 20.5

PME40 1.575 40 5.709 145 0.453 11.5 0.453 11.5 1.721 43.7 4.724 120 0.906 23

PME45 1.772 45 6.102 155 0.472 12 0.551 14 1.721 43.7 5.118 130 0.984 25

PME50 1.969 50 6.496 165 0.512 13 0.551 14 1.721 43.7 5.315 135 0.984 25

CONTINUED FROM ABOVE

PART
NUMBER

U

inch

U

mm

Z

inch

Z

mm

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

WEIGHT

lbs

WEIGHT

kg

HOUSING INSERT

PME20 0.847 21.5 2.441 62 2,900 12800 1,480 6600 1.169 0.53 ME04 GRAE20NPPB

PME25 0.827 21 2.756 70 3,150 14000 1,750 7800 1.632 0.74 ME05 GRAE25NPPB

PME30 0.972 24.7 3.150 80 4,400 19500 2,550 11300 2.139 0.97 ME06 GRAE30NPPB

PME35 1.118 28.4 3.543 90 5,700 25500 3,450 15300 2.800 1.27 ME07 GRAE35NPPB

PME40 0.854 21.7 3.937 100 7,300 32500 4,450 19800 3.572 1.62 ME08 GRAE40NPPB

PME45 1.209 30.7 4.134 105 7,300 32500 4,600 20400 4.256 1.93 ME09 GRAE45NPPB

PME50 1.248 31.7 4.331 110 7,900 35000 5,200 23200 5.072 2.30 ME10 GRAE50NPPB



Round 4 Bolt Flange Units
With Pilot
PMEY SERIES
� Metric series
� Pilot or centering spigot
� Cast iron housing
� Economy seals
� Set screw locking

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

233

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

T

inch

T

mm

PMEY20 0.787 20 3.937 100 0.315 8 0.354 9 0.984 25 3.071 78 0.669 17

PMEY25 0.984 25 4.528 115 0.354 9 0.354 9 1.063 27 3.543 90 0.748 19

PMEY30 1.181 30 4.921 125 0.374 9.5 0.453 11.5 1.181 30 3.937 100 0.807 20.5

PMEY35 1.378 35 5.315 135 0.394 10 0.453 11.5 1.378 35 4.331 110 0.807 20.5

PMEY40 1.575 40 5.709 145 0.453 11.5 0.453 11.5 1.555 39.5 4.724 120 0.906 23

PMEY45 1.772 45 6.102 155 0.472 12 0.551 14 1.634 41.5 5.118 130 0.984 25

PMEY50 1.969 50 6.496 165 0.512 13 0.551 14 1.693 43 5.315 135 0.984 25

CONTINUED FROM ABOVE

PART
NUMBER

U

inch

U

mm

Z

inch

Z

mm

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

WEIGHT

lbs

WEIGHT

kg

HOUSING INSERT

PMEY20 0.610 15.5 2.441 62 2,900 12800 1,480 6600 1.455 0.66 ME04 GAY20NPPB

PMEY25 0.669 17 2.756 70 3,150 14000 1,750 7800 1.985 0.90 ME05 GAY25NPPB

PMEY30 0.748 19 3.150 80 4,400 19500 2,550 11300 2.007 0.91 ME06 GAY30NPPB

PMEY35 0.965 24.5 3.543 90 5,700 25500 3,450 15300 3.660 1.66 ME07 GAY35NPPB

PMEY40 0.689 17.5 3.937 100 7,300 32500 4,450 19800 4.697 2.13 ME08 GAY40NPPB

PMEY45 1.122 28.5 4.134 105 7,300 32500 4,600 20400 5.468 2.48 ME09 GAY45NPPB

PMEY50 1.221 31 4.331 110 7,900 35000 5,200 23200 6.439 2.92 ME10 GAY50NPPB



Round 4 Bolt Flange Units
With Pilot
RME SERIES
� Metric series
� Pilot or centering spigot
� Cast iron housing
� Standard seals
� Eccentric locking collar

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

234

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

T

inch

T

mm

RME20 0.787 20 3.937 100 0.315 8 0.354 9 1.721 43.7 3.071 78 0.669 17

RME25 0.984 25 4.528 115 0.354 9 0.354 9 1.748 44.4 3.543 90 0.748 19

RME30 1.181 30 4.921 125 0.374 9.5 0.453 11.5 1.906 48.4 3.937 100 0.807 20.5

RME35 1.378 35 5.315 135 0.394 10 0.453 11.5 2.012 51.1 4.331 110 0.807 20.5

RME40 1.575 40 5.709 145 0.453 11.5 0.453 11.5 2.217 56.3 4.724 120 0.906 23

RME45 1.772 45 6.102 155 0.472 12 0.551 14 2.217 56.3 5.118 130 0.984 25

RME50 1.969 50 6.496 165 0.512 13 0.551 14 2.469 62.7 5.315 135 0.984 25

CONTINUED FROM ABOVE

PART
NUMBER

U

inch

U

mm

Z

inch

Z

mm

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

WEIGHT

lbs

WEIGHT

kg

HOUSING INSERT

RME20 0.969 24.6 2.441 62 2,900 12800 1,480 6600 1.257 0.57 ME04 GE20KRRB

RME25 0.961 24.4 2.756 70 3,150 14000 1,750 7800 1.764 0.80 ME05 GE25KRRB

RME30 1.106 28.1 3.150 80 4,400 19500 2,550 11300 2.293 1.04 ME06 GE30KRRB

RME35 1.232 31.3 3.543 90 5,700 25500 3,450 15300 2.955 1.34 ME07 GE35KRRB

RME40 1.335 33.9 3.937 100 7,300 32500 4,450 19800 3.837 1.74 ME08 GE40KRRB

RME45 1.295 32.9 4.134 105 7,300 32500 4,600 20400 4.520 2.05 ME09 GE45KRRB

RME50 1.461 37.1 4.331 110 7,900 35000 5,200 23200 5.579 2.53 ME10 GE50KRRB



Round 4 Bolt Flange Units
With Pilot
RMEY SERIES
� Metric series
� Pilot or centering spigot
� Cast iron housing
� Standard seals
� Set screw locking

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

235

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

T

inch

T

mm

RMEY20 0.787 20 3.937 100 0.315 8 0.354 9 1.221 31 3.071 78 0.669 17

RMEY25 0.984 25 4.528 115 0.354 9 0.354 9 1.343 34.1 3.543 90 0.748 19

RMEY30 1.181 30 4.921 125 0.374 9.5 0.453 11.5 1.500 38.1 3.937 100 0.807 20.5

RMEY35 1.378 35 5.315 135 0.394 10 0.453 11.5 1.689 42.9 4.331 110 0.807 20.5

RMEY40 1.575 40 5.709 145 0.453 11.5 0.453 11.5 1.937 49.2 4.724 120 0.906 23

RMEY45 1.772 45 6.102 155 0.472 12 0.551 14 1.937 49.2 5.118 130 0.984 25

RMEY50 1.969 50 6.496 165 0.512 13 0.551 14 2.032 51.6 5.315 135 0.984 25

CONTINUED FROM ABOVE

PART
NUMBER

U

inch

U

mm

Z

inch

Z

mm

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

WEIGHT

lbs

WEIGHT

kg

HOUSING INSERT

RMEY20 0.642 16.3 2.441 62 2,900 12800 1,480 6600 1.191 0.54 ME04 GYE20KRRB

RMEY25 0.681 17.3 2.756 70 3,150 14000 1,750 7800 1.654 0.75 ME05 GYE25KRRB

RMEY30 0.795 20.2 3.150 80 4,400 19500 2,550 11300 2.183 0.99 ME06 GYE30KRRB

RMEY35 0.961 24.4 3.543 90 5,700 25500 3,450 15300 2.822 1.28 ME07 GYE35KRRB

RMEY40 1.150 29.2 3.937 100 7,300 32500 4,450 19800 3.638 1.65 ME08 GYE40KRRB

RMEY45 1.110 28.2 4.134 105 7,300 32500 4,600 20400 4.278 1.94 ME09 GYE45KRRB

RMEY50 1.244 31.6 4.331 110 7,900 35000 5,200 23200 5.138 2.33 ME10 GYE50KRRB



Two Bolt Flange Housings
PCJT SERIES
� Eccentric locking collar
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

236

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

WGT.

lbs

WGT.

kg

PCJT 1/2 1/2 0.500 12.7 2.244 57 3.898 99 0.394 10 0.453 11.5 1.126 28.6 3.012 76.5 0.882 0.4

PCJT 15 – 0.591 15 2.244 57 3.898 99 0.394 10 0.453 11.5 1.126 28.6 3.012 76.5 0.882 0.4

PCJT 5/8 5/8 0.625 15.875 2.244 57 3.898 99 0.394 10 0.453 11.5 1.126 28.6 3.012 76.5 0.882 0.4

PCJT 17 – 0.669 17 2.244 57 3.898 99 0.394 10 0.453 11.5 1.126 28.6 3.012 76.5 0.882 0.4

PCJT 3/4 3/4 0.750 19.05 2.441 62 4.409 112 0.433 11 0.453 11.5 1.221 31 3.543 90 1.103 0.5

PCJT 20 – 0.787 20 2.441 62 4.409 112 0.433 11 0.453 11.5 1.221 31 3.543 90 1.103 0.5

PCJT 7/8 7/8 0.875 22.225 2.795 71 5.118 130 0.472 12 0.453 11.5 1.221 31 3.898 99 1.544 0.7

PCJT 25 – 0.984 25 2.795 71 5.118 130 0.472 12 0.453 11.5 1.221 31 3.898 99 1.544 0.7

PCJT 1 1 1.000 25.4 2.795 71 5.118 130 0.472 12 0.453 11.5 1.221 31 3.898 99 1.544 0.7

PCJT 1–1/16 1–1/16 1.063 26.988 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.406 35.7 4.587 116.5 2.205 1

PCJT 1–1/8 1–1/8 1.125 28.575 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.406 35.7 4.587 116.5 2.205 1

PCJT 30 – 1.181 30 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.406 35.7 4.587 116.5 2.205 1

PCJT 1–3/16 1–3/16 1.188 30.162 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.406 35.7 4.587 116.5 2.205 1

PCJT 1–1/4–206 1–1/4–206 1.250 31.75 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.406 35.7 4.587 116.5 2.205 1

PCJT 1–1/4 1–1/4 1.250 31.75 3.642 92.5 6.142 156 0.551 14 0.551 14 1.532 38.9 5.118 130 2.867 1.3

PCJT 1–3/8 1–3/8 1.375 34.925 3.642 92.5 6.142 156 0.551 14 0.551 14 1.532 38.9 5.118 130 2.867 1.3

PCJT 35 – 1.378 35 3.642 92.5 6.142 156 0.551 14 0.551 14 1.532 38.9 5.118 130 2.867 1.3

PCJT 1–7/16 1–7/16 1.438 36.512 3.642 92.5 6.142 156 0.551 14 0.551 14 1.532 38.9 5.118 130 2.867 1.3

PCJT 1–1/2 1–1/2 1.500 38.1 4.154 105.5 6.811 173 0.591 15 0.551 14 1.721 43.7 5.650 143.5 3.969 1.8

PCJT 40 – 1.575 40 4.154 105.5 6.811 173 0.591 15 0.551 14 1.721 43.7 5.650 143.5 3.969 1.8

PCJT 1–3/4 1–3/4 1.750 44.45 4.409 112 7.106 180.5 0.591 15 0.551 14 1.721 43.7 5.847 148.5 4.631 2.1

PCJT 45 – 1.772 45 4.409 112 7.106 180.5 0.591 15 0.551 14 1.721 43.7 5.847 148.5 4.631 2.1

PCJT 1–15/16 1–15/16 1.938 49.212 4.587 116.5 7.520 191 0.630 16 0.669 17 1.721 43.7 6.181 157 5.513 2.5

PCJT 50 – 1.969 50 4.587 116.5 7.520 191 0.630 16 0.669 17 1.721 43.7 6.181 157 5.513 2.5

PCJT 2 2 2.000 50.8 5.295 134.5 8.898 226 0.669 17 0.669 17 1.906 48.4 7.244 184 8.600 3.9

PCJT 2–3/16 2–3/16 2.188 55.562 5.295 134.5 8.898 226 0.669 17 0.669 17 1.906 48.4 7.244 184 8.600 3.9

PCJT 60 – 2.362 60 5.512 140 9.409 239 0.709 18 0.709 18 2.091 53.1 7.953 202 9.482 4.3

PCJT 2–7/16 2–7/16 2.438 61.912 5.512 140 9.409 239 0.709 18 0.709 18 2.091 53.1 7.953 202 9.482 4.3



Two Bolt Flange Housings
PCJT SERIES
� Eccentric locking collar
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

237

P

inch

P

mm

T

inch

T

mm

U

inch

U

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

0.669 17 0.945 24 1.539 39.1 GRA 008 NPPB CJT 03 2150 9600 1070 4750 PCJT 1/2

0.669 17 0.945 24 1.539 39.1 GRAE 15 NPPB CJT 03 2150 9600 1070 4750 PCJT 15

0.669 17 0.945 24 1.539 39.1 GRA 010 NPPB CJT 03 2150 9600 1070 4750 PCJT 5/8

0.669 17 0.945 24 1.539 39.1 GRAE 17 NPPB CJT 03 2150 9600 1070 4750 PCJT 17

0.748 19 1.161 29.5 1.673 42.5 GRA 012 NPPB CJT 04 2900 12800 1480 6600 PCJT 3/4

0.748 19 1.161 29.5 1.673 42.5 GRAE 20 NPPB CJT 04 2900 12800 1480 6600 PCJT 20

0.748 19 1.083 27.5 1.673 42.5 GRA 014 NPPB CJT 05 3150 14000 1760 7800 PCJT 7/8

0.748 19 1.083 27.5 1.673 42.5 GRAE 25 NPPB CJT 05 3150 14000 1760 7800 PCJT 25

0.748 19 1.083 27.5 1.673 42.5 GRA 100 NPPB CJT 05 3150 14000 1760 7800 PCJT 1

0.787 20 1.280 32.5 1.839 46.7 GRA 101 NPPB CJT 06 4350 19500 2550 11300 PCJT 1–1/16

0.787 20 1.280 32.5 1.839 46.7 GRA 102 NPPB CJT 06 4350 19500 2550 11300 PCJT 1–1/8

0.787 20 1.280 32.5 1.839 46.7 GRAE 30 NPPB CJT 06 4350 19500 2550 11300 PCJT 30

0.787 20 1.280 32.5 1.839 46.7 GRA 103 NPPB CJT 06 4350 19500 2550 11300 PCJT 1–3/16

0.787 20 1.280 32.5 1.839 46.7 GRA 104 NPPB–206 CJT 06 4350 19500 2550 11300 PCJT 1–1/4–206

0.827 21 1.358 34.5 1.984 50.4 GRA 104 NPPB CJT 07 5800 25500 3450 15300 PCJT 1–1/4

0.827 21 1.358 34.5 1.984 50.4 GRA 106 NPPB CJT 07 5800 25500 3450 15300 PCJT 1–3/8

0.827 21 1.358 34.5 1.984 50.4 GRAE 35 NPPB CJT 07 5800 25500 3450 15300 PCJT 35

0.827 21 1.358 34.5 1.984 50.4 GRA 107 NPPB CJT 07 5800 25500 3450 15300 PCJT 1–7/16

0.945 24 1.496 38 2.232 56.7 GRA 108 NPPB CJT 08 7300 32500 4450 19800 PCJT 1–1/2

0.945 24 1.496 38 2.232 56.7 GRAE 40 NPPB CJT 08 7300 32500 4450 19800 PCJT 40

0.945 24 1.516 38.5 2.232 56.7 GRA 112 NPPB CJT 09 7400 32500 4600 20400 PCJT 1–3/4

0.945 24 1.516 38.5 2.232 56.7 GRAE 45 NPPB CJT 09 7400 32500 4600 20400 PCJT 45

1.102 28 1.693 43 2.390 60.7 GRA 115 NPPB CJT 10 7900 35000 5200 23200 PCJT 1–15/16

1.102 28 1.693 43 2.390 60.7 GRAE 50 NPPB CJT 10 7900 35000 5200 23200 PCJT 50

1.221 31 1.811 46 2.654 67.4 GRA 200 NPPB CJT 11 9800 43500 6600 29000 PCJT 2

1.221 31 1.811 46 2.654 67.4 GRA 203 NPPB CJT 11 9800 43500 6600 29000 PCJT 2–3/16

1.339 34 1.949 49.5 2.898 73.6 GRAE 60 NPPB CJT 12 11800 52000 8100 36000 PCJT 60

1.339 34 1.949 49.5 2.898 73.6 GRA 207 NPPB CJT 12 11800 52000 8100 36000 PCJT 2–7/16



Two Bolt Flange Housings
PCJTY SERIES
� Set screw shaft locking
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

238

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

WGT.

lbs

WGT.

kg

PCJTY 1/2 1/2 0.500 12.7 2.244 57 3.898 99 0.394 10 0.453 11.5 0.866 22 3.012 76.5 0.882 0.4

PCJTY 15 – 0.591 15 2.244 57 3.898 99 0.394 10 0.453 11.5 0.866 22 3.012 76.5 0.882 0.4

PCJTY 5/8 5/8 0.625 15.875 2.244 57 3.898 99 0.394 10 0.453 11.5 0.866 22 3.012 76.5 0.882 0.4

PCJTY 17 – 0.669 17 2.244 57 3.898 99 0.394 10 0.453 11.5 0.866 22 3.012 76.5 0.882 0.4

PCJTY 3/4 3/4 0.750 19.05 2.441 62 4.409 112 0.433 11 0.453 11.5 0.984 25 3.543 90 1.103 0.5

PCJTY 20 – 0.787 20 2.441 62 4.409 112 0.433 11 0.453 11.5 0.984 25 3.543 90 1.103 0.5

PCJTY 7/8 7/8 0.875 22.225 2.795 71 5.118 130 0.472 12 0.453 11.5 1.063 27 3.898 99 1.544 0.7

PCJTY 25 – 0.984 25 2.795 71 5.118 130 0.472 12 0.453 11.5 1.063 27 3.898 99 1.544 0.7

PCJTY 1 1 1.000 25.4 2.795 71 5.118 130 0.472 12 0.453 11.5 1.063 27 3.898 99 1.544 0.7

PCJTY 30 – 1.181 30 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.181 30 4.587 116.5 2.205 1

PCJTY 1–3/16 1–3/16 1.188 30.162 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.181 30 4.587 116.5 2.205 1

PCJTY 1–1/4 1–1/4 1.250 31.75 3.642 92.5 6.142 156 0.551 14 0.551 14 1.378 35 5.118 130 2.867 1.3

PCJTY 35 – 1.378 35 3.642 92.5 6.142 156 0.551 14 0.551 14 1.378 35 5.118 130 2.867 1.3

PCJTY 1–7/16 1–7/16 1.438 36.512 3.642 92.5 6.142 156 0.551 14 0.551 14 1.378 35 5.118 130 2.867 1.3

PCJTY 1–1/2 1–1/2 1.500 38.1 4.154 105.5 6.811 173 0.591 15 0.551 14 1.555 39.5 5.650 143.5 3.969 1.8

PCJTY 40 – 1.575 40 4.154 105.5 6.811 173 0.591 15 0.551 14 1.555 39.5 5.650 143.5 3.969 1.8

PCJTY 1–3/4 1–3/4 1.750 44.45 4.409 112 7.106 180.5 0.591 15 0.551 14 1.634 41.5 5.847 148.5 4.631 2.1

PCJTY 45 – 1.772 45 4.409 112 7.106 180.5 0.591 15 0.551 14 1.634 41.5 5.847 148.5 4.631 2.1

PCJTY 1–15/16 1–15/16 1.938 49.212 4.587 116.5 7.520 191 0.630 16 0.669 17 1.693 43 6.181 157 5.513 2.5

PCJTY 50 – 1.969 50 4.587 116.5 7.520 191 0.630 16 0.669 17 1.693 43 6.181 157 5.513 2.5



Two Bolt Flange Housings
PCJTY SERIES
� Set screw shaft locking
� Economy P seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

239

P

inch

P

mm

T

inch

T

mm

U

inch

U

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

0.669 17 0.945 24 1.299 33 GAY008 NPPB CJT 03 2150 9600 1070 4750 PCJTY 1/2

0.669 17 0.945 24 1.299 33 GAY15 NPPB CJT 03 2150 9600 1070 4750 PCJTY 15

0.669 17 0.945 24 1.299 33 GAY010 NPPB CJT 03 2150 9600 1070 4750 PCJTY 5/8

0.669 17 0.945 24 1.299 33 GAY17 NPPB CJT 03 2150 9600 1070 4750 PCJTY 17

0.748 19 1.161 29.5 1.457 37 GAY012 NPPB CJT 04 2900 12800 1480 6600 PCJTY 3/4

0.748 19 1.161 29.5 1.457 37 GAY20 NPPB CJT 04 2900 12800 1480 6600 PCJTY 20

0.748 19 1.083 27.5 1.516 38.5 GAY014 NPPB CJT 05 3150 14000 1760 7800 PCJTY 7/8

0.748 19 1.083 27.5 1.516 38.5 GAY25 NPPB CJT 05 3150 14000 1760 7800 PCJTY 25

0.748 19 1.083 27.5 1.516 38.5 GAY100 NPPB CJT 05 3150 14000 1760 7800 PCJTY 1

0.787 20 1.280 32.5 1.614 41 GAY30 NPPB CJT 06 4350 19500 2550 11300 PCJTY 30

0.787 20 1.280 32.5 1.614 41 GAY103 NPPB CJT 06 4350 19500 2550 11300 PCJTY 1–3/16

0.827 21 1.358 34.5 1.831 46.5 GAY104 NPPB CJT 07 5800 25500 3450 15300 PCJTY 1–1/4

0.827 21 1.358 34.5 1.831 46.5 GAY35 NPPB CJT 07 5800 25500 3450 15300 PCJTY 35

0.827 21 1.358 34.5 1.831 46.5 GAY107 NPPB CJT 07 5800 25500 3450 15300 PCJTY 1–7/16

0.945 24 1.496 38 2.087 53 GAY108 NPPB CJT 08 7300 32500 4450 19800 PCJTY 1–1/2

0.945 24 1.496 38 2.087 53 GAY40 NPPB CJT 08 7300 32500 4450 19800 PCJTY 40

0.945 24 1.516 38.5 2.146 54.5 GAY112 NPPB CJT 09 7400 32500 4600 20400 PCJTY 1–3/4

0.945 24 1.516 38.5 2.146 54.5 GAY45 NPPB CJT 09 7400 32500 4600 20400 PCJTY 45

1.102 28 1.693 43 2.362 60 GAY115 NPPB CJT 10 7900 35000 5200 23200 PCJTY 1–15/16

1.102 28 1.693 43 2.362 60 GAY50 NPPB CJT 10 7900 35000 5200 23200 PCJTY 50



Two Bolt Flange Housings
RCJT SERIES
� Eccentric locking collar
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

240

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

WGT.

lbs

WGT.

kg

RCJT 1/2 1/2 0.500 12.7 2.244 57 3.898 99 0.394 10 0.453 11.5 1.469 37.3 3.012 76.5 0.882 0.4

RCJT 15 – 0.591 15 2.244 57 3.898 99 0.394 10 0.453 11.5 1.469 37.3 3.012 76.5 0.882 0.4

RCJT 5/8 5/8 0.625 15.875 2.244 57 3.898 99 0.394 10 0.453 11.5 1.469 37.3 3.012 76.5 0.882 0.4

RCJT 3/4 3/4 0.750 19.05 2.441 62 4.409 112 0.433 11 0.453 11.5 1.721 43.7 3.543 90 1.103 0.5

RCJT 20 – 0.787 20 2.441 62 4.409 112 0.433 11 0.453 11.5 1.721 43.7 3.543 90 1.103 0.5

RCJT 7/8 7/8 0.875 22.225 2.795 71 5.118 130 0.472 12 0.453 11.5 1.748 44.4 3.898 99 1.544 0.7

RCJT 15/16 15/16 0.938 23.813 2.795 71 5.118 130 0.472 12 0.453 11.5 1.748 44.4 3.898 99 1.544 0.7

RCJT 25 – 0.984 25 2.795 71 5.118 130 0.472 12 0.453 11.5 1.748 44.4 3.898 99 1.544 0.7

RCJT 1 1 1.000 25.4 2.795 71 5.118 130 0.472 12 0.453 11.5 1.748 44.4 3.898 99 1.544 0.7

RCJT 1–1/8 1–1/8 1.125 28.575 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.906 48.4 4.587 116.5 2.205 1

RCJT 30 – 1.181 30 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.906 48.4 4.587 116.5 2.205 1

RCJT 1–3/16 1–3/16 1.188 30.162 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.906 48.4 4.587 116.5 2.205 1

RCJT 1–1/4 1–1/4 1.250 31.75 3.642 92.5 6.142 156 0.551 14 0.551 14 2.012 51.1 5.118 130 2.867 1.3

RCJT 1–3/8 1–3/8 1.375 34.925 3.642 92.5 6.142 156 0.551 14 0.551 14 2.012 51.1 5.118 130 2.867 1.3

RCJT 35 – 1.378 35 3.642 92.5 6.142 156 0.551 14 0.551 14 2.012 51.1 5.118 130 2.867 1.3

RCJT 1–7/16 1–7/16 1.438 36.512 3.642 92.5 6.142 156 0.551 14 0.551 14 2.012 51.1 5.118 130 2.867 1.3

RCJT 1–1/2 1–1/2 1.500 38.1 4.154 105.5 6.811 173 0.591 15 0.551 14 2.217 56.3 5.650 143.5 3.969 1.8

RCJT 40 – 1.575 40 4.154 105.5 6.811 173 0.591 15 0.551 14 2.217 56.3 5.650 143.5 3.969 1.8

RCJT 1–5/8 1–5/8 1.625 41.275 4.409 112 7.106 180.5 0.591 15 0.551 14 2.217 56.3 5.847 148.5 4.631 2.1

RCJT 1–11/16 1–11/16 1.688 42.863 4.409 112 7.106 180.5 0.591 15 0.551 14 2.217 56.3 5.847 148.5 4.631 2.1

RCJT 1–3/4 1–3/4 1.750 44.45 4.409 112 7.106 180.5 0.591 15 0.551 14 2.217 56.3 5.847 148.5 4.631 2.1

RCJT 45 – 1.772 45 4.409 112 7.106 180.5 0.591 15 0.551 14 2.217 56.3 5.847 148.5 4.631 2.1

RCJT 1–15/16 1–15/16 1.938 49.212 4.587 116.5 7.520 191 0.630 16 0.669 17 2.469 62.7 6.181 157 5.513 2.5

RCJT 50 – 1.969 50 4.587 116.5 7.520 191 0.630 16 0.669 17 2.469 62.7 6.181 157 5.513 2.5

RCJT 2 2 2.000 50.8 5.295 134.5 8.898 226 0.669 17 0.669 17 2.811 71.4 7.244 184 8.6 3.9

RCJT 2–3/16 2–3/16 2.188 55.562 5.295 134.5 8.898 226 0.669 17 0.669 17 2.811 71.4 7.244 184 8.6 3.9

RCJT 60 – 2.362 60 5.512 140 9.409 239 0.709 18 0.709 18 3.063 77.8 7.953 202 9.482 4.3

RCJT 2–7/16 2–7/16 2.438 61.912 5.512 140 9.409 239 0.709 18 0.709 18 3.063 77.8 7.953 202 9.482 4.3



Two Bolt Flange Housings
RCJT SERIES
� Eccentric locking collar
� Standard R seals
� Inch and metric sizes
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

241

P

inch

P

mm

T

inch

T

mm

U

inch

U

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

0.669 17 0.945 24 1.591 40.4 G1008 KRRB CJT 03 2150 9600 1070 4750 RCJT 1/2

0.669 17 0.945 24 1.591 40.4 GE15 KRRB CJT 03 2150 9600 1070 4750 RCJT 15

0.669 17 0.945 24 1.591 40.4 G1010 KRRB CJT 03 2150 9600 1070 4750 RCJT 5/8

0.748 19 1.161 29.5 1.795 45.6 G1012 KRRB CJT 04 2900 12800 1480 6600 RCJT 3/4

0.748 19 1.161 29.5 1.795 45.6 GE20 KRRB CJT 04 2900 12800 1480 6600 RCJT 20

0.748 19 1.083 27.5 1.807 45.9 G1014 KRRB CJT 05 3150 14000 1760 7800 RCJT 7/8

0.748 19 1.083 27.5 1.807 45.9 G1015KRRB CJT 05 3150 14000 1760 7800 RCJT 15/16

0.748 19 1.083 27.5 1.807 45.9 GE25 KRRB CJT 05 3150 14000 1760 7800 RCJT 25

0.748 19 1.083 27.5 1.807 45.9 G1100 KRRB CJT 05 3150 14000 1760 7800 RCJT 1

0.787 20 1.280 32.5 1.972 50.1 G1102 KRRB CJT 06 4350 19500 2550 11300 RCJT 1–1/8

0.787 20 1.280 32.5 1.972 50.1 GE30 KRRB CJT 06 4350 19500 2550 11300 RCJT 30

0.787 20 1.280 32.5 1.972 50.1 G1103 KRRB CJT 06 4350 19500 2550 11300 RCJT 1–3/16

0.827 21 1.358 34.5 2.098 53.3 G1104 KRRB CJT 07 5800 25500 3450 15300 RCJT 1–1/4

0.827 21 1.358 34.5 2.098 53.3 G1106 KRRB CJT 07 5800 25500 3450 15300 RCJT 1–3/8

0.827 21 1.358 34.5 2.098 53.3 GE35 KRRB CJT 07 5800 25500 3450 15300 RCJT 35

0.827 21 1.358 34.5 2.098 53.3 G1107 KRRB CJT 07 5800 25500 3450 15300 RCJT 1–7/16

0.945 24 1.496 38 2.319 58.9 G1108 KRRB CJT 08 7300 32500 4450 19800 RCJT 1–1/2

0.945 24 1.496 38 2.319 58.9 GE40 KRRB CJT 08 7300 32500 4450 19800 RCJT 40

0.945 24 1.516 38.5 2.319 58.9 G1110KRRB CJT 09 7400 32500 4600 20400 RCJT 1–5/8

0.945 24 1.516 38.5 2.319 58.9 G1111KRRB CJT 09 7400 32500 4600 20400 RCJT 1–11/16

0.945 24 1.516 38.5 2.319 58.9 G1112 KRRB CJT 09 7400 32500 4600 20400 RCJT 1–3/4

0.945 24 1.516 38.5 2.319 58.9 GE45 KRRB CJT 09 7400 32500 4600 20400 RCJT 45

1.102 28 1.693 43 2.602 66.1 G1115 KRRB CJT 10 7900 35000 5200 23200 RCJT 1–15/16

1.102 28 1.693 43 2.602 66.1 GE50 KRRB CJT 10 7900 35000 5200 23200 RCJT 50

1.221 31 1.811 46 2.937 74.6 G1200 KRRB CJT 11 9800 43500 6600 29000 RCJT 2

1.221 31 1.811 46 2.937 74.6 G1203 KRRB CJT 11 9800 43500 6600 29000 RCJT 2–3/16

1.339 34 1.949 49.5 3.181 80.8 GE60 KRRB CJT 12 11800 52000 8100 36000 RCJT 60

1.339 34 1.949 49.5 3.181 80.8 G1207 KRRB CJT 12 11800 52000 8100 36000 RCJT 2–7/16



Two Bolt Flange Housings
RCJTY SERIES
� Set screw shaft locking
� Standard R seals
� Inch and metric series
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

242

PART NUMBER SHAFT
d

inch

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

WGT.

lbs

WGT.

kg

RCJTY 1/2 1/2 0.500 12.7 2.244 57 3.898 99 0.394 10 0.453 11.5 1.079 27.4 3.012 76.5 0.882 0.4

RCJTY 15 – 0.591 15 2.244 57 3.898 99 0.394 10 0.453 11.5 1.079 27.4 3.012 76.5 0.882 0.4

RCJTY 5/8 5/8 0.025 0.625 2.244 57 3.898 99 0.394 10 0.453 11.5 1.079 27.4 3.012 76.5 0.882 0.4

RCJTY 17 – 0.669 17 2.244 57 3.898 99 0.394 10 0.453 11.5 1.079 27.4 3.012 76.5 0.882 0.4

RCJTY 3/4 3/4 0.750 19.05 2.441 62 4.409 112 0.433 11 0.453 11.5 1.221 31 3.543 90 1.103 0.5

RCJTY 20 – 0.787 20 2.441 62 4.409 112 0.433 11 0.453 11.5 1.221 31 3.543 90 1.103 0.5

RCJTY 7/8 7/8 0.875 22.225 2.795 71 5.118 130 0.472 12 0.453 11.5 1.343 34.1 3.898 99 1.544 0.7

RCJTY 15/16 15/16 0.938 23.813 2.795 71 5.118 130 0.472 12 0.453 11.5 1.343 34.1 3.898 99 1.544 0.7

RCJTY 25 – 0.984 25 2.795 71 5.118 130 0.472 12 0.453 11.5 1.343 34.1 3.898 99 1.544 0.7

RCJTY 1 1 1.000 25.4 2.795 71 5.118 130 0.472 12 0.453 11.5 1.343 34.1 3.898 99 1.544 0.7

RCJTY 1–1/8 1–1/8 1.125 28.575 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.500 38.1 4.587 116.5 2.205 1

RCJTY 30 – 1.181 30 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.500 38.1 4.587 116.5 2.205 1

RCJTY 1–3/16 1–3/16 1.188 30.162 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.500 38.1 4.587 116.5 2.205 1

RCJTY 1–1/4–206 1–1/4–206 1.250 31.75 3.169 80.5 5.591 142 0.512 13 0.453 11.5 1.500 38.1 4.587 116.5 2.205 1

RCJTY 1–1/4 1–1/4 1.250 31.75 3.642 92.5 6.142 156 0.551 14 0.551 14 1.689 42.9 5.118 130 2.867 1.3

RCJTY 1–3/8 1–3/8 1.375 34.925 3.642 92.5 6.142 156 0.551 14 0.551 14 1.689 42.9 5.118 130 2.867 1.3

RCJTY 35 – 1.378 35 3.642 92.5 6.142 156 0.551 14 0.551 14 1.689 42.9 5.118 130 2.867 1.3

RCJTY 1–7/16 1–7/16 1.438 36.512 3.642 92.5 6.142 156 0.551 14 0.551 14 1.689 42.9 5.118 130 2.867 1.3

RCJTY 1–1/2 1–1/2 1.500 38.1 4.154 105.5 6.811 173 0.591 15 0.551 14 1.937 49.2 5.650 143.5 3.969 1.8

RCJTY 40 – 1.575 40 4.154 105.5 6.811 173 0.591 15 0.551 14 1.937 49.2 5.650 143.5 3.969 1.8

RCJTY 1–5/8 1–5/8 1.625 41.275 4.409 112 7.106 180.5 0.591 15 0.551 14 1.937 49.2 5.847 148.5 4.631 2.1

RCJTY 1–11/16 1–11/16 1.688 42.863 4.409 112 7.106 180.5 0.591 15 0.551 14 1.937 49.2 5.847 148.5 4.631 2.1

RCJTY 1–3/4 1–3/4 1.750 44.45 4.409 112 7.106 180.5 0.591 15 0.551 14 1.937 49.2 5.847 148.5 4.631 2.1

RCJTY 45 – 1.772 45 4.409 112 7.106 180.5 0.591 15 0.551 14 1.937 49.2 5.847 148.5 4.631 2.1

RCJTY 1–15/16 1–15/16 1.938 49.212 4.587 116.5 7.520 191 0.630 16 0.669 17 2.032 51.6 6.181 157 5.513 2.5

RCJTY 50 – 1.969 50 4.587 116.5 7.520 191 0.630 16 0.669 17 2.032 51.6 6.181 157 5.513 2.5

RCJTY 2 2 2.000 50.8 5.295 134.5 8.898 226 0.669 17 0.669 17 2.189 55.6 7.244 184 8.600 3.9

RCJTY 2–3/16 2–3/16 2.188 55.562 5.295 134.5 8.898 226 0.669 17 0.669 17 2.189 55.6 7.244 184 8.600 3.9

RCJTY 60 – 2.362 60 5.512 140 9.409 239 0.709 18 0.709 18 2.563 65.1 7.953 202 9.482 4.3

RCJTY 2–7/16 2–7/16 2.438 61.912 5.512 140 9.409 239 0.709 18 0.709 18 2.563 65.1 7.953 202 9.482 4.3



Two Bolt Flange Housings
RCJTY SERIES
� Set screw shaft locking
� Standard R seals
� Inch and metric series
� Set screws are metric for metric sizes
� Housing dimensions per ABMA standards

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

243

P

inch

P

mm

T

inch

T

mm

U

inch

U

mm

INSERT HSG. DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

PART NUMBER

0.669 17 0.945 24 1.295 32.9 GY1008 KRRB CJT 03 2150 9600 1070 4750 RCJTY 1/2

0.669 17 0.945 24 1.295 32.9 GYE15 KRRB CJT 03 2150 9600 1070 4750 RCJTY 15

0.669 17 0.945 24 1.295 32.9 GY1010 KRRB CJT 03 2150 9600 1070 4750 RCJTY 5/8

0.669 17 0.945 24 1.295 32.9 GYE17 KRRB CJT 03 2150 9600 1070 4750 RCJTY 17

0.748 19 1.161 29.5 1.469 37.3 GY1012 KRRB CJT 04 2900 12800 1480 6600 RCJTY 3/4

0.748 19 1.161 29.5 1.469 37.3 GYE20 KRRB CJT 04 2900 12800 1480 6600 RCJTY 20

0.748 19 1.083 27.5 1.528 38.8 GY1014 KRRB CJT 05 3150 14000 1760 7800 RCJTY 7/8

0.748 19 1.083 27.5 1.528 38.8 GY1015 KRRB CJT 05 3150 14000 1760 7800 RCJTY 15/16

0.748 19 1.083 27.5 1.528 38.8 GYE25 KRRB CJT 05 3150 14000 1760 7800 RCJTY 25

0.748 19 1.083 27.5 1.528 38.8 GY1100 KRRB CJT 05 3150 14000 1760 7800 RCJTY 1

0.787 20 1.280 32.5 1.661 42.2 GY1102 KRRB CJT 06 4350 19500 2550 11300 RCJTY 1–1/8

0.787 20 1.280 32.5 1.661 42.2 GYE30 KRRB CJT 06 4350 19500 2550 11300 RCJTY 30

0.787 20 1.280 32.5 1.661 42.2 GY1103 KRRB CJT 06 4350 19500 2550 11300 RCJTY 1–3/16

0.787 20 1.280 32.5 1.661 42.2 GY1104 KRRB–206 CJT 06 4350 19500 2550 11300 RCJTY 1–1/4–206

0.827 21 1.358 34.5 1.827 46.4 GY1104 KRRB CJT 07 5800 25500 3450 15300 RCJTY 1–1/4

0.827 21 1.358 34.5 1.827 46.4 GY1106 KRRB CJT 07 5800 25500 3450 15300 RCJTY 1–3/8

0.827 21 1.358 34.5 1.827 46.4 GYE35 KRRB CJT 07 5800 25500 3450 15300 RCJTY 35

0.827 21 1.358 34.5 1.827 46.4 GY1107 KRRB CJT 07 5800 25500 3450 15300 RCJTY 1–7/16

0.945 24 1.496 38 2.134 54.2 GY1108 KRRB CJT 08 7300 32500 4450 19800 RCJTY 1–1/2

0.945 24 1.496 38 2.134 54.2 GYE40 KRRB CJT 08 7300 32500 4450 19800 RCJTY 40

0.945 24 1.516 38.5 2.134 54.2 GY1110 KRRB CJT 09 7400 32500 4600 20400 RCJTY 1–5/8

0.945 24 1.516 38.5 2.134 54.2 GY1111 KRRB CJT 09 7400 32500 4600 20400 RCJTY 1–11/16

0.945 24 1.516 38.5 2.134 54.2 GY1112 KRRB CJT 09 7400 32500 4600 20400 RCJTY 1–3/4

0.945 24 1.516 38.5 2.134 54.2 GYE45 KRRB CJT 09 7400 32500 4600 20400 RCJTY 45

1.102 28 1.693 43 2.386 60.6 GY1115 KRRB CJT 10 7900 35000 5200 23200 RCJTY 1–15/16

1.102 28 1.693 43 2.386 60.6 GYE50 KRRB CJT 10 7900 35000 5200 23200 RCJTY 50

1.221 31 1.811 46 2.535 64.4 GY1200 KRRB CJT 11 9800 43500 6600 29000 RCJTY 2

1.221 31 1.811 46 2.535 64.4 GY1203 KRRB CJT 11 9800 43500 6600 29000 RCJTY 2–3/16

1.339 34 1.949 49.5 2.902 73.7 GYE60 KRRB CJT 12 11800 52000 8100 36000 RCJTY 60

1.339 34 1.949 49.5 2.902 73.7 GY1207 KRRB CJT 12 11800 52000 8100 36000 RCJTY 2–7/16



Housing Units
FLCTE, GLCTE SERIES
� Metric
� Two bolt flange
� FL, Greased for life
� GL, Relubricable

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

244

PART NUMBER SHAFT

inch

SHAFT

mm

A

inch

A

mm

B

inch

B

mm

C

inch

C

mm

K

inch

K

mm

FLCTE30 1.181 30 3.307 84 4.429 112.5 0.807 20.5 0.453 11.5

FLCTE35 1.378 35 3.701 94 4.961 126 0.866 22 0.453 11.5

FLCTE40 1.575 40 3.937 100 5.906 150 0.945 24 0.551 14

GLCTE30 1.181 30 3.307 84 4.429 112.5 0.807 20.5 0.453 11.5

GLCTE35 1.378 35 3.701 94 4.961 126 0.866 22 0.453 11.5

GLCTE40 1.575 40 3.937 100 5.906 150 0.945 24 0.551 14

CONTINUED FROM ABOVE

PART NUMBER L

inch

L

mm

M

inch

M

mm

U

inch

U

mm

WGT.

lbs

WGT.

kg

HOUSING. INSERT

FLCTE30 1.406 35.7 3.563 90.5 1.500 38.1 1.676 0.76 LCTE06 RAE30NPPB

FLCTE35 1.532 38.9 3.937 100 1.646 41.8 2.249 1.02 LCTE07 RAE35NPPB

FLCTE40 1.721 43.7 4.685 119 1.819 46.2 2.800 1.27 LCTE08 RAE40NPPB

GLCTE30 1.406 35.7 3.563 90.5 1.500 38.1 1.676 0.76 GLCTE06 GRAE30NPPB

GLCTE35 1.532 38.9 3.937 100 1.646 41.8 2.249 1.02 GLCTE07 GRAE35NPPB

GLCTE40 1.721 43.7 4.685 119 1.819 46.2 2.800 1.27 GLCTE08 GRAE40NPPB



Housing Units
PCJTZ SERIES
� Metric series
� 2 bolt flange
� Housing pilot
� Economy seal
� Eccentric locking collar

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

245

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

T

inch

T

mm

PCJTZ20 0.787 20 2.402 61 4.409 112 0.394 10 0.453 11.5 1.221 31 3.543 90 1.102 28

PCJTZ25 0.984 25 2.756 70 4.882 124 0.433 11 0.453 11.5 1.221 31 3.898 99 1.043 26.5

PCJTZ30 1.181 30 3.150 80 5.591 142 0.472 12 0.453 11.5 1.406 35.7 4.587 116.5 1.024 26

PCJTZ35 1.378 35 3.622 92 6.102 155 0.492 12.5 0.551 14.0 1.532 38.9 5.118 130 1.043 26.5

PCJTZ40 1.575 40 4.134 105 6.772 172 0.512 13 0.551 14.0 1.721 43.7 5.650 143.5 1.201 30.5

PCJTZ45 1.772 45 4.370 111 7.087 180 0.512 13 0.551 14.0 1.721 43.7 5.847 148.5 1.221 31

PCJTZ50 1.969 50 4.567 116 7.480 190 0.512 13 0.709 18.0 1.721 43.7 6.181 157 1.378 35

CONTINUED FROM ABOVE

PART
NUMBER

T1

inch

T1

mm

U

inch

U

mm

Z

inch

Z

mm

DYN. CAP.
C

lbf

DYN. CAP.
C

N

STAT. CAP.
C0

lbf

STAT. CAP.
C0

N

WEIGHT

lbs

WEIGHT

kg

HOUSING INSERT

PCJTZ20 0.138 3.5 1.673 42.5 2.165 55 2,900 12800 1,480 6600 1.080 0.490 CJTZ04 GRAE20NPPB

PCJTZ25 0.138 3.5 1.673 42.5 2.362 60 3,150 14000 1,750 7800 1.279 0.580 CJTZ05 GRAE25NPPB

PCJTZ30 0.118 3 1.937 49.2 3.150 80 4,400 19500 2,550 11300 1.830 0.830 CJTZ06 GRAE30NPPB

PCJTZ35 0.158 4 1.984 50.4 3.543 90 5,750 25500 3,450 15300 2.536 1.150 CJTZ07 GRAE35NPPB

PCJTZ40 0.158 4 2.232 56.7 3.937 100 7,300 32500 4,450 19800 3.462 1.570 CJTZ08 GRAE40NPPB

PCJTZ45 0.158 4 2.232 56.7 4.134 105 7,300 32500 4,600 20400 3.837 1.740 CJTZ09 GRAE45NPPB

PCJTZ50 0.158 4 2.390 60.7 4.134 105 7,850 35000 5,200 23200 4.366 1.980 CJTZ10 GRAE50NPPB



Housing Units
PCJTZY SERIES
� Metric series
� 2 bolt flange
� Housing pilot
� Economy seals
� Set screw locking

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

246

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

T

inch

T

mm

PCJTZY20 0.787 20 2.402 61 4.409 112 0.394 10 0.453 11.5 0.984 25 3.543 90 1.248 31.7

PCJTZY25 0.984 25 2.756 70 4.882 124 0.433 11 0.453 11.5 1.063 27 3.898 99 1.043 26.5

PCJTZY30 1.181 30 3.150 80 5.591 142 0.472 12 0.453 11.5 1.181 30 4.587 116.5 1.024 26

PCJTZY35 1.378 35 3.622 92 6.102 155 0.492 12.5 0.551 14.0 1.378 35 5.118 130 1.043 26.5

PCJTZY40 1.575 40 4.134 105 6.772 172 0.512 13 0.551 14.0 1.555 39.5 5.650 143.5 1.201 30.5

PCJTZY45 1.772 45 4.370 111 7.087 180 0.512 13 0.551 14.0 1.634 41.5 5.847 148.5 1.221 31

PCJTZY50 1.969 50 4.567 116 7.480 190 0.512 13 0.709 18.0 1.693 43 6.181 157 1.378 35

CONTINUED FROM ABOVE

PART
NUMBER

T1

inch

T1

mm

U

inch

U

mm

Z

inch

Z

mm

DYN. CAP.
C

lbf

DYN. CAP.
C

N

STAT. CAP.
C0

lbf

STAT. CAP.
C0

N

WEIGHT

lbs

WEIGHT

kg

HOUSING INSERT

PCJTZY20 0.138 3.5 1.457 37 2.165 55 2,900 12800 1,480 6600 1.014 0.460 CJTZ04 GAY20NPPB

PCJTZY25 0.138 3.5 1.516 38.5 2.362 60 3,150 14000 1,750 7800 1.103 0.500 CJTZ05 GAY25NPPB

PCJTZY30 0.118 3 1.614 41 3.150 80 4,400 19500 2,550 11300 1.698 0.770 CJTZ06 GAY30NPPB

PCJTZY35 0.158 4 1.831 46.5 3.543 90 5,750 25500 3,450 15300 2.337 1.060 CJTZ07 GAY35NPPB

PCJTZY40 0.158 4 2.087 53 3.937 100 7,300 32500 4,450 19800 3.219 1.460 CJTZ08 GAY40NPPB

PCJTZY45 0.158 4 2.146 54.5 4.134 105 7,300 32500 4,600 20400 3.528 1.600 CJTZ09 GAY45NPPB

PCJTZY50 0.158 4 2.362 60 4.134 105 7,850 35000 5,200 23200 4.035 1.830 CJTZ10 GAY50NPPB



Housing Units
RCJTZ SERIES
� Metric series
� 2 bolt flange
� Housing pilot
� Standard seals
� Eccentric locking collar

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

247

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

T

inch

T

mm

RCJTZ20 0.787 20 2.382 60.5 4.429 112.5 0.394 10 0.453 11.5 1.721 43.7 3.543 90 1.102 28

RCJTZ25 0.984 25 2.756 70 4.882 124 0.472 12 0.453 11.5 1.748 44.4 3.898 99 1.043 26.5

RCJTZ30 1.181 30 3.150 80 5.591 142 0.472 12 0.453 11.5 1.906 48.4 4.587 116.5 1.024 26

RCJTZ35 1.378 35 3.701 94 6.102 155 0.492 12.5 0.551 14.0 2.012 51.1 5.118 130 1.043 26.5

RCJTZ40 1.575 40 4.134 105 6.772 172 0.512 13 0.551 14.0 2.217 56.3 5.650 143.5 1.201 30.5

RCJTZ45 1.772 45 4.370 111 7.087 180 0.512 13 0.551 14.0 2.217 56.3 5.847 148.5 1.221 31

RCJTZ50 1.969 50 4.567 116 7.480 190 0.512 13 0.551 14.0 2.469 62.7 6.181 157 1.378 35

CONTINUED FROM ABOVE

PART
NUMBER

T1

inch

T1

mm

U

inch

U

mm

Z

inch

Z

mm

DYN. CAP.
C

lbf

DYN. CAP.
C

N

STAT. CAP.
C0

lbf

STAT. CAP.
C0

N

WEIGHT

lbs

WEIGHT

kg

HOUSING INSERT

RCJTZ20 0.138 3.5 1.780 45.2 2.165 55 2,900 12800 1,480 6600 1.169 0.530 CJTZ04 GE20KRRB

RCJTZ25 0.138 3.5 1.807 45.9 2.362 60 3,150 14000 1,750 7800 1.411 0.640 CJTZ05 GE25KRRB

RCJTZ30 0.118 3 1.854 47.1 3.150 80 4,400 19500 2,550 11300 1.985 0.900 CJTZ06 GE30KRRB

RCJTZ35 0.158 4 1.941 49.3 3.543 90 5,750 25500 3,450 15300 2.690 1.220 CJTZ07 GE35KRRB

RCJTZ40 0.158 4 2.161 54.9 3.937 100 7,300 32500 4,450 19800 3.726 1.690 CJTZ08 GE40KRRB

RCJTZ45 0.158 4 2.161 54.9 4.134 105 7,300 32500 4,600 20400 4.101 1.860 CJTZ09 GE45KRRB

RCJTZ50 0.158 4 2.445 62.1 4.134 105 7,850 35000 5,200 23200 4.873 2.210 CJTZ10 GE50KRRB



Housing Units
RCJTZY SERIES
� Metric series
� 2 bolt flange
� Housing pilot
� Standard seals
� Set screw locking

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

248

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

C

inch

C

mm

K

inch

K

mm

L

inch

L

mm

M

inch

M

mm

T

inch

T

mm

RCJTZY20 0.787 20 2.402 61 4.409 112 0.394 10 0.453 11.5 1.221 31 3.543 90 1.248 31.7

RCJTZY25 0.984 25 2.756 70 4.882 124 0.433 11 0.453 11.5 1.343 34.1 3.898 99 1.043 26.5

RCJTZY30 1.181 30 3.150 80 5.591 142 0.472 12 0.453 11.5 1.500 38.1 4.587 116.5 1.024 26

RCJTZY35 1.378 35 3.622 92 6.102 155 0.492 12.5 0.551 14.0 1.689 42.9 5.118 130 1.043 26.5

RCJTZY40 1.575 40 4.134 105 6.772 172 0.512 13 0.551 14.0 1.937 49.2 5.650 143.5 1.201 30.5

RCJTZY45 1.772 45 4.370 111 7.087 180 0.512 13 0.551 14.0 1.937 49.2 5.847 148.5 1.221 31

RCJTZY50 1.969 50 4.567 116 7.480 190 0.512 13 0.709 18.0 2.032 51.6 6.181 157 1.378 35

CONTINUED FROM ABOVE

PART
NUMBER

T1

inch

T1

mm

U

inch

U

mm

Z

inch

Z

mm

DYN. CAP.
C

lbf

DYN. CAP.
C

N

STAT. CAP.
C0

lbf

STAT. CAP.
C0

N

WEIGHT

lbs

WEIGHT

kg

HOUSING INSERT

RCJTZY20 0.138 3.5 1.469 37.3 2.165 55 2,900 12800 1,480 6600 1.103 0.500 CJTZ04 GYE20KRRB

RCJTZY25 0.138 3.5 1.528 38.8 2.362 60 3,150 14000 1,750 7800 1.301 0.590 CJTZ05 GYE25KRRB

RCJTZY30 0.118 3 1.661 42.2 3.150 80 4,400 19500 2,550 11300 1.698 0.770 CJTZ06 GYE30KRRB

RCJTZY35 0.158 4 1.906 48.4 3.543 90 5,750 25500 3,450 15300 2.558 1.160 CJTZ07 GYE35KRRB

RCJTZY40 0.158 4 2.134 54.2 3.937 100 7,300 32500 4,450 19800 3.528 1.600 CJTZ08 GYE40KRRB

RCJTZY45 0.158 4 2.134 54.2 4.134 105 7,300 32500 4,600 20400 3.859 1.750 CJTZ09 GYE45KRRB

RCJTZY50 0.158 4 2.386 60.6 4.134 105 7,850 35000 5,200 23200 4.873 2.210 CJTZ10 GYE50KRRB



Take Up Units
PTUE SERIES
� Metric series
� ISO slot width
� Economy seals
� Eccentric locking collar

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

249

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

D

inch

D

mm

E

inch

E

mm

F

inch

F

mm

G

inch

G

mm

H

inch

H

mm

K

inch

K

mm

PTUE20 0.7874 20 3.7205 94.5 0.9843 25 0.4724 12 1.4567 37 0.3543 9 0.7087 18 2.3622 60 0.7480 19

PTUE25 0.9843 25 3.8780 98.5 0.9843 25 0.4724 12 1.4567 37 0.3937 10 0.7087 18 2.4409 62 0.7480 19

PTUE30 1.1811 30 4.5079 114.5 0.9843 25 0.4724 12 1.4567 37 0.3937 10 0.7087 18 2.7559 70 0.8661 22

PTUE35 1.3780 35 5.1772 131.5 1.1811 30 0.4724 12 1.5748 40 0.5118 13 0.7087 18 3.1496 80 0.8661 22

PTUE40 1.5748 40 5.5512 141 1.3780 35 0.6299 16 1.9685 50 0.6299 16 0.7874 20 3.4646 88 1.1417 29

PTUE45 1.7717 45 5.5512 141 1.3780 35 0.6299 16 1.9685 50 0.6299 16 0.7874 20 3.4646 88 1.1417 29

PTUE50 1.9685 50 5.8268 148 1.3780 35 0.6299 16 1.9685 50 0.6299 16 0.7874 20 3.5433 90 1.1417 29

CONTINUED FROM ABOVE

PART
NUMBER

K1

inch

K1

mm

M

inch

M

mm

O

inch

O

mm

V

inch

V

mm

W

inch

W

mm

WGT.

lbs

WGT.

kg

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

HSG. INSERT

PTUE20 1.2598 32 2.9921 76 0.9252 23.5 3.5433 90 1.9685 50 1.83 0.83 2,900 12800 1,480 6600 TUE04 GRAE20NPPB

PTUE25 1.2598 32 2.9921 76 0.9252 23.5 3.5433 90 1.9685 50 1.874 0.85 3,150 14000 1,750 7800 TUE05 GRAE25NPPB

PTUE30 1.4370 36.5 3.5039 89 1.0512 26.7 4.0157 102 2.2441 57 2.58 1.17 4,400 19500 2,550 11300 TUE06 GRAE30NPPB

PTUE35 1.4370 36.5 3.5039 89 1.1575 29.4 4.0157 102 2.4803 63 3.815 1.73 5,750 25500 3,450 15300 TUE07 GRAE35NPPB

PTUE40 1.9291 49 4.0157 102 1.2874 32.7 4.5276 115 3.2283 82 5.292 2.4 7,300 32500 4,450 19800 TUE08 GRAE40NPPB

PTUE45 1.9291 49 4.0157 102 1.2874 32.7 4.5276 115 3.2283 82 5.49 2.49 7,300 32500 4,600 20400 TUE09 GRAE45NPPB

PTUE50 1.9291 49 4.0157 102 1.2874 32.7 4.5276 115 3.3465 85 5.336 2.42 7,850 35000 5,200 23200 TUE10 GRAE50NPPB



Take Up Units
RTUE SERIES
� Metric series
� ISO slot width
� Standard seals
� Eccentric locking collar

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

250

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

A

inch

A

mm

B

inch

B

mm

D

inch

D

mm

E

inch

E

mm

F

inch

F

mm

G

inch

G

mm

H

inch

H

mm

K

inch

K

mm

RTUE20 0.787 20 3.721 94.5 0.984 25 0.472 12 1.457 37 0.354 9 0.709 18 2.362 60 0.748 19

RTUE25 0.984 25 3.878 98.5 0.984 25 0.472 12 1.457 37 0.394 10 0.709 18 2.441 62 0.748 19

RTUE30 1.181 30 4.508 114.5 0.984 25 0.472 12 1.457 37 0.394 10 0.709 18 2.756 70 0.866 22

RTUE35 1.378 35 5.177 131.5 1.181 30 0.472 12 1.575 40 0.512 13 0.709 18 3.150 80 0.866 22

RTUE40 1.575 40 5.551 141 1.378 35 0.630 16 1.969 50 0.630 16 0.787 20 3.465 88 1.142 29

RTUE45 1.772 45 5.551 141 1.378 35 0.630 16 1.969 50 0.630 16 0.787 20 3.465 88 1.142 29

RTUE50 1.969 50 5.827 148 1.378 35 0.630 16 1.969 50 0.630 16 0.787 20 3.543 90 1.142 29

CONTINUED FROM ABOVE

PART
NUMBER

K1

inch

K1

mm

M

inch

M

mm

O

inch

O

mm

V

inch

V

mm

W

inch

W

mm

WGT.

lbs

WGT.

kg

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

HSG. INSERT

RTUE20 1.260 32 2.992 76 1.047 26.6 3.543 90 1.969 50 1.918 0.87 2900 12800 1480 6600 TUE04 GE20KRRB

RTUE25 1.260 32 2.992 76 1.059 26.9 3.543 90 1.969 50 2.007 0.91 3150 14000 1750 7800 TUE05 GE25KRRB

RTUE30 1.437 36.5 3.504 89 1.185 30.1 4.016 102 2.244 57 2.734 1.24 4400 19500 2550 11300 TUE06 GE30KRRB

RTUE35 1.437 36.5 3.504 89 1.272 32.3 4.016 102 2.480 63 3.969 1.8 5750 25500 3450 15300 TUE07 GE35KRRB

RTUE40 1.929 49 4.016 102 1.374 34.9 4.528 115 3.228 82 5.557 2.52 7300 32500 4450 19800 TUE08 GE40KRRB

RTUE45 1.929 49 4.016 102 1.374 34.9 4.528 115 3.228 82 5.750 2.61 7300 32500 4600 20400 TUE09 GE45KRRB

RTUE50 1.929 49 4.016 102 1.500 38.1 4.528 115 3.347 85 5.843 2.65 7850 35000 5200 23200 TUE10 GE50KRRB



Housing Units
PSFT SERIES
� Metric series
� Pivoting 2 bolt flange take up unit
� Economy seals
� Eccentric locking collar

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

251

PART
NUMBER

SHAFT
d

inch

SHAFT
d

mm

a

inch

a

mm

b

inch

b

mm

K

inch

K

mm

k1

inch

k1

mm

L

inch

L

mm

M

inch

M

mm

PSFT 20 0.787 20 4.409 112 0.394 10 0.453 11.5 1.181 30 1.221 31 3.543 90

PSFT 25 0.984 25 4.882 124 0.433 11 0.453 11.5 1.476 37.5 1.221 31 3.898 99

PSFT30 1.181 30 5.591 142 0.472 12 0.453 11.5 1.575 40 1.406 35.7 4.606 117

PSFT35 1.378 35 6.102 155 0.492 12.5 0.551 14 1.772 45 1.532 38.9 5.039 128

CONTINUED FROM ABOVE

PART
NUMBER

T

inch

T

mm

U

inch

U

mm

V

inch

V

mm

WGT.

lbs

WGT.

kg

DYN.
CAP.

C

lbf

DYN.
CAP.

C

N

STAT.
CAP.
C0

lbf

STAT.
CAP.
C0

N

HSG. INSERT

PSFT 20 0.709 18 1.339 34 2.402 61 1.985 0.9 2,900 12800 1,480 6600 SFT04 GRAE20NPPB

PSFT 25 0.787 20 1.417 36 2.756 70 1.235 0.56 3,150 14000 1,750 7800 SFT05 GRAE25NPPB

PSFT30 0.866 22 1.563 39.7 3.150 80 1.698 0.77 4,400 19500 2,550 11300 SFT06 GRAE30NPPB

PSFT35 0.984 25 1.752 44.5 3.543 90 2.426 1.1 5,750 25500 3,450 15300 SFT07 GRAE35NPPB



Sprockets
KSR..BO SERIES
� Eccentric collar shaft locking
� Available sprockets are steel, powdered iron or plastic

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

252

PART NUMBER SHAFT
d

inch

SHAFT
d

mm

PITCH
p

inch

PITCH
p

inch

PITCH
p

mm

TEETH
z

qty

B

inch

B

mm

D0

inch

D0

mm

Dk

inch

Dk

mm

ANSI
CHAIN

REF

KSR15 BO 06 10 20 08 0.5906 15 3/8” 0.375 9.525 20 0.2047 5.2 2.3976 60.9 2.5591 65

KSR15 BO 08 10 16 08 0.5906 15 1/2” 0.5 12.7 16 0.2756 7 2.563 65.1 2.7756 70.5 40

KSR15 BO 10 10 14 08 0.5906 15 5/8” 0.625 15.875 14 0.3425 8.7 2.8071 71.3 3.0709 78 40

KSR15 BO 12 10 13 08 0.5906 15 3/4” 0.75 19.05 13 0.4134 10.5 3.1339 79.6 3.4252 87 40

KSR20 BO 08 10 18 08 0.7874 20 1/2” 0.5 12.7 18 0.2756 7 2.878 73.1 3.0945 78.6 40

KSR20 BO 08 10 18 15 0.7874 20 1/2” 0.5 12.7 18 0.2756 7 2.878 73.1 3.0945 78.6 50

KSR20 BO 10 10 17 08 0.7874 20 5/8” 0.625 15.875 17 0.3425 8.7 3.3976 86.3 3.6654 93.1 50

KSR20 BO 10 10 17 15 0.7874 20 5/8” 0.625 15.875 17 0.3425 8.7 3.3976 86.3 3.6654 93.1 50

KSR20 BO 12 10 15 16 0.7874 20 3/4” 0.75 19.05 15 0.4134 10.5 3.6063 91.6 3.9055 99.2 60

KSR20 BO 16 10 10 15 0.7874 20 1” 1 25.4 10 0.6024 15.3 3.2402 82.3 3.5197 89.4 60

KSR20 BO 20 10 10 15 0.7874 20 1 1/4” 1.25 31.75 10 0.7087 18 4.0512 102.9 4.3937 111.6 80

KSR25 BO 08 10 19 08 0.9843 25 1/2” 0.5 12.7 19 0.2756 7 3.0354 77.1 3.248 82.5 80

KSR25 BO 16 10 17 15 0.9843 25 1” 1 25.4 17 0.6024 15.3 5.4409 138.2 5.878 149.3 80

KSR30 BO 16 10 15 15 1.1811 30 1” 1 25.4 15 0.6024 15.3 4.811 122.2 5.1575 131 100

KSR30 BO 24 10 15 15 1.1811 30 1 1/2” 1.5 38.1 15 0.8976 22.8 7.2126 183.2 7.8622 199.7 120



Sprockets
KSR..BO SERIES
� Eccentric collar shaft locking
� Available sprockets are steel, powdered iron or plastic

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

253

Cmin

inch

Cmin

mm

F

inch

F

mm

L

inch

L

mm

B1

inch

B1

mm

Rmax

inch

Rmax

mm

a

inch

a

mm

WGT.

lbs

WGT.

kg

DIN
8187

CHAIN

DIN
8188

CHAIN

PART NUMBER

0.0315 0.8 1.5748 40 1.126 28.6 0.4724 12 1.1024 28 0.1181 3 0.397 0.18 *  KSR15 BO 06 10 20 08

0.0433 1.1 1.5748 40 1.126 28.6 0.4724 12 1.1024 28 0.1181 3 0.463 0.21 *  KSR15 BO 08 10 16 08

0.0512 1.3 1.5748 40 1.1142 28.3 0.4724 12 1.1024 28 0.1181 3 0.573 0.26 * * KSR15 BO 10 10 14 08

0.0591 1.5 1.5748 40 1.126 28.6 0.4724 12 1.1024 28 0.1181 3 0.882 0.4 * * KSR15 BO 12 10 13 08

0.0433 1.1 1.8504 47 1.2205 31 0.5512 14 1.2992 33 0.1181 3 0.706 0.32 * * KSR20 BO 08 10 18 08

0.0433 1.1 1.8504 47 1.2205 31 0.5512 14 1.2992 33 0.1181 3 0.706 0.32 * * KSR20 BO 08 10 18 15

0.0512 1.3 1.8504 47 1.2205 31 0.5512 14 1.2992 33 0.1181 3 0.904 0.41 * * KSR20 BO 10 10 17 08

0.0512 1.3 1.8504 47 1.2205 31 0.5512 14 1.2992 33 0.1181 3 0.904 0.41 * * KSR20 BO 10 10 17 15

0.0591 1.5 1.8504 47 1.2205 31 0.5512 14 1.2992 33 0.1181 3 1.036 0.47 * * KSR20 BO 12 10 15 16

0.0787 2 1.8504 47 1.2205 31 0.5512 14 1.2992 33 0.1181 3 1.103 0.5 *  KSR20 BO 16 10 10 15

0.0984 2.5 1.8504 47 1.2205 31 0.5512 14 1.2992 33 0.1181 3 2.359 1.07 * * KSR20 BO 20 10 10 15

0.0433 1.1 2.0472 52 1.2205 31 0.5906 15 1.4764 37.5 0.1181 3 0.639 0.29 * * KSR25 BO 08 10 19 08

0.0787 2 2.0472 52 1.2205 31 0.5906 15 1.4764 37.5 0.1181 3 3.352 1.52 *  KSR25 BO 16 10 17 15

0.0787 2 2.4409 62 1.4055 35.7 0.7087 18 1.7323 44 0.1575 4 2.955 1.34 *  KSR30 BO 16 10 15 15

0.1299 3.3 2.4409 62 1.4055 35.7 0.7087 18 1.7323 44 0.1575 4 4.41 2 * * KSR30 BO 24 10 15 15



Sprockets
KSR..LO, KSR..KO SERIES
� Available sprockets are steel, powdered iron or plastic

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

KSR..LO KSR..KO

254

PART NUMBER SHAFT
d

inch

SHAFT
d

mm

PITCH
p

inch

PITCH
p

inch

PIT CH
p

mm

TEETH
z

qty

B

inch

B

mm

D0

inch

D0

mm

Dk

inch

Dk

mm

ANSI
CHAIN

REF

KSR 16 LO 06 10 20 08 0.630 16 3/8” 0.375 9.525 20 0.205 5.2 2.398 60.9 2.559 65  

KSR 16 LO 06 10 20 22 0.630 16 3/8” 0.375 9.525 20 0.205 5.2 2.398 60.9 2.559 65  

KSR 16 LO 08 10 16 08 0.630 16 1/2” 0.5 12.7 16 0.276 7 2.563 65.1 2.776 70.5 40

KSR 16 LO 08 10 16 22 0.630 16 1/2” 0.5 12.7 16 0.276 7 2.563 65.1 2.776 70.5 40

KSR 16 LO 08 10 18 08 0.630 16 1/2” 0.5 12.7 18 0.276 7 2.878 73.1 3.095 78.6 40

KSR 16 LO 08 10 18 09 0.630 16 1/2” 0.5 12.7 18 0.276 7 2.878 73.1 3.095 78.6 40

KSR 16 LO 08 10 18 16 0.630 16 1/2” 0.5 12.7 18 0.276 7 2.878 73.1 3.095 78.6 40

KSR 16 LO 08 10 18 22 0.630 16 1/2” 0.5 12.7 18 0.276 7 2.878 73.1 3.095 78.6 40

KSR 16 LO 10 10 14 08 0.630 16 5/8” 0.625 15.875 14 0.343 8.7 2.807 71.3 3.071 78 50

KSR 16 LO 10 10 14 22 0.630 16 5/8” 0.625 15.875 14 0.343 8.7 2.807 71.3 3.071 78 50

KSR 16 LO 10 10 17 08 0.630 16 5/8” 0.625 15.875 17 0.343 8.7 3.402 86.4 3.665 93.1 50

KSR 16 LO 10 10 17 09 0.630 16 5/8” 0.625 15.875 17 0.343 8.7 3.402 86.4 3.665 93.1 50

KSR 16 LO 10 10 17 22 0.630 16 5/8” 0.625 15.875 17 0.343 8.7 3.402 86.4 3.665 93.1 50

KSR 16 LO 12 10 13 08 0.630 16 3/4” 0.75 19.05 13 0.413 10.5 3.134 79.6 3.425 87 60

KSR 16 LO 12 10 13 22 0.630 16 3/4” 0.75 19.05 13 0.413 10.5 3.134 79.6 3.425 87 60

KSR 16 LO 12 10 15 08 0.630 16 3/4” 0.75 19.05 15 0.413 10.5 3.606 91.6 3.906 99.2 60

KSR 16 LO 12 10 15 09 0.630 16 3/4” 0.75 19.05 15 0.413 10.5 3.606 91.6 3.906 99.2 60

KSR 16 LO 12 10 15 22 0.630 16 3/4” 0.75 19.05 15 0.413 10.5 3.606 91.6 3.906 99.2 60

KSR 16 LO 12 10 17 15 0.630 16 3/4” 0.75 19.05 17 0.413 10.5 4.083 103.7 4.386 111.4 60

KSR 16 LO 12 10 20 15 0.630 16 3/4” 0.75 19.05 20 0.413 10.5 4.795 121.8 5.118 130 60

KSR 20 LO 16 10 12 15 0.787 20 1” 1 25.4 12 0.602 15.3 3.862 98.1 4.236 107.6 80

KSR 20 LO 16 10 12 16 0.787 20 1” 1 25.4 12 0.602 15.3 3.862 98.1 4.236 107.6 80

KSR 20 LO 16 10 12 22 0.787 20 1” 1 25.4 12 0.602 15.3 3.862 98.1 4.236 107.6 80

KSR 25 LO 20 10 09 16 0.984 25 1 1/4” 1.25 31.75 9 0.693 17.6 3.654 92.8 4.055 103 100

KSR 25 LO 20 10 13 15 0.984 25 1 1/4” 1.25 31.75 13 0.693 17.6 5.224 132.7 5.669 144 100

KSR 40 KO 08 20 38 15 1.575 40 1/2” 0.5 12.7 38 0.280 7.1 6.055 153.8 6.260 159 40

KSR 40 KO 10 20 30 15 1.575 40 5/8” 0.625 15.875 30 0.343 8.7 5.984 152 6.221 158 50



Sprockets
KSR..LO, KSR..KO SERIES
� Available sprockets are steel, powdered iron or plastic

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

KSR..LO KSR..KO

255

Cmin

inch

Cmin

mm

F

inch

F

mm

L

inch

L

mm

B1

inch

B1

mm

Rmax

inch

Rmax

mm

WGT.

lbs

WGT.

kg

DIN
8187

CHAIN

DIN
8188

CHAIN

PART NUMBER

0.032 0.8 1.575 40 0.721 18.3 0.472 12   0.309 0.14 *  KSR 16 LO 06 10 20 08

0.032 0.8 1.575 40 0.721 18.3 0.709 18 1.890 48 0.221 0.1 * * KSR 16 LO 06 10 20 22

0.043 1.1 1.575 40 0.721 18.3 0.472 12   0.353 0.16 * * KSR 16 LO 08 10 16 08

0.043 1.1 1.575 40 0.721 18.3 0.713 18.1 1.890 48 0.221 0.1 * * KSR 16 LO 08 10 16 22

0.043 1.1 1.575 40 0.721 18.3 0.472 12   0.463 0.21 * * KSR 16 LO 08 10 18 08

0.043 1.1 1.575 40 0.721 18.3 0.472 12   0.463 0.21 * * KSR 16 LO 08 10 18 09

0.043 1.1 1.575 40 0.721 18.3 0.472 12   0.463 0.21 * * KSR 16 LO 08 10 18 16

0.043 1.1 1.575 40 0.721 18.3 0.709 18 1.890 48 0.331 0.15 * * KSR 16 LO 08 10 18 22

0.051 1.3 1.575 40 0.721 18.3 0.472 12   0.463 0.21 * * KSR 16 LO 10 10 14 08

0.051 1.3 1.575 40 0.721 18.3 0.713 18.1 1.890 48 0.463 0.21 * * KSR 16 LO 10 10 14 22

0.051 1.3 1.575 40 0.721 18.3 0.472 12   0.706 0.32 * * KSR 16 LO 10 10 17 08

0.051 1.3 1.575 40 0.721 18.3 0.472 12   0.706 0.32 * * KSR 16 LO 10 10 17 09

0.051 1.3 1.575 40 0.721 18.3 0.709 18 1.890 48 0.573 0.26 * * KSR 16 LO 10 10 17 22

0.059 1.5 1.575 40 0.721 18.3 0.472 12   0.728 0.33 * * KSR 16 LO 12 10 13 08

0.059 1.5 1.575 40 0.721 18.3 0.709 18 1.890 48 0.595 0.27 *  KSR 16 LO 12 10 13 22

0.059 1.5 1.575 40 0.721 18.3 0.472 12   0.926 0.42 * * KSR 16 LO 12 10 15 08

0.059 1.5 1.575 40 0.721 18.3 0.472 12   0.926 0.42 * * KSR 16 LO 12 10 15 09

0.059 1.5 1.575 40 0.721 18.3 0.709 18 1.890 48 0.794 0.36 * * KSR 16 LO 12 10 15 22

0.059 1.5 1.575 40 0.721 18.3 0.472 12   1.279 0.58 * * KSR 16 LO 12 10 17 15

0.059 1.5 1.575 40 0.721 18.3 0.472 12   1.896 0.86 * * KSR 16 LO 12 10 20 15

0.079 2 1.850 47 0.697 17.7 0.551 14   1.544 0.7 *  KSR 20 LO 16 10 12 15

0.079 2 1.850 47 0.697 17.7 0.551 14   1.544 0.7 *  KSR 20 LO 16 10 12 16

0.079 2 1.850 47 0.697 17.7 0.866 22 2.165 55 0.419 0.19 * * KSR 20 LO 16 10 12 22

0.098 2.5 2.047 52 0.827 21 0.591 15   1.764 0.8 * * KSR 25 LO 20 10 09 16

0.098 2.5 2.047 52 0.827 21 0.591 15   3.528 1.6 * * KSR 25 LO 20 10 13 15

0.039 1 3.150 80 0.709 18     2.205 1  * KSR 40 KO 08 20 38 15

0.051 1.3 3.150 80 0.709 18     2.426 1.1 * * KSR 40 KO 10 20 30 15



Idler Pulleys
RSR SERIES
� Sheet steel construction for low weight
� Series A for V belts
� Series B for flat, round or wide V belts
� Series C and D for round belts, rope or steel cable

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

RSRA RSR..WORSRB

256

PART NUMBER SHAFT
d

inch

SHAFT
d

mm

D

inch

D

mm

E

inch

E

mm

F

inch

F

mm

W

inch

W

mm

TYPE ANGLE

deg

RSR A 15  90 LO 0.591 15 3.543 90 2.425 61.6 0.488 12.4 0.787 20 A 32

RSR A 17 102 KO 0.669 17 4.015 102 2.787 70.8 0.5 12.7 0.866 22 A 34

RSR A 13 129 LO 0.512 13 5.078 129 2.901 73.7 0.87 22.1 1.252 31.8 A 32

RSR A 16 129 LO 0.630 16 5.078 129 2.901 73.7 0.87 22.1 1.252 31.8 A 32

RSR A 13 186 LO 0.512 13 7.322 186 5.149 130.8 0.87 22.1 1.252 31.8 A 32

RSR A 16 186 LO 0.630 16 7.322 186 5.149 130.8 0.87 22.1 1.252 31.8 A 32

RSR B 15  92 LO 0.591 15 3.622 92 3 76.2 0.874 22.2 1.22 31 B 10

RSR B 13 117 LO 0.512 13 4.606 117 3.976 101 1 25.4 1.417 36 B 10

RSR B 16 117 LO 0.630 16 4.606 117 3.976 101 1 25.4 1.417 36 B 10

RSR B 13 159 LO 0.512 13 6.259 159 5.5 139.7 1 25.4 1.437 36.5 B 10

RSR B 16 159 LO 0.630 16 6.259 159 5.5 139.7 1 25.4 1.437 36.5 B 10

RSR B 17 159 WO 0.669 17 6.259 159 5.5 139.7 1 25.4 1.437 36.5 B/WO 10

RSR B 13 222 LO 0.512 13 8.74 222 7.992 203 1.496 38 1.968 50 B 10

RSR B 16 222 LO 0.630 16 8.74 222 7.992 203 1.496 38 1.968 50 B 10

RSR B 17 222 WO 0.669 17 8.74 222 7.992 203 1.732 44 2.126 54 B/WO 10

RSR D 25 150 LO 0.984 25 6.063 154 5.236 133 0.669 17 0.944 24 D _

RSR D 20 160 LO 0.787 20 6.133 155.8 5.374 136.5 0.531 13.5 0.689 17.5 D _



Idler Pulleys
RSR SERIES
� Sheet steel construction for low weight
� Series A for V belts
� Series B for flat, round or wide V belts
� Series C and D for round belts, rope or steel cable

For details on part numbers, descriptive suffixes and various technical references, please refer to front of this section.
For engineering or technical information contact your local sales representative or call Distributor Sales (800)523-6572.

RSRA RSR..WORSRB

257

WGT.

lbs

WGT.

kg

FOR V-BELT
SIZE TO DIN2215

(ISO/R434, ISO/R60
(DIN7753, ISO/R460

DYN. CAP.
C

lbf

DYN. CAP.
C

N

STAT. CAP.
C0

lbf

STAT. CAP.
C0

N

REFERENCE
BEARING

PART NUMBER

0.53 0.24 8,10, (12 1710 7600 830 3700 202 KRR RSR A 15  90 LO

0.93 0.42 8,10, (12 2150 9600 1070 4750 6203 2 RS RSR A 17 102 KO

1.24 0.56 13,17, 20, 22 2150 9600 1070 4750 203 KRRAH05 RSR A 13 129 LO

1.19 0.54 13,17, 20, 22 2150 9600 1070 4750 203 KRRAH02 RSR A 16 129 LO

2.49 1.13 13,17, 20, 22 2150 9600 1070 4750 203 KRRAH05 RSR A 13 186 LO

2.45 1.11 13,17, 20, 22 2150 9600 1070 4750 203 KRRAH02 RSR A 16 186 LO

0.68 0.31 1710 7600 830 3700 202 KRR RSR B 15  92 LO

1.1 0.5 2150 9600 1070 4750 203 KRRAH05 RSR B 13 117 LO

1.06 0.48 2150 9600 1070 4750 203 KRRAH02 RSR B 16 117 LO

1.76 0.8 2150 9600 1070 4750 203 KRRAH05 RSR B 13 159 LO

1.72 0.78 2150 9600 1070 4750 203 KRRAH02 RSR B 16 159 LO

1.48 0.67 3350 14800 2040 9100 3203 2 RS RSR B 17 159 WO

3.24 1.47 2150 9600 1070 4750 203 KRRAH05 RSR B 13 222 LO

3.2 1.45 2150 9600 1070 4750 203 KRRAH02 RSR B 16 222 LO

3.31 1.5 3350 14800 2040 9100 3203 2 RS RSR B 17 222 WO

1.83 0.83 3150 14000 1760 7800 205 KRR RSR D 25 150 LO

1.65 0.75 2900 12800 1480 6600 204 KRR RSR D 20 160 LO



NOTES

258



INA SALES OFFICES
MANUFACTURING PLANTS

SALES OFFICES

TORONTO, CANADA

INA Canada Inc.
2871 Plymouth Drive
Oakville, Ontario L6H 5S5
Toll Free: 800-263-4397

Telephone: 905-829-2750
Fax: 905-829-2563

MONTREAL, CANADA

INA Canada Inc.
149 Avenue Guthrie
Dorval, Quebec H9P 2P1
Toll Free: 800-361-7015

Telephone: 514-631-2214
Fax: 514-631-9571

VANCOUVER, CANADA

INA Canada Inc.
106-1668 Derwent Way
Delta, British Columbia, V3M  R9
Toll Free: 800-663-9006

Telephone: 604-526-3500
Fax: 604-526-6544

MEXICO CITY, MEXICO

INA Mexico, S.A. de C.V.
Paseo de la Reforma 383-704
Col. Cuauhtemoc
06500 Mexico D.F.
Telephone: 525-525-00-12 / 01-84
Fax: 525-525-01-94

OTHER COUNTRIES

Argentina Italy
Australia Japan
Austria Korea
Belgium Netherlands
Brazil Norway
Denmark Portugal
Finland South Africa
France Spain
Germany Sweden
Great Britain Turkey

MANUFACTURING PLANTS

PARENT COMPANY

INA Waelzlager Schaeffler oHG
Industriestrasse 1-3
P.O. Box 1220
D-91074 Herzogenaurach
Germany
Telephone: (49132) 82-0
Fax: (49132) 82 49 33

UNITED STATES

PLANT I
INA USA Corporation
One INA Drive
P.O. Box 390
Cheraw, South Carolina 29520
Telephone: 843-537-9341/9346
Fax: 843-537-8751

PLANT II
INA USA Corporation
Highway 9 West
P.O. Box 390
Cheraw, South Carolina 29520
Telephone: 843-537-9341
Fax: 843-537-8752

PLANT III
INA USA Corporation
308 Springhill Farm Road
Fort Mill, South Carolina 29715
Telephone: 803-547-7990
Fax: 803-548-8597

PLANT IV
INA USA Corporation
New Cut Road, P.O. Box 570
Spartanburg, South Carolina 29304
Telephone: 864-583-4541
Fax: 864-591-8890

PLANT V
INA USA Corporation
200 Evans Row
Cheraw, South Carolina 29520
Telephone: 843-537-9341
Fax: 843-537-8751

OTHER COUNTRIES

Australia Great Britain
Brazil Italy
Canada Korea
China Slovakia
France Spain
Germany Switzerland



ATLANTA

1870 The Exchange, Suite 100
Atlanta, Georgia 30339
Telephone: 770-951-7015
Fax: 770-951-7092

BUFFALO

336 Harris Hill Road, Suite 100
Williamsville, New York 14221
Telephone: 716-631-1533
Fax: 716-631-8741

CHARLOTTE

377 Carowinds Boulevard, Suite 120
Fort Mill, South Carolina 29708
Telephone: 803-547-7970
Fax: 803-548-6361

CHICAGO

2525 Cabot Drive, Suite 202
Lisle, Illinois 60532
Telephone: 630-955-9360
Fax: 630-955-9365

CLEVELAND

12306 Woodward Boulevard
Garfield Heights, Ohio 44125
Telephone: 216-587-4393
Fax: 216-587-2655

DALLAS

3939 Belt Line Road, Suite 365
Addison, Texas 75001
Telephone: 972-488-2544
Fax: 972-488-2802

DAYTON

261 Regency Ridge Drive
Centerville, Ohio 45459
Telephone: 937-433-6404
Fax: 937-433-6814

DETROIT

335 East Big Beaver Road, Suite 101
Troy, Michigan 48083
Telephone: 248-528-9080
Fax: 248-619-2139

FLINT

771A E. Main Street, P.O. Box 666
Flushing, Michigan 48433
Telephone: 810-659-3607
Fax: 810-659-4771

PHILADELPHIA

3399 Progress Drive
Bensalem, Pennsylvania 19020
Telephone: 215-245-3485
Fax: 215-245-7779

PHOENIX

11024 N. 28th Street, Suite 208
Phoenix, Arizona 85029
Telephone: 602-588–9304
Fax: 602-588–9318

QUAD CITIES

300 Northwest Banktower
2550 Middle Road    Bettendorf, Iowa 52722
Telephone: 319-355-0383
Fax: 319-355-1937

RICHMOND

8003 Franklin Farms Drive, Suite 229B
Richmond, Virginia 23229
Telephone: 804-527-0901
Fax: 804-527-0992

SAN FRANCISCO

3478 Buskirk Avenue, Suite 1043
Pleasant Hill, California 94523
Telephone: 925-746-7103
Fax: 925-946-9936

SEATTLE

40 Lake Bellevue, Suite 100
Bellevue, Washington 98005
Telephone: 425-646-9477
Fax: 425-646-9471

TAMPA

25327 Celmar Street
Brooksville, Florida 34601
Telephone: 352-797-0620
Fax: 352-797-0630

HARTFORD

1799 Farmington Ave., Bldg. B-2, P.O. Box 528
Unionville, Connecticut 06085
Telephone: 860-673-5236
Fax: 860-673-5270

HOUSTON

10101 Southwest Freeway, Suite 400
Houston, Texas 77074
Telephone: 713-219-1430
Fax: 713-219-1431

INDIANAPOLIS

7301 Elm Ridge Road
Indianapolis, Indiana 46236
Telephone: 317-823-7268
Fax: 317-823-7269

KANSAS CITY

4201 N.E. Lakewood Way, Suite 101
Lee’s Summit, Missouri 64064
Telephone: 816-795-9311
Fax: 816-795-9322

LOS ANGELES

767 North Main Street
Orange, California 92868
Telephone: 714-744-1022
Fax: 714-744-2640

LOUISVILLE

14419 Micawber Way
Louisville, Kentucky 40245
Telephone: 502-254-9590
Fax: 502-254-2760

MEMPHIS

1922 Exeter Road, Suite 20
Germantown, Tennessee 38138
Telephone: 901-756-0023
Fax: 901-756-0260

MILWAUKEE

N16 W23233 Stoneridge Drive, Suite 220
Waukesha, Wisconsin 53188
Telephone: 414-544-8270
Fax: 414-544-8271

MINNEAPOLIS

80 W. 78th Street, Suite 270C
Chanhassen, Minnesota 55317
Telephone: 612-934-8822
Fax: 612-934-8833

USA SALES OFFICES

Corporate Offices
INA USA CORPORATION
308 Springhill Farm Road

Fort Mill, South Carolina 29715
Telephone: 803-548-8500   Fax: 803-548-8599

INA LINEAR TECHNIK
A Division Of INA USA Corporation

247 Rittenhouse Circle
Bristol, Pennsylvania 19007

Telephone: 215-781-6900   Fax: 215-781-9830


	T OF C: 


